‘ a JINHENG HYDRAULIC
wmiERE

—

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

PSR a3k
sl/ FEMALE PLUG
9C
9D
£t = 4 & THREAD | ¥F9M2TUBEO.D. R s+ DIMENSIONS EhEE
PART NO. F D L L1 52 MPa

9C-12 M12X1.5 & 18.5 20.5 14

9C-14 M14X1.5 8 18 20 17

9C-16 M16X1.5 10 19.5 71 19 Al
9C-18 M18X1.5 12 19 20.5 22 2RI
9C-22 M22X1.5 15 19 20.5 27 L
9C-26 M26X1.5 18 22 24 32

9C-30 M30X2 22 22 24 36

9c-36 M36X2 28 235 | 285 | a1 16
9C-45 M45X2 35 27 31 50 REN
9C-52 M52)2 4 275 | 315 60 L
90-14 M14X1.5 B 18.5 20.5 17

9D-16 M16X15 8 18 20 19 63
ap-18 M18X1.5 10 18.5 21 22 BES
9D-20 M20X1.5 12 19 20.5 24 s
aD-22 M22X1.5 14 21 235 27

9D-24 M24X1.5 16 22 25 30

a0B-20 M30x2 20 26.5 30 36 Al
9D-36 M36X2 25 275 | 325 46 R
an-42 M42x2 30 285 35 50 s
9D-52 M52%2 38 325 42 60 | 3LSWHIIS

091

6C 6C-LN 6C-RN 6C-LN/RN
6D 6D-LN 6D-RN 6D-LN/RN
HifldiRiEsk
STRAIGHT BULKHEAD FITTINGS
f § i & THREAD |EFIMETUBEOQ.D. R st DIMENSIONS ENEE
PART NO. E F D1 D2 11 12 | L1 | L2 | 51 [S2,53]| 54 MPa
6C-12 M12X1.5 | M12X1.5 B & T 27 22 42 17 14 17
G6C-14 | M14X1.5| M14X1.5 g 8 8 27 | 23 | 42 19 17 | 19 31.5
6C-16 M16X1.5 | M16X1.5 10 10 10 28 25 43 22 19 22 =¥
6C-18 | M18X1.5 | M1BX1.5 12 12 10 | 29 | 25 | 44 | 24 22 | 24 L
BC-22 M22X1.5 | M22X1.5 15 15 12 3l 27 46 27 27 30
6C-26 | M26X1.5 | M26X1.5 18 18 1354325] 30 | 49 | 32 32 | 36
6C-30 M30X2 M3I0X2 22 22 165 | 345 33 51 36 6 | 41 16
6C-36 M36X2 | M3BX2 28 28 18,5 1355] 35 52 | 41 41 | 46| 2HEH|
6C-45 | M45X2 | M45X2 35 35 [185|365| 40 | 58 | 50 | 50 | 55 L
GC-52 M52XZ2 | M52X2 42 42 19 | 36| 42 | 59 | &0 B0 | 65
eD-14 M14X1.5 | M14X1.5 & & 12 29 27 44 19 I 19
BD-16 | M16X1.5| M16X1.5 8 8 13 | 29| 28 | 44 | 22 19 | 22 63
6D-12 | M18X1.5|M18X15| 10 10 |145[295| 31 | a6 | 24 | 22 | 24 Efﬂ
6D-20 | M20X1.5| M20X1.5 12 12 145 1305| 31 | 47 | 27 24 | 27
&0-22 M22X1.5 | M22X1.5 14 14 17 a2 35 50 20 27 30
6D-24 | M24X1.5 | M24X1.5 la 16 1651 31.5] 35 | 50 | 32 30 | 32 40
&D-30 M30X2 | M30x2 20 20 17.5] 33.5] 39 55 | 41 36 | 41| mzH
eD-36 M3EX2 | M3EX2 25 25 20 | 35| 44 | 59 | 46 46 | 46 s
60D-42 MAZK2 MAa2N2 30 30 215 | 37.5| 48 64 50 50 50
BD-52 M52XZ | M52X2 38 38 22 | 37 | 53 | 68 | 65 B0 | 65 |31 5@ EFS
F: NBEHEEEITHE, WIEERS BN LN, NeC-30LN;NBF EFER EERSITH, H#XSFBM RN,
MEC-30RN; MIMFEIB. EERFEESITH, ERSBM LN/RN", M16C-30LN/RN.

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no,
forexample 6C-30LN,order the adapter with cutting ring and nut,insert suffix "RN" after part no.for
example 6C-30RN,order the adapter with lock nut and cutting ring and nut,insert suffix "LN/RN" after
part no.,for example 6C-30LN/RN.

092



‘ a JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

6C9 6C9-LN/RN
6D9 6D9-LN/RN
90° EHidiREX
90° ELBOW BULKHEAD FITTINGS

£ 8 | 8 &y THREAD [@F4 TUBE0.D. R i DIMENSIONS EhEd
PART NO.| E F D1 D2 (i [l ] Lz [s1]sz.s3[sa| MPa
6C9-12 |M12XL5|MI2X1.5| & 6 |27 | 12| 14| 42| 27 | 12| 14 | 17

6C9-14 |M14x1.5|M14X15| B8 8 |2t|1a|17|a2| 20 |12] 17 | 19

6C9-16 [M1ex1.5|M16x15| 10 10 |28|15|18|43| 30 |14 19| 22 E:"ﬁgl}
6Co-18 |Misxis|misxis| 12 12 |29 | 17| 20| 44| 32 | 17| 22 | 24 L
6C9-22 [M22x1.5|M22x15| 15 15 |31 |21]23| 46| 36 [ 19| 27 | 30

6C9-26 |M26X1.5|M26x15| 18 18 |325|235/ 24| 29 | a0 | 24| 32 | 36

6C9-30 | M30X2 | M30%2 | 22 22 |345|275| 30| 51 | 44 | 27 | 36 | 41

6C9-36 | M36X2 | M36X2 | 28 28 |355|305| 34|52 | 47 | 36| 41 | 46 E%-fﬂ
6C9-45 | Masx2 | Masxz | 35 35 |36.5(345/ 39|58 | 56 | 41| 50 | 55 L
6Co-52 | M52 | msaxa | 42 42 |36 |a0]|a3|50| 63 |50 60 | 85

6D9-14 |M14X1.5|M14X15| & 6 | 20 | 16| 17|44 | 31 |12 ] 17 | 19

6D9-16 |M16X1.5|M16X15| 8 8 |29 |17|18|aa| 32 [14] 19| 22 63
6D9-18 |M18X1.5/M18X1.5| 10 10 |295|175| 20| 46 | 34 | 17 | 22 | 24 55
609-20 |M20x1.5|M20X15| 12 12 |z05|215| 21| 47| 38 |17 | 24 | 27 5
6D9-22 |M22x1.5|M22x15| 14 14 | 32|22|23|50]| 40 |19] 27 | 30

6D9-24 |M24X15|M24X15| 16 16 [315[245/ 24|50 | 43 [ 22 30 | 32

&609-30 M30X2 | M30X2 20 20 335|26.5] 30| 55 48 27 6 41 !E@J
609-36 | M36x2 | M3sx2 | 25 25 | 35| 30| 34|50 | 54 | 36| 46 | 46 .
6D9-42 | Ma2x2 | ma2xz | 30 30 |375|355| 20|64 | 62 | 41| 50 [ 50

609-52 | M52X2 | MS2X2 38 38 AT |41 4368 )| 72 |50 )] 60 | 65 | 315MFRS

AW GITE, NNENS BN LN NeCo-30LN; OB H FER FERGITH, #LS /M RN,

WECY-I0RN; MW HUE . FER FEEGITH, FHAESEN"LN/RN", M6C9-30LN/RN.

Note:in case if you are interested to order the adapter with lock nut,please insert suffix "LN™ after our part no.
for example 6C9-30LN, order the adapter with cutting ring and nut,insert suffix "RN" after part no.for
example 6C9-30RN,order the adapter with lock nut and eutting ring and nut,insert suffix "LN/RN" after
part no.,for example 6C-30LN/RN.

093

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

-

8C

AL g
METRIC LOCK NUT

f£s R & THREAD R s+ DIMENSIONS
PART NO. E A S1
8C-10 M10x1 6 14
8C-12 M12x1.5 7.5 17
8C-14 M14% 1.5 7.5 19
8C-16 M16x 1.5 7.5 22
8C-18 M18x 1.5 7.5 24
8C-20 M20%1.5 8 27
8C-22 M22x 1.5 8 27
8C-24 M24x1.5 8 30
8C-26 M26X 1.5 8 32
8C-27D M27 %15 10 32
8C-27 M27 %2 10 32
8C-30 M30x2 10 36
8C-30D M30x 1.5 10 36
8C-33 M33x2 10 41
8C-36 M36x2 10 41
8C-39 M39x2 10 46
8C-42 Md2 %2 10 50
8C-45 M45 %2 10 55
8C-52 M52x2 10 60
8C-64 MG4 X 2 12.5 75

094




| ‘ a INAENS WVORAULIC j\syi@49£ 25123k METRIC THREAD BITE TYPE TUBE ADAPTORS

M

AE UMY
1CN NPT MALE
1DN
t 5 & £ THREAD iz R =t DIMENSIONS | EhSE

PART NO. E F TUBE 0.D. 11 1.1 51| 52 MPa
1CN-08-D2LL] M8X1 Z1/8"X27 4 119 | 239 12 10 10
1CN-10-02LL| MI1OX1 | Z1/8"X27 6 124|239 12 | 12 | BERY
1CN-12-02LL) M12X1 Z1/8"¥2T 8 144 | 259 12 14 LL
1CN-12-02 |[M12X1.5] Z1/8"X27 6 134 284 12 | 14
1CN-12-04 |M12X1.5| Z1/4"X18 6 17.2 | 322 | 17 14
1CN-14-04 |M14X1.5| Z1/4"X18 8 17.2 | 322 14 | 17
1CN-16-06 |M16X1.5| Z3/8"X18 10 159 | 53.0| 19 15 25
1CN-18-04 |M18X1.5] Z1/4"X18 12 192 342 19 | 22 BRI
1CN-18-06 [M18X1.5| Z3/8"X18 12 199 | 349| 19 | 22 L
1CN-18-08 |M18X1.5| Z1/2"X14 12 214 | 364 | 22 | 22
1CN-22-08 |M22X1.5] Z1/2"X14 15 224 374 24 27
1CN-22-20 |M22X1.5| Z1.1/4"X11.5 15 298| 3714 | 46 | 27
1CN-26-08 |M26X1.5| z1/2"X14 158 229 | 394 | 27 32
1CN-26-12 |M26X1.5| Z3/4"X14 18 224|389 30 | 32
1CN-30-08 | M30X2 Z1/2"X14 22 244 )| 405 32 36
1CN-30-12 | M30X2 | Z3/4"X14 22 244 | 409| 32 | 36 16
1CN-36-16 | M36X2 Z1"K11.5 28 298| 463 | 41 | 41 B EH
1CN-36-20 | M36X2 | 21.1/4"X11.5 28 313|463 | 46 | 41 L
1CN-45-20 | M45X2 | 21.1/4"X11.5 35 30.3( 51.8| 46 50
1CN-52-20 | M52X2 | Z1.1/4"X11.5 42 318|558 55 | 60
1CN-52-24 | M52X2 | Z1.1/2"X1L.5 42 328|558 55 | 60
IDN-14-04 |MI4X1.5] Z1/4'X18 6 227|312 17 | 17
1DN-16-04 |M16X1.5| Z1/4"X18 8 222|372 17 19
1DN-18-04 |M18X1.5| Z1/4"X18 10 217|382 19 | 22
1DN-18-06 |M18X1.5| Z3/8"X18 10 224|389 19 | 22 40
1DN-20-04 |M20X1.5| Z1/4"X18 12 237|402 22 | 24 i 5 5|
10M-20-06 [M20X1.5| Z3/8"X18 12 244|409 | 22 24 5
1DN-20-08 |M20X1.5| Z1/2"X14 12 259 | 42.4| 22 | 24
1DN-22-08 |M22X1.5| Z1/2"X14 14 274|454 24 27
1DN-24-08 |M24X1.5] Z1/2"X14 16 269|454 27 | 30
1DN-30-12 | M30X2 £3/4"¥14 20 284|499 32 36
1DN-36-12 | M36X2 | Z3/4"X14 25 30,9 | 34.0| 41 | 46 25
1DN-36-16 | M36X2 | Z1"X11.5 25 3531593| 41 | 46 | m=Ey
1DN-42-16 | M42X2 Z1"%11.5 25 358|593 46 | 46 g
1DN-42-20 | M42X2 | Z1.1/4"X11.5 30 36.3 | 62.8| 46 | 50
1DN-52-24 | M52X2 |Z1.1/2"X11.5 38 39.8|708| 55 | 60

A MEFEERFERSEETHE, MiREAS/EI RN, $11DN-30-12RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring

and nut it is necessary to insert suffix "RN"after our part no.,for example 1DN-30-12RN.

095

90° EEEIMRN
90° ELBOW NPT MALE

1CN9 1CN9-RN
1DN9 1DN9-RN

t 5 ® o THREAD ®FIIE R < DIMENSIONS EHEH
PART MO, E F TUBEG.D.| 11 L1 L2 51 52 MPa
1CN-08-02LL| MexX1 | zZi/s™xa7 4 11 21 17 | 10 10 10
1CN-10-02LL | M10X1 | Zi/8™x27 6 95 | 21 71 1o 12 | HEEF
1CN-12-02LL | M12X1 | Z1/8x27 8 115 | 23 20 | 12 14 LL
1CN9-12-02 [M12X1.5| Z1/8™%27 6 13 2% | 21| 1 14
1CN9-12-04 |M12X1.5| Z1/4"x18 6 155 | 305 | 255 | 14 14
1CN9-14-04 |M14X1.5| Zi/4xa18 8 155 | 305 | 255 | 14 17
1CN9-16-06 |M16X1.5| Z3/8"X18 10 175 | 325 | 295 | 16 19 25
1CN9-18-04 |M18%1.5| Z1/4"x18 12 19 | 34 | 28 | 10 | 22 | BRF
1CN9-18-06 |M18X1.5| Z3/8"X18 12 19 | 34 | 31 | 19 | 22 L
1CN9-18-08 |M18X1.5| Z1/2"X14 12 21 36 | 37| 2 22
ICNS-22-06 | M22X1.5 Z3/B"X18 15 22 37 325 22 27
1CN9-22-08 [M22X1.5| Z1/2"X14 15 22 37 | 367 | 2 27
1CNS-26-08 |M26X1.5] Z21/2"X14 18 255 42 40 27 32
1CN9-26-12 |M26X1.5| Z3/4"X14 18 255 | 42 | a4 | 27 32
1CN9-30-12 | M30X2 | Z3/4"X14 22 293 | 458 | 45 | 30 36 16
1CN9-30-16 | M30X2 | Z1"X11.5 22 32 50 | 23 % | BEw
1CN9-36-16 | M36X2 | Z1"X115 28 333 | 498 | 515 | 36 41 L
1CN9-45-20 | Masx2 | 21.1/4"x11.5] 35 392 | 607 | 63 | 48 50
1CN9-52-24 | M52X2 | Z1.1/2"X11.5 42 448 | 678 | 65 | 58 60
1DN9-14-04 |M14X1.5] Z1/4"X18 6 75 | 25| 55 | 14 | 17
10N9-16-04 |M16X1.5| 21/4"X18 8 185 | 337 | 265 | 16 19
10N9-18-06 |M18X1.5| Z3/8"X18 10 195 | 36 | 31 19 22 40
1DN9-20-04 |M20X1.5] Z1/4"X18 12 19.5 6 28 19 24 mEY
1DN9-20-06 |M20X1.5| Z3/8"X18 12 195 | 38 | 31 | 19 | 24 5
1IDMNS-22-06 |M22X1.5 23/8"X18 14 23 41 32.5 22 27
10N9-22.08 |M22X1.5| Z1/2"X14 14 23 a1 | 67| 22 27
1DNS-24-06 | M24X1.5 Z3/a"x1e 16 24 425 33.5 24 30
1DN9-24-08 |M24X1.5| Z1/2"X14 16 24 | 425 | 375 | 24 30
1DMN9-30-08 | M30X2 71/2"%14 20 28 49.8 41 a0 a6
1DN9-30-12 | M30x2 | Z3/4"x14 20 28 | 498 | 45 | 30 36
1DNS-36-12 | M3GX2 F3/a"x14 25 328 568 49 36 46
1DN9-36-16 | M36X2 | Z1"X1L5 25 328 | 568 | 515 | 36 46 25
1DNG-42-16 | M4a2x2 | Z1"X115 10 362 | 627 | 545 | 41 s | MRS
1DN9-42-20 | M42x%2 |Z1.1/4"X115 30 362 | 627 | 545 | 41 50 5
1DN9-52-20 | M52X2 | 71.1/4"X11.5 a8 458 | 768 | 65 | 55 60
1DN9-52-24 | M52X2 | Z1.1/2"X11.5 38 458 | 768 | 65 | 55 60
F: IRFEERFESSEEITE, AT SEM RN", #11CNI-30-12RN,
Note! In case if you are interested to order the adapter in complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no. for example 1CN3-30-12RN.

096



| ‘ a L'g"t'ﬂ“,i”"“ﬂ": NS E-EEE: METRIC THREAD BITE TYPE TUBE ADAPTORS ASIBSEEIEs METRIC THREAD BITE TYPE TUBEADAPTORS  MHENG HYDRAULIC ‘ a |

|
{ EEEIMNES (8 :
BSPT MALE L 90° THEEIMRW
Y 90° ELBOW BSPT MALE
el iy 1CT9-SP 1CT9-SP/RN
/ 1DT9-SP 1DT9-SP/RN
& @ & THREAD |[EFJMZTUBEO.D.] R T DIMENSIONS | EHSH&
PART NO. | E F D L | L1 [ S1] 52| MPa g W B THREAD | E¥OME R DIMENSIONS __ TEA %k
1CT-08-02LL | M8x1 | R1/8"x28 4 12 27 10 10 PART NO. E F" TUBEO.D.| |1 BB B MPa
1CT-10-02LL | M10x1 | R1/8"x28 6 105 | 22 12 12 10 1CT9-08-02LL| MaxX1 R1/8"X28 4 11 21 17 | 10 10 10
- HRES 1€T9-10-02LL| Miox1 | R1/8"X28 6 95 | 21 | 17 | 10 | 12 | HEEF
A Fa A B LR R S LR R LL 1€T9-12-02LL| M12x1 | R1/8"X28 8 ns|2f2]12f14] 0
1CT-12-04LL } M12x1 | R1/47x19 8 16.5 | 28 | 14 | 14 1CT9-12-025P| M12X1.5 | R1/8"X28 6 13 | 28 | 21|11 | 14
1CT-12-025P IM12x1.5| R1/8"x28 6 13 | 28 | 12 14 1CT9-12-045P| M12X1.5 | R1/4"X19 6 15.5 [30.5(255| 14 | 14
1CT-12-045P |M12x1.5| R1/4"x19 6 16.5 | 31.5| 14 | 14 1CT9-14-045P| M14X1,5 | R1/4"X19 8 15.5 | 30.5|25.5| 14 | 17
1CT-14-04SP [M14x1.5| R1/4"x19 8 165 | 31.5 | 14 | 17 1CT9-16-045P| M16X1.5 | R1/4"X19 10 17.5 |32.5|26.5| 16 | 19
1CT-16-04SP [M16x1.5 R1/4"x19 10 175 | 325 | 17 | 19 1CT9-16-065P| M16X1.5 | R3/8"X19 10 17.5 |32.5(28.5| 16 | 19 s
1CT-16-06SP [M16x1.5| R3/8"x19 10 186 | 336 | 19 | 19 25 1CT9-16-085P| M16X1.5 | R1/2"X14 10 21 | 36 [ 36 | 22 | 19 | L2
1CT-16-085P |M16x1.5| R1/2"x14 10 218 [36.8| 22 | 19 | BEH 1CT9-18-045P| M18X1.5 | R1/4°X19 12 2L | 34 | 28 19 {22
1CT-18-04SP |M18x1.5| R1/4"x19 12 185|335 | 19 | 22 e LRJCELS L RSE R e LS LS L
. 1CT9-18-085P| M18X1.5 | R1/2"X14 12 21 | 36 | 36 | 22 | 22
LSRRGSR (M LBRL S B/ L8 A i S S 1CT9-22-06SP| M22X1.5 | R3/a"X19 | 15 22 | 37 |3255] 22 | 27
[ 1CT-22-085P |M22x1.5| R1/2"x14 13 22813781 24 1 27 1CT9-22-125P| M22X1.5 | R3/4"X14 15 25.5 | 40.5[43.5] 27 [ 27
1CT-26-08SP |M26x1.5 R1/2"x14 18 23.3 1398 | 27 | 32 1CT9-26-085P| M26X1.5 | R1/2"X14 18 255 | 42 |39.5| 27 | 32
1CT-26-125P [M26x1.5| R3/4"x14 18 22 |385]| 30 | 32 1CT9-26-125P| M26X1.5 | R3/4"X14 18 255 | 42 |435]| 27 | 32
1CT-30-125P | M30x2 | R3/4"x14 22 24 |405| 32 | 36 1CT9-30-125P| M30X2 | R3/4"X14 22 29.5 |45.8|45.3| 30 | 38 16
1CT-36-165P | M36x2 R1"x11 28 296 | 46.1 38 41 16 1CT9-30-165P| M30X2 R1"X11 22 315 | 48 50 | 33 36 255
1CT-36-205P | M36x2 |R1.1/4"x11 28 29.3 | 45.8 | 46 41 BER 1CT9-36-165P| M36X2 R1"X11 28 333 |498) 52 | 36 | 4l L
1CT-45-205P | M45x2 |R1.1/4"x11 35 283|498 | 46 | 50 LCED 36-20SF L MSbR2 IR s 36.2 15270 ST 181 | 41
1CT-52-205P | M52x2 |R1.1/4"x11 e 398 (528 | 55 | 60 ICT9-45-20SP| M45X2 |RL1/4"X11| 35 39.2 |60.7| 61 | 48 | 50
| 1CT-52-245P | M52x2 |R1.1/2"x11 42 298 | 528 | 55 | 60 1C79-52-245P| M52x2 |RL.1/2"X11| 42 44.8 [67.8| 68 | 55 | 60
= e - 1DTS-14-045P| M14X1,5 | R1/4"X19 6 17.5 |32,5|25.5| 14 | 1T
1DT-14-04SP [M14x1.5 R1/4"x19 6 13 [ 365 17 | 17 1DT9-16-045P| M16X1.5 | R1/4"X19 8 18.7 | 33.7|26.5] 16 | 19
1D7-16-045P |M16x1.5| R1/4"x19 8 215 1365 | 17 | 19 1DT9-18-065P| M18X1.5 | R3/8"19 | 10 19.5 | 36 [30.5] 19 | 22
1DT-18-04SP [M18x1.5| R1/4"x19 10 21 [37.5| 19 | 22 1DT9-20-045P| M20X1.5 | R1/4"X19 12 195| 36 | 28 | 19 | 24 | 40
1DT-20-045P |M20x1,5| R1/4"x19 12 23 |395| 22 | 24 40 1DT9-20-06SP| M20X1.5 | R3/8"X19 12 19.5 | 36 |30.5| 19 | 24 | MREF
1DT-20-06SP [M20x1.5| R3/8"x19 12 23.1 | 396 | 22 | 24 | WEH 1DT9-22-065P| M22X1.5 | R3/8"X19 14 23 | 41 |3255]| 22 | 27 5
1DT-22-065P |M22x1.5| R3/8"x19 14 246 | 426 | 24 | 27 5 1DT9-22-085P| M22X1.5 | R1/2"X14 14 23 | 41 | 36 | 22 | 27
1DT-22-085P |[M22x1.5| R1/2"x14 14 278 | 45.8 | 24 27 1DT9-24-065P| M24X1.5 | R3/8"X19 16 24 142.5]133.5) 24 30
1DT-24-065P |M24x1.5| R3/8"x19 16 24.1 | 426 | 27 | 30 1079-24-085P] M24X1.5 | R1/2"X14 16 24 [425]37.3] 24 | 30
1DT-24-085P |M24x1.5| R1/2"x14 16 27.3 | 45.8 | 27 | 30 D2 IR R L e R L E R AR R R
7 1DT9-30-125P| M30%2 | R3/4"X14 20 28.3 |49.8|45.3| 30 | 36
1DT-30-125P | M30x2 | R3/4"x14 20 28 [495] 32 | 36 1079-36-125P| M3sx2 | R3/4"X14 25 33.3 |57.3| 52 | 36 | 46
1D7-36-125P| M36x2 | R3/4°x14 25 29.5 1 53.5 ] 38 | 46 10T9-36-165P| M36X2 | R1"X11 25 | 328 |s68|525| 36 | 46 | 25
1DT-36-165P | M36x2 | R1"x1l 25 34.1 | 58.1| 38 | 46 25 1079-42-165P| M42x2 | R1"X11 30 36.2 | 62.7|56.5] 41 | 50 | WEZ
10T-42-165P | M42x2 | R1"x11 30 356 | 62.1 | 46 | 50 | W®EF 1DT9-42-205P| M42x2 [RL1/a"x11| 30 36.2 |62.7| 57 | 41 | 50 5
1DT-42-20SP | M42x2 |R1.1/4"x11 30 343|608 | 46 | 50 S 1079-52-205P| Ms2x2 |Ri.1/4"x11| 38 458 | 76.8| 67 | 55 | 60
1DT-52-205P | M52x2 [R1.1/4"x11 38 36.8 | 67.8 | 55 | 60 1D79-52-245P| M52x2 [RL1/2"X11]| 38 45.8 [76.8] 68 | 55 | 60
1DT-52-24SP| M52x2 [R1.1/2"x11 38 36.8 | 67.8 | 55 | 60 i OREEERFESSEETH, MRS N RN, M1CT9-30-125P/RN,
Z: MIEFEERFERSEEITE, WikZASEM RN, M1DT-22-085P/RN. Note : In case if you are interested to order the adapter in complete set with cutting ring
Note: In caseif you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN"after our part no. for example 1CT9-30-12SP/RN.
and nut ,itis necessary to insert suffix "RN"after our part no.,for example 1DT-22- GBSP{HH

097 098



‘ a JINHENG HYORAULIC ) myig49 = 25423 METRIC THREAD BITE TYPE TUBE ADAPTORS ASIBSEEIEs METRIC THREAD BITE TYPE TUBEADAPTORS  MHENG HYDRAULIC ‘ a |

w e EI_T_% ’ ABIFMROHELRIS0 6149
4 v i { METRIC MALE THREAD STUD
— ' —= W ENDS ISO 6149 90° WABIIMBLFTIBRAEISO 6149
90° ELBOW METRIC MALE THREAD
1CH 1CH-RN 1CH9-0G 1CH9-0G/RN ADJUSTABLE STUD ENDS ISO 6149
1DH 1DH-RN 1DHS-0G 1DH9-0G/RN
" = ® &Y THREAD |®Fir@pl] O it @ R < DIMENSIONS ENSE e @ ¥ THREAD |#Fs##01| Om M@ R s+ DIMENSIONS EHFR
PART NO. E F TuBeo.o0.|l o RING B 11 L1 51 o7 MPa PART NO. E F TUBEDQ.D.| O RING 11 LY | L2 | 51 | 52| 53 MPa
1CH-12-10 |M12%1.5] M10%1 6 oos.1x16| 85 | 9.5 23 14 14 1CH9-12-100G | M12X1.5 | M10X1 6 008.1x16| 13 | 28 |265| 11 | 14 | 14
1CH-14  |M1ax1s|misxis| &  |oii3xaa| 11 | 10 | 25 | 19 | 17 e BT K o g oy g gi ORI 315
1CH-16-14 |M16X1.5|M14X1.5 10 011.3X2.4| 11 13 | 26 | 19 19 icHe181606 | MisxLs | Mixis 12 o3noal 19134 | 36|19 22| 22 Eiﬁﬁ!
ASEAR SR MDA MDA A LS e e LR oS 1CH9-22-180G | M22X1.5 | M18x15| 15 | 015.3x24| 22 | 37 |395] 22 | 27 | 24
1CH-18-16 |M18X1.5|M16X1.5 12 013.3X2.4) 11.5 | 12 21 22 22 Eﬁéﬂ 1CHS-26-220G | M26X1.5 | M22X1.5 18 019.3xX2.4| 255| 42 |435]| 27 | 32 | 27
1CH-22-18 |M22X1.5|M18X1.5 15 015.3¥2.4| 125 | 13.5 29 24 2T L 1CHS-30-2TOG | M30XZ | M2TX2 22 023.5%3.0]| 293|458 S0 | 30 | 26 | 32
1CH-22-20 |M22x1.5|M20X1.5 15 017.3X2.4| 12 15 | 305 | 27 27 1CHS-36-330G | M36X2 | M33x2 28 029.5X3.0( 333|498 54 | 36 | 41 | 41 16
1CH-22  |M22X1.5|M22%1.5 15 019.3x24| 13 15 31 27 i 1CH9-45420G | M45X2 | M42X2 35 0385X3.0| 39 [605| 61 | 41 | 50 | 50 | BRI

1CH-26-22 |M26X1.5|mM22x1.5| 18 |o193x24| 13 |145| 31 | 27 | 32 1CH3-52-480G | M52X2 | M48X2 42 044.5X3.0] 40 | €3 |64.5] 50 | 60 | 55

1DHS-14-120G | M14X1.5 | M12X1.5 B 009.3X24 1751325 32 | 14 | 17 | 17

R SR EDR Dl o LS R PR S RS R R S e IDHO-16-140G | MI6XLS | MI4XL5| 8 |O1L3x24|187(337( 34 | 16 | 19 | 19 |
1CH-30-27 | M30X2 | M27X2 22  |023.5X3.0| 16 [165) 33 | 32 | 36 1DH9-18-160G | M18XL1.5 | M16X1.5| 10 013.3x24(19.5| 36 | 36 | 19 [ 22 | 22 | 27
1CH-30 M30X2 | M30X2 22 026.5X3.0] 16 17.5 33 36 36 16 1DH9-20-180G | M20X1.5 | M18X1.5 12 0153x2.41195]| 36 | 37 | 19 | 24 | 24 "'5
1CH-36-27 | M36X2 | M27X2 28 0235%30| 16 | 17.5 [ 34 | 41 | 41 | . 1DH9-22-200G | M22X1.5 | M20X1.5 14 017.3x24| 23 | 41 | 40 | 22 | 27 | 27
1CH-36-33 | M36X2 | M33X2 28 029,5%3.0] 16 17.5 34 41 41 1DHS-24-220G | M24X1.5 | M22X1.5 16 Q19324 24 | 42 |37.5| 24 | 30 | 27
1CH-45-42 | Ma5x2 | M42x2 35 |o0385x30| 16 175 37 | 50 | 50 E igﬁﬁ“ﬂﬁ :gg:g mg;g gg g%g-gg-g gg-; ;g-g gﬂ :g ig ii a5
- Ak [ e L ES LB I B B ) B L HE L 1DHG-420G | M42x2 | Ma2x2 30 | 0385x30|362|627|57.2| 41 | 50 [ 50 | EEH
LOR=14 _[MIALA|MIGELS] B JOLLIXEA] 2L ] sa | +8.) 23 ] _Z2- 1DHO-52-480G | Ms2x2 | Masx2 | 38 |oa4asx3o| 41 | 72 |e45| 50 | 60 | 55 &
IDH-14-12 [M14X1.5|1M12X1.5 6 009.3xX24| 11 13 28 17 17 &5 E: REERREERSBEITE, NIEEAESEM RN, 401DH9-20-180G/RN,

1DH-16-14 |M16X1.5|M14X1.5 8 011.3x2.4] 11 15 30 19 19 | sz Note: In case if you are interested to order the adapter in complete set with cutting ring

1DH-18-16 |M18X1.5|M16X1.5 10 013.3x2.4)| 11.5| 15 31 22 22 S and nut ,itis necessary to insert suffix "RN"after our part no.,for example 1DH9-20-180GRN.

1DH-20-18 |M20X1.5{M18X1.5 12 015.3X2.4) 12.5 17 33 24 24

1DH-24-22 |M24X1.5|M22X1.5 16 019.2x2.4| 13 18.5 | 37 27 30

1DH-30 M30X2 | M30X2 20 026.5X3.0| 16 20.5 42 36 36
1DH-30-27 | M30X2 | M2TX2 20 023.5X3.0] 16 | 205 | 42 32 36 ﬁg@]
1DH-36-27 | M36X2 | M2TX2 25 023.5X3.0] 18 23 47 41 46 5
1DH-36-33 | M36X2 | M33X2 25 029.5%3.0| 16 23 47 41 46

10H-42 M42x2 | M42X2 30 038.5%X3.0] 16 | 23.5 20 50 50

A NREFERFEESERITE, W#EASEM RN", 11DH-20-18RN,
Note: Incaseif you are interested to order the adapter in complete set with cutting ring
and nut,itis necessary to insert suffix "RN"after our part no.,for example 1DH-20-18RN.

099 100



‘ a JINHENG HYDRAULIC
wmiERE

45° LI Rarel AR iFiEISO 6149
45° ELBOW METRIC MALE ADJUSTABLE

AR -EE1EE METRIC THREAD BITE TYPE TUBE ADAPTORS

1CH4-0G 1CH4-0G/RN STUD END 1SO 6149

1DH4-0G 1DH4-0G/RN

e # ® THREAD |EF5M2D1| O M R T DIMENSIONS L
PART NO. E F TUBEO.D.| O RING | 11 | L1 | L2 | S1 | S2 ] 53 MPa

008.1X1.6] 10 | 25 |255| 11 | 14 | 14
009.3x24| 11 | 26 | 20 | 14 | 17 | 17
011.3X24|123|273]305| 16 | 19 | 19
013324 13 | 28 | 34 | 19 | 22 | 22
0153x24| 15 | 30 | 38 | 22 | 27 | 24
019.3x2.4|16.5]| 33 |405]| 27 | 32 | 27

1CH4-12-100G | M12X1.5] M10X1 6
1CH4-14-120G [ M14 X 1.5|M12x 1.5 8
1CH4-16-140G | M16X1.5|M14 1.5 10
1CH4-18-160G | M18X 1.5|M161.5 12
1CH4-22-180G | M22X 1.5|M18x 1.5 15

1CHA-26-220G | M26 X 1.5|M22X% 1.5 18

315
BR5
L

1CH4-30-2T0G | M30x2 | M2Tx2 22
1CH4-36-330G | M36x2 | M33x2 28
1CHA-4R-420G | M45x2 | M42x2 35

0235x30[19.7|362| 48 | 30 | 36 | 32 16
0295%3.0] 215 38 |495] 36 | 41 | 41 B&7
038.5x3.0]255] 47 | 55 | 48 | 50 | 50 L

O003%24| 13 | 28 | 20 | 14 | 17 | 17
011.3x24| 135|283 |305| 16 | 13 | 19
0133%24|135| 30 | 34 | 19| 22 | 22 a?ﬂ
0153x2.4| 135 30 a7 19 24 24 S
0193%x24|162 347 a0 | 24 | 30 | 27
0235x3.0|187|402| 48 | 30 | 36 | 32

1DH4-14-120G | M14X1.5|M12% 1.5 B
1DH4-16-140G | M16X 1.5|M14 % 1.5 8
1DH4-18-160G [ M18X 1.5|M16X 1.5 10
1DH4-20-180G | M20X1.5|M18X 15 12
1DH4-24-220G | M24X 1.5|M22 X 1.5 16
1DH4-30-270G | M30X2 | M27x2 20

[ 1DH4-36-330G | M36%2 | M33x2 25 029.5%3.0] 21 | 45 [495] 36 | 46 | 41 [315M&FIS

1DH4-42-420G | M42X2 | MA2X2 30 038.5%3.0/24.3|50.8] 54 | 41 | 50 | 50 | 25@ &35S

3. IMEFERFESGRBEITE, WiBEASEIN RN, M1CH4-30-2T0G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no.,forexample 1CH4-30-27TOG/RN.

o 2T< o £
| 9
- | ™ ™ " i "
KRR el F 1ISO06149FH =
ACCH-0G ACCH-OG/RN METRIC MALE ADJUSTABLE
ADDH-0G ADDH-OG/RN STUD END ISO 6149 RUN TEE
] @ &Y THREAD |EF/MZTUBEOD.| O # M R & DIMENSIONS |EhB4%
PART NO. E, F G D1 D2 ORING | A| B | C |51]|52]| MPa
ACCH-12-12-100G | M12X1.5] M10X1 G G 8.1X1.6 20 20 [ 265 11 14
ACCH-14-14-120G|M14X1.5|M12X1.5| 8 8 9.3X2.4 |225|225|325] 14 | 17| 315
ACCH-16-16-140G |M16X1.5| M14X1.5| 10 10 11.3%24 |245|245| 34 | 16 | 19 | BRF
ACCH-18-18-160G |M18X1.5| M16X1.5| 12 12 |133x24 | 26 | 26 | 36 | 19 | 22 L
ACCH-26-26-2200G | M26X1.5] M22X1.5 18 18 19.3%24 | 33 33 | 435 27 27
ACCH-30-30-2706G| M30X2 | MaTx2 | 22 22 | 23563 | 31| 37|50 |30 | 32| 16
ACCH-36-36-330G| M36X2 | M33x2 | 28 28 29.2x3 |40.7)40.7] 54 | 36 | 41 | BRFIL
ADDH-14-14-120G|M14X1.5|M12X1.5| 6 6 9.3%X2.4 |25.8|258| 32 | 14 | 17
ADDH-16-16-140G|M16X1.5| M14X1.5 a8 8 11.3%2.4 | 27 27 | 34 | 16 19 63
ADDH-18-18-160G|M18X1.5| M16X1.5| 10 10 | 13.3%24 |285|285| 36 | 19 | 22 | ERP
ADDH-20-20-180G| M20X1.5| M1BX1.5 12 12 153X24 |2B5|285] 37 | 19 24 S
ADDH-24-24-2206G|M24X1.5| M22x1.5| 16 16 | 19.3%2.4 [322322(412] 24 | 27
ADDH-30-30-270G| M30X2 | M2TX2 20 20 235X3 |415)|41.5| 50 | 30 32 40
ADDH-36-36-330G| M36x2 | M33x2 | 25 25 | 29.2X3 |465|46.5] 54 | 36 | 41 | EEH
ADDH-42-42-4200G| M42X2 | M42X2 30 30 38.5X3 49514951 57.2] 41 50 5

. IWMFEFFERFERSEREITHE, WIJEASEM RN, MMACCH-30-30-270G/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,
itis necessary to insert suffix "RN"after our part no.,for example ACCH-30-30-27T0G/RN.

101

102



I,

JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

s e 3 :J
i | xR g
LR . LI IR ET AT R
ISO 614953 =il
METRIC MALE ADJUSTABLE STUD
ACHC-0G ACHC-OG/RN END ISO 6149 BRANCH TEE
ADHD-0G ADHD-OG/RN
£ 2 i THREAD |EF9MEDLD2| o @ R s DIMENSIONS |[EHZa

PART NO. E,G F TUBEQ.D. 0 RING [I1i2 |L1,L2] L3 | S1 [52,54| 53| MPa
ACHC-12-10-120G (MI2x1.5( M10Xx1 & O08.1x1.6| 13 | 28 265 11| 14 | 14
ACHC-14-12-140G [M14x15/M12x15 8 009.3x2:41155]305( 32| 14| 17 | 17
ACHC-16-14-160G |M16X1.5|M14% 15 10 011.3x2.4|17.5|325| 34 | 16| 19 | 19 H%g']
ACHC-18-16-180G |[M18%1.5|M16%1.5 12 0133x24|19 | 34 (36|19 | 22 | 22 L
ACHC-22-1B-220G |M22X1.5|M18* 1.5 15 O15.3X2.4| 22 | 37 (395 22 | 27 | 24
ACHC-26-22-260G6 |M26X1.5|M22X1.5 18 019.3%2.4125.5| 42 (435 27 | 32 | 27
ACHC-30-27-300G | M30X2 | M27X2 22 023.5%3.0129.3|458| 50 | 30| 36 | 32 16
ACHC-36-33-360G | M36X2 | M33x2 28 029.5%3.0|33.3|49.8| 54 [ 36 | 41 | 41 | BRFIL
ADHD-14-12-140G |M14x1.5|M12x1.5 B 009.3x24117.5|325| 32| 14| 17 | 17
ADHD-16-14-160G ([M16x15(M14x15 a8 011.3xX24|18.7|33.7| 34| 16| 19 | 19 63
ADHD-18-16-180G |M18x1.5|M16X 1.5 10 013.3x2.4(195]| 36 (36 (19| 22 | 22| RS
ADHD-20-18-200G |M20X 1.5|M18X 1.5 12 0153%2.4|195| 36 [ 37| 19| 24 | 24 5
ADHD-24-22-240G |M24x1.5|M22% 1.5 16 019.3xX24| 24 | 42 (375 24 | 30 | 27
ADHD-30-27-300G | M30X2 | M27X2 20 023.5%3.0|283|49.8| 50 | 30| 36 | 32 40
ADHD-36-33-360G | M36x2 | M33x2 25 029.5%3.0|328|56.8| 54 |36 | 46 | 41 | ERF
ADHD-42-42-420G | M42x2 | M42X2 30 038.5%3.0136.2|62.7|57.2| 41 | 50 | 50 5
Z: UIRHFERFESSREITE, NiSEASEM RN, MIACHC-30-27-3006G/RN.
Note: Incase if you are interested to order the adapter in complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no.,for example ACHC-30-27-300G/RN.

103

" HERNORBEHEIR
b BSPP THREAD STUD ENDS
1CG WITH O-RING SEALING

2DG

f = i of THREAD BFIME F. = DIMENSIONS EHFR
PART NO. E F TUBEOD. | B | 11 [L1[S1[S2| MPa
10G-12-02 | M12X1.5| G1/8"X28 6 95 | 85 | 23 | 14 | 14

10G-12-04 | M12X15 | Gl1/4"X19 2] 10 10 251 19 14

10G-14-04 | M14X15 | G1/4"X19 g 10 10 | 25 | 18 | 17

10G-14-08 | M14X15 | G1/2"X14 8 14 13 | 275| 27 | 34

10G-16-04 | M16X15 | GL/4"X19 10 10 11 | 26 [ 18| 19

10G-16-06 | M1GXL5 | G3/B"X19 10 115 | 125 | 27| 22 19

10G-16-08 | M16X15 | G1/2"X14 10 14 | 14 | 29[ 27| 19 ﬁ% % J
10G-18-06 | M18X15 | G3/8"X19 12 115 (125 | 27| 22 | 22 L
10G-18-08 | M18X15| G1/2"X14 12 14 13 | 28| 27| 2

10G-22-06 | M22X15 | G3/8"X19 15 115 | 135 | 29| 24 27

10G-22-08 | M22X15 | G1/2"X14 15 14 14 | 29| 21| 27

10G-22-12 | M22X15 | G3/4"X14 15 155 | 20 | 30 | 32 | 32

10G-26-08 | M26X15 | G1/2"X14 18 14 | 145 | 31| 271 | 32

10G-26-12 M26X15 | G3/4"X14 18 155 | 145 | 32 32 |32

10G-30-12 M30X2 | G3/4"X14 22 155 | 165 | 33 | 32 | 36

10G-30-16 M30X2 G1"X11 22 12 175 | 35| 41 | 38

10G-36-16 | M36X2 G1"X11 28 18 | 175 34| a1 | 41 16
10G-45-20 | M45%2 | G1.1/4"X11 35 20 | 175 | 39 | 50 | 50 BE&EY
10G-52-20 M52X2 | G1.1/4"X11 432 20 19 42 | 5§ 60 L
10G-52-24 | M52%2 | G1.1/2"X11 42 215 | 19 | 42| 55| 60

10G-52-32 | M52x2 G2"%11 42 245 | 25 | 44 | 70 | €0
1DG-14-04 | M14X1.5 Ei?q-' 19 6 10 13 28 19 17
1DG-16-04 | M16X15 | G1/4"X19 3 10 15 | 31 [ 19| 19
1DG-18-04 | M18XL5| G1/4"X19 10 10 |145| 31 | 18 | 22
10G-18-06 | M18X15| G3/8"X19 10 115 | 15 | 31 | 2| 22 63
1DG-20-06 | M20X15 | G3/8"X19 12 115 17 32| 2 24 EES
1DG-2008 | M20X1.5 | G1/2"X14 12 14 175 | 34 27 24 5
1DG-22-06 | M22X15 | G3/8"X19 14 115 | 19 | 37 | 24 | 27
1DG-22-08 | M22X1.5| G1/2"X14 14 14 19 3t | 21 | 27
1DG-24-04 | M24X15 | G1/4"%19 16 11 18 | 3r| 21| 2

1DG-24-08 | M24X15| G1/2"X14 16 14 |185| 37| 27| 30
10G-30-12 M20X2 G3/4"¥14 20 155 | 205 | 42 | 32 36
10G-36-12 | M36%2 | G3/4"X14 25 155 | 23 | 471 | 41 | 46 40
1IDG-36-16 | M36X2 | Gl1'Xi1 75 18 | 175 | 47| 41 | a6 | EHRF
1DG-42-16 | Ma2C2 G1"X11 30 18 | 235 | 48 | 46 | 50 S
1DG-42-20 M42x2 | G1.1/4"X11 30 20 2351 50| 50 | =0
10G-52-24 | M52%2 | GL.1/2"X11 38 215 | 26 | 57T | 55| &0

i URHEEREEESBEEITSE, NNEXSEM RN, 1DG-20-08RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring

and nut it is necessary to insert suffix "RN"after our part no.,for example 10G-20-08RN.

104




I,

JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

90° BIEEWRNFIEFOIEE N

90° ELBOW BSPP THREAD ADJUSTABLE

F

JOES B

al

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

JINHENG HYDRAULIC
wERE

0

HEEWRLFTARON BB RS =8
BSPP THREAD ADJUSTABLE STUD
END WITH O-RING SEALING RUN TEE

ACCG-0G ACCG-OG/RN
ADDG-0G ADDG-OG/RN
f 8 #® & THREAD |®F/MITUBEO.D. R == DIMENSIONS EHEFR

PART NO. E.F G D1,D2 11,12 [L1,L2| L3 | S1 |S2,53]| 54 | MPa
ACCG-12-12-020G | M12X15| G1/8"X28 6 13 | 28 |26.2| 11 | 14 | 14
ACCG-14-14-040G | M14X15| G1/4"X19 8 155(305|313) 14 | 17 |19 ,
ACCG-16-16-040G | M16X15| G1/4"X19 10 17.5]325[325) 17 | 19 | 19 | S22
ACCG-18-18060G | M18XL5| G3/8"X19 12 19| 34 |388f 19 | 22 | 22| *T
ACCG-22-22-080G | M22X15| G1/2"X14 15 22 | 37 |432]| 22 | 271 | 27
ACCG-26-26-080G | M26X1.5| G1/2"X14 18 255) 42 |465| 27 | 32 | 27
ACCG-30-30-120G | M30X2 | G3/4"X14 22 293[ 458 52 | 30 | 36 | 32 | ¢
ACCG-36-36-160G | M36X2 | G1"X11 28 333|498 56 | 36 | 41 | 41
ACCG-45-45-200G | M45X2 |G1.1/4"X11 35 392|60.7| 63 | 48 | 50 | so0 | BRI
ADDG-14-14-040G | M14XL.5| G1/4"X19 B 17.5(325|313] 14 | 17 | 19
ADDG-16-16-040G | M16XL5| G1/4"X19 8 18.7/337(325) 16 | 19 | 19| 63
ADDG-18-18-060G | M18XL5| G3/8"X19 10 195| 36 368 19 | 22 | 22 | EEF
ADDG-20-20-060G | M20XL.5| G3/8"X19 12 195| 36 [368| 19 | 24 | 22| s
ADDG-22-22-080G | M22X1.5] G1/2"X14 14 23 | 41 [432] 22 | 27 | 27
ADDG-24-24-080G | M24X15] G1/2"X14 16 24 [425[ 44 [ 24 | 30 [ 27| o
ADDG-30-30-120G | M30X2 | G3/4"X14 20 283(495| 52 | 30 | 36 | 32| gop
ADDG-36-36-160G | M36X2 | G1"X11 25 328|568 56 | 36 | 46 | 41 <
ADDG-42-42-200G | M42X2 |G1.1/4"X11 30 362[(627| 58 | 41 | 50 | 50

1€G3-0G 1CG9-OG/RN STUD ENDS WITH O-RING SEALING
1DGY-0G 1DG9-0G/RN

7% 2 # &y THREAD [®WFIMETUBEO.D. R &+ DIMENSIONS EHZE
PART NO. E F D1 nJufL2][s1]s2]s3| mpa
1CG9-12-020G | M12X1.5| G1/8"X28 G 12 28 | 26.21 11 14 14
1069-14-040G | M14x15 | G1/a"x19 8 155|305(31.3] 14 | 17 | 19
1CG9-16-040G | M16XL.5| G1/4"X19 10 17.5| 32.5(325| 16 | 19 | 19
10G9-16-060G | M16XL5 | G3/8"X19 10 17.5(325(358] 16 | 19 | 22| 223
1CG9-18-060G | M18X1.5 | G3/8"X19 12 19 | 34 |368] 19 | 22 | 22 :
1069-22:080G | M22X1.5 | G1/2°X14 15 22 | 37 |432] 22 | 27 | 27
1CG9-26-080G | M26XL5 | G1/2"X14 18 55| 42 | 46 | 27 | 32 | 27
1669-26-1206 | M26X1.5 | G3/a"X14 18 55| 42 |493| 27| 32 | 32
1069-30-120G | M30X2 | G3/4"X14 22 393|458 52 | 30 | 36 | 32
1069-20-160G | M30x2 | G1"K11 22 15| 48 | 53| 33| 36 | @1
10G9-36-160G | M36X2 G1"X11 28 33 | 49.8| 56 36 41 41 16
1069-36-200G | M36X2 |GL.1/a"x11 28 36 528 59| 41 | 41 | 50| s
10G9-45-200G | M45X2 [G1.1/4"K11 35 39.2 | 60.7| 63 48 50 50
10G9-522406 | ms2x2 |eL1/2"xa1 42 448 | 67.8|685| 55 | 60 | 55
1DG9-14-040G | M14X1.5 | G1/4"X19 5] 17.5| 325313 14 17 19
1DG9-16-040G | M16XLS | G1/4"X19 8 18.7|33.7|325] 16 | 19 | 19
1DG9-16-060G | M1eX1.5 | G3/8"XK19 8 18,7 | 33.7| 358 16 19 22 63
1DG9-18-060G | M18XL5| G3/8"X19 10 195| 36 [368] 19 [ 22 | 22| TEY
1069-20-060G | M20XL.5 | G3/8"X19 12 195| 36 [368] 19 | 24 | 22
10G9-22-080G | M22X1.5 | G1/2"X14 14 23 | 41 |432] 22 | 27 | 27
1DGY-24-080G | M24X1.5| G1/2"X14 16 24 | 425 43 24 30 27
1069:30-120G | M30x2 | G3/a"x14 20 28 495| 52 | 30| 36 [32] 4
10G9-36-160G | M36X2 G1"X11 25 32.B| 568 56 36 46 41 E:
1069-42-2006 | Ma2x2 |G11/a7x11 30 362 | 627| 58 | 41 | 50 | 50
1D0G9-52-240G | M52X2 |GL1.1/2"X11 38 458 | 76.8 | 68.5| 55 | 60 | 55 | 3LSWHRFIS

F: IRFFERFERSEEITH, WIBENASEIN"RN", M1ACCG-18-18-060GRN,

Note: Incase if you are interested to order the adapter in complete set with cutting ring and

nut it is necessary to insert suffix "RN"after our part no.,for example ACCG-18-18-060GRN.

A URPFERFEESBEITHE, MIENLSBM RN, 01CG69-30-1206/RN.,
Mote: Incase if you are interested to order the adapterin complete set with cutting ring and
nut,itis necessary to insert suffix "RN"after our part no.,for example 1CG9-30-120G/RN.

105

106




JINHENG HYDRAULIC
wmiERE

JINHENG HYDRAULIC

AHELFEEX METRIC THREAD BITE TYPE TUBE ADAPTORS RSB

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

0

I,

Las
—
L]

=he
45° BREWRNATER
Of: B & H iR
45° ELBOW BSP THREAD ADJUSTABLE
1CG4-0G 1CG4-0G/RN STUD ENDS WITH O-RING SEALING
1DG4-0G 1DG4-0G/RN
£ 2 @ &Y THREAD | BFIMZTUBEO.LD. R <= DIMENSIONS EhEE
PART NO. E F D1 TE RES S e B MPa
1CG4-12-020G | M12X1.5| G1/8™28 6 10 [ 25 | 24 [ 11 | 14 | 14
1CG4-14-040G | M14X1.5 | G1/4"X19 8 11 | 26 | 27| 14 | 17 | 19
1CGA4-16-040G | M16X1.5 | G1/4"X19 10 123|273 27| 16 | 19 | 19 315
1CG4-16-0606 | M16X1.5| G3/8"X19 10 123|273 30| 16 | 19 | 22 55
1CG4-18-060G | M18X1.5 | G3/8"X19 12 13|28 [ 31|19 22| 22 )
1CG4-22-080G | M22X1.5 | G1/2"X14 15 15 | 30 | 36 | 22 | 27 | 27
1CG4-26-080G | M26X1.5 | G1/2"X14 18 165| 33 |375| 27 | 32 | 27
1CG4-26-120G | M26X1.5 | G3/4"X14 18 165| 33 | 42 | 27 | 32 | 32
1CG4-30-120G | M30X2 | G3/4"X14 22 197362425 30 | 36 | 32 ie
1CG4-36-160G | M36X2 | G1"X1l 28 215 38 (445) 36 | 41 | 41| oo
1CG4-45-200G | M45X2 | GL1/4"X11 35 255| 47 |505| 48 | 50 | 50
1DG4-14-040G | M14X1.5| G1/4"X19 6 13 | 28 | 21 | 14 | 1T | 19
10G4-16-040G | M16XL.5 | G1/4"X19 8 133|283 27| 16 | 19 | 19 63
1DG4-18-060G | M18X15 | G3/8"X19 10 135/ 30 | 31|19 | 22 | 22| EW&F%
1DG4-20-060G | M20X1.5 | G3/8"X19 12 135| 30 | 31| 19 | 24 | 22 S
1DG4-22-0806 | M22X1.5 | G1/2"X14 14 163(343[ 36| 22 | 271 | 27
1DG4-24-080G | M24X1.5| GL/2"X14 16 162347365 24 | 30 | 27 40
1DG4-30-120G | M30X2 | G3/4"X14 20 18.7 | 40.2 | 425| 30 | 36 | 32 FH5
1D64-36-160G | M36X2 | G1"X11 25 21 | 45 |445| 36 | 46 | 41 A
1DG4-42-200G | M42X2 | GL1/4"X11 30 243|508 |475] 41 | 50 | 50

ar <o
= [ E ] - -} " F——
il s o o RERur RO EEHFEIRS = =8
BSP THREAD ADJUSTABLE STUD ENDS
ACGC-0G H‘CGC-DG;’RN WITH O-RING SEALING BRANCH TEE
ADGD-0G ADGD~DG;‘RN
#* 8 & & THREAD WF7HMZETUBE Q.D. R =t DIMENSIONS EH&E
PART NO. E.G F D1,D2 1102 {L1,L2| L3 | S1 [52,53] 54 | MPa
ACGC-12-02-120G | M12X1.5| G1/8"X28 6 13| 28 |262] 11 | 14 | 14
ACGC-14-04-140G | M14X1.5| G1/4"X19 & 155[305(313| 14 | 17 [ 19| ., ¢
ACGC-16-04-160G | M16X1.5| G1/4"X19 10 175|325|325| 16 | 19 | 19 E?F;Er]
ACGC-18406-180G | M1BX1.5]| G3/8"X19 12 1991 34 | 368 19 | 22 | 22 L
ACGC-22-08-220G | M22X1.5| G1/2"X14 15 22 | 37 |432| 22 | 21 | 27
ACGC-26-08-260G | M26X1.5| G1/2"X14 18 255| 42 |465) 27 | 32 | 27
ACCG-30-12-300G | M30X2 | G3/4"X14 22 293]458| 52 | 30 | 36 | 32 16
ACGC-36-16-360G | M36X2 | G1"X11 28 333|498| 56 | 36 | 41 | 41 2EZIL
ACGC-45-20-450G | M45%2 | GL.1/4"%11 35 39.2|60.7| 63 | 48 | 50 | 50
ADGD-14-04-140G | M14X1.5| G1/4"X19 6 175]325(313] 14 | 17 | 19
ADGD-16-04-160G | M16X1.5| G1/4"X19 8 187337325 16 | 19 | 19 63
ADGD-18-06-180G | M18X1.5| G3/8"X19 10 195| 36 |368| 19 | 22 | 22 | BEF
ADGD-20-06-200G | M20X1.5| G3/8"X19 12 195| 36 |368] 19 | 24 | 22 5
ADGD-22-08-220G | M22X1.5| G1/2"X14 14 23 | 41 |a32]| 22 | 27 | 27
ADGD-24-08-240G | M24X1.5| G1/2"X14 16 24 |425] 44 | 24 | 30 | 27 40
ADGD-30-12-300G | M30X2 | G3/4"X14 20 2831495 52 | 30 | 36 | 32 6 %5
ADGD-36-16-360G | M36X2 | G1"X11 25 328|568| 56 | 36 | 46 | 41 A
ADGD-42-20-420G | M42X2 | G1.1/4"X11 30 36.21627| 58 | 41 | 50 | 50

A WBEEREERSERITH, NERLSEN "RN" , #1CG64-30-120G/RN.

Mote: Incaseifyou areinterested to order the adapter in complete set with cutting ring
and nut,itis necessary to insert suffix "RN"after our part no.,for example 1CG4-30-120G/RN.

F:NWEEEREERSEETE, NWBEALESM “RN" , MACGC-18-06-080G/RN.

Note: Incaseifyou areinterested to order the adapterin complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no.,forexample ACGC-18-06-080G/RN.

107

108



‘ a JINHENG HYORAULIC ) myig49 = 25423 METRIC THREAD BITE TYPE TUBE ADAPTORS ASIBSEEIEs METRIC THREAD BITE TYPE TUBEADAPTORS  MHENG HYDRAULIC ‘ a |

E4HIBYOR BB IS0 11926

UN. UNF THREAD STUD ENDS

5]
1€0 ICU—RN WITH O-RING SEALING 1S0O 11926 g7
Do 1DO-RN _ — T e 90° ERFERMFIEROFEEEHIRIS011926
ft 5 & W THREAD WFIMETUBEQ.D. R == DIMENSIONS EhFE o 90° ELBOW UN. UNF THREAD ADJUSTABLE
Eﬂf& E manzn D1 g i; i 51| 52| MPa 1C09-0G 1C09-OG/RN  STUD ENDS WITH O-RING SEALING ISO 11926
-14- M14¥1.5 y B 17 17
1CO-16-04 | M16X1.5 | 7/16"X20 10 9 | 11| 26| 17 | 19 1D09-0G 1D09-0G/RN
1CO-18-08 | M18X%1.5 3/4"X16 12 11 13 28 24 22
1C0-18-10 | M18X1.5 7/8"K14 12 121 | 143 29 | 27 22 31.5
1€0-22-08 | M22%1.5| 3/4"X16 15 11 | 14| 29| 24 | 27 ZBET £ 5 i & THREAD | ®FMETUBEO.D. R s DIMENSIONS ENEE
1C0-22-10 | M22X1.5| 7/8"X14 15 127 | 153 30 | 27 | 27 L PART NO. E E p1 11 | L1 fL2]S1[S2|5S3]| MPa
1C0-22-12 | M22x15| 1.1/16"X12 15 1500 (1191| 30 | 32 | 27 1C09-12-040G | M12X1.5 | 7/16"X20 6 13 | 28 12721 11 | 14 | 17
1C0-26-08 | M26X15 3/4"X16 18 11 | 145 | P3| o 32 1C09-14-060G | M14X1.5| 9/16"X18 B 15513051318 14 | 17 | 19
1C0-26-10 | M26X1.5| 7/8"X14 18 127|148 31| 27| 32 1C09-18-080G | M18X1.5 | 3/4"X16 12 19 | 34 [375] 19 | 22 | 24 é;;;l
1CO-30-08 | M30X2 | 3/4"X16 22 11.13113.87| 33 | 32 | 36 1C09-22-100G | M22X1.5 | T7/8"X14 15 2 13T |4 | 2| |27 {
1C0-30-10 M30xX2 7/8"%14 37 127 | 168 33 | 32 3R 1C09-22-080G | M22X15 | 3/4"X16 15 22 | 37 |385| 22 2T | 24
1C0-30-12 | M30%2 | 1.1/16"X12 22 15 1165|337l 82 | 36 1C09-26-1206G | M26X1.5 | 1.1/16"X12 18 255 | 42 |51 | 27 | 32 | 32
1C0-30-16 M30X2 | 1.5/16"X12 37 15 | 175 34 | 41 36 16 1C09-30-120G| M30X2 |1.1/16"X12 22 203|458 |535| 30 | 36 | 32
1C0-36-12 | M36X2 | 1.1/16"X12 28 15.00|14.41| 34 | 41 | 41 | BFRY 1€09-36-120G| M36X2 | 1.1/16"X12 28 335|478 |575( 36 | 41 | 41 16
1C0-36-16 | M36X2 | 1.5/16"X12 28 15 | 175 234 | a1 | 41 L 1C09-36-160G| M36X2 | 1.5/16"X12 28 333|498 |575| 36 | 41 | 41 | #=&F¥
1C0-45-16 M45X2 | 1.5/16"X12 35 15 | 175 39 | 46 | 50 1C09-45-200G| M45X2 | 1.5/8"X12 35 392 |60.7T| 63 | 48 50 | 50 L
1C0-45-20 MA5X2 1.5/8"%12 35 15.00 116411 39 | s0 50 1C09-52-240G| M52X2 | 1.7/8"X12 42 448 | 67.8 | 70.5| 55 60 | 55
1C0-52-20 M523 1.5/8"X12 42 15091591 42 | 55 60 1D09-14-040G | M14X1.5 | 7/16"X20 b 175)325) 30| 14 1B [y ¢
1D0-16-04 | M16X1.5| 7/16"X20 8 9 15 | 30| 17 | 19 1009-16-060G | M16X1.5 | 9/16"X18 8 18.7 | 33.7 | 333 | 16 12 | 19 63
1D0-18-06 | M18X1.5| 9/16"X18 10 10 |145| 31 | 19 | 22 ﬁ?ﬂ 1D09-18-060G| M18X1.5 | 9/16"X18 10 195| 36 |335]| 19 | 22 | 19| EERH
1D0-20-06 | M20X1.5 9/16"X18 12 0 | 145) 31 22 24 g 1D0D9-18-0B0G| M1BX1.5| 3/4"X16 10 195| 36 |37r5| 19 22 24 S
1D0-20-08 | M20X1.5 3/4"X16 12 11. | 175 | 34| 24 24 1D09-20-080G | M20X1.5 | 3/4"X16 12 185 36 | 37.5| 19 24 | 24
1D0O-24-08 | M24X1.5 3/4"K16 16 11 [ 155 34 | 24 30 1D09-22-100G | M22X1.5| T7/8"X14 14 23 41 | 44 | 22 27 27
1D0-24-10 | M24X1.5 7/8"X14 16 127 | 1B | 37 | 27 30 1D09-24-100G| M24X1.5| T7/8"X14 16 24 | 425|465 24 30 | 27
1D0-30-08 | M30X2 | 3/4"X16 20 11 [205| 42 | 32 | 36 1D09-30-120G| M30X2 |1.1/16"X12 20 283 |49.8 [535)| 30 | 36 | 32 !‘g’ﬂ
100-30-10 M30X2 T/8"%14 20 1227 | 208 42 | 32 36 40 1D09-36-160G| M3EX2 |1.5/16"X12 25 328|568 |57T5| 36 46 | 41 5
1D0-30-12 | M30X2 | 1.1/16"X12 20 15 | 205 42 | 32 | 36 ERF 1009-42-200G| M42X2 | 1.5/8"X12 30 36.2 | 62.7 | 59.5] 41 50 | 50
1D00-36-12 M36x2 1.1/16"X12 25 15.09(19.91| 47 | 41 46 2 1D09-52-240G| M52X2 | 1.7/8"X12 38 458 | 7h.8 | 705 | 55 60 | 55 |3LSEFRFIS
SUFAAG | (MG | Ll Al 42 ol TR e F: OMHEFEREEQSEEITH, WBERSEM ‘RN , M11C09-30-120G/RN.
1D0-42-16 | M42X2 | 1.5/16"X12 30 15 | 235 50 | 46 | 50 Note: Incaseifyou areinterested to order the adapter in complete set with cuttingring
1D0-42-20 | M42Xx2 1.5/8"%12 30 15 | 235 50 | 50 | 50 and nut,itis necessary to insert suffix "RN"after our part no.,forexample 1C09-30-120G/RN.
1D0-52-20 MS2X2 1.5/8"X12 38 1509 | 229 | 539 55 60 [315W&EFIS
I IWMHEFEEFERORBEI]SE, NFEALSEM "RN” , M1D0-30-12RN.
Note: Incaseif you areinterested to order the adapterin complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no.,for example 1D0-30-12RN.

109 110



‘ a !a!'tHEE;EE!"mmE RHENFEEIEL METRIC THREAD BITE TYPE TUBE ADAPTQORS
D2
IO S [T
ACCO-0G ACCO-0OG/RN
ADDO-0G ADDO-OG/RN

RHRNUFIEAROFEZ TR EZ =8
UN. UNF THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING RUN TEE

F
!
|
_ >q‘<\ i
| .

a3

ACOC-0G
ADOD-0G

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

-
i/ i

il

L2 B

ACOC-OG/RN
ADOD-OG/RN

RHIRNEIAROK EE IR 32 =8
UN. UNF THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING BRANCH TEE

ft 8 # & THREAD |EFJMZTUBEO.D. R < DIMENSIONS EH®E

PART NO. EF G D1,D2 11,12]L1,L2] L3 | S1 |52,53] 4 | MPa
ACCO-12-12-040G | M12X1.5 | 7/16"X20 6 13 | 28 |27.2| 11 | 14 | 17
ACCO-14-14-060G | M14X1.5 | 9/16"X18 8 155|3205|31.8] 14 | 17 | 19
ACCO-16-16-060G | M16X1.5 | 9/16"X18 10 17.5)325(33.3| 17 | 10 | 19 &3;?;55'1
ACCO-18-18:080G | M18X1.5 | 3/4"X16 12 19| 34 |375| 19 | 22 | 24| =7
ACCO-22-22-100G | M22X1.5| T/8"X14 15 22 3T 44 | 22 2T 27
ACCO-26-26-120G | M26X1.5 |1.1/16"X12 18 55| 42 | 51|27 | 32 | 32
ACCO-30-30-120G | M30X2 |L.1/16"X12 22 29.3(45.8(53.5| 30 | 36 | 32 | 16
ACCO-36-36-1606 | M36X2 |1.5/16"X12 28 333|49.8|575| 36 | 41 | 41 | =5
ACCO-45-45200G | M45X2 | 1.5/8"X12 35 39.2|60.7| 63|48 | 50 | 50| L
ADDO-14-14-040G | M14X1.5 | 7/16"X20 6 17.5|325] 30 | 14 | 17 | 17
ADDO-16-16-060G | M16X1.5 | 9/16"X18 g 18,7 23.7| 32.2| 16 19 19 63
ADDO-18-18-060G | M18X1.5 | 9/16"X18 10 195| 36 [335| 19| 22 | 19 | mEH
ADDO-20-20-080G | M20X1.5 | 3/4"X16 12 195| 36 |375[ 19 | 24 [ 24| S
ADDO-22-22-100G | M22X1.5 | 7/8"X14 14 23 | a1 | 44 | 22 | 27 | 27
ADDO-24-24-100G | M24X15 | 7/8"X14 16 24 | 425|46.5| 24 | 30 | 27
ADDO-30-30-120G | M30X2 |1.1/16"X12 20 283/ 49.8|535| 30 | 36 | 32 m‘;*w
ADDO-36-36-160G | M36X2 |1.5/16"X12 25 328(56.8(575| 36 | 46 | 41| "¢
ADDO-42-42-200G | M42x2 | 1.5/8"X12 30 36.2] 62.7159.5| 41 | s0 | s0

£ 5 % £ THREAD |®-F5METUBEOQ.D. R s+ DIMENSIONS EHHE

PART NO. E,G F D1,D2 11,12[L1,L2] L3 | 51 [52,54] 53 | MPa
ACOC-12-04-120G | M12X1.5 | 7/16"X20 ] 13 28 | 272 11 14 17
ACOC-14-06-140G | M14X1.5 | 9/16"X18 8 15.5|30.5|318| 14 | 17 19| . .
ACOC-16-06-160G | M16X1.5 | 9/16"X18 10 17.532.5]333| 17 | 19 | 19 | o,
ACOC-18-08-180G | M18X1.5| 3/4"X16 12 19 | 34 |375] 19 | 22 | 24 i
ACOC-22-10-220G | M22X1.5| 7/8"X14 15 22 | 37 | 42| 22| 27 | 27
ACOC-26-12-260G | M26X1.5 |1.1/16"X12 18 255| 42 | 51| 27 | 32 | 32
ACOC-30-12-300G | M30X2 [1.1/16"X12 22 293/458(|535( 30| 36 | 32| 16
ACOC-36-16-360G | M36X2 [1.5/16"X12 28 33.3(498|575| 36 | 41 | 41 | BFFH
ACOC-45-20-450G | M45X2 | 1.5/8"X12 35 39.2|60.7| 63 | 48 | 50 | 50 L
ADOD-14-04-140G | M14X1.5 | 7/16"%20 6 175|325| 30 | 14 | 17 | 17
ADOD-16-06-160G | M16X1.5 | 9/16"X18 8 18.7(33.7(333| 16 | 19 | 19| 863
ADOD-18-06-180G | M18X1.5 | 9/16"X18 10 19.5| 36 |335| 19 | 22 | 19 | E&RYI
ADOD-20-08-200G | M20X1.5| 3/4"X16 12 19.5| 36 [37.5| 19 | 24 | 24 S
ADOD-22-10-220G | M22X1.5| 7/8"X14 14 23 | 41 | 44 | 22 | 27 | 27
ADOD-24-10-240G | M24X1.5 | 7/8"X14 16 24 |4251465] 24 | 30 [ 27|
ADOD-30-12-300G | M30X2 |1.1/16"X12 20 283|49.8|535| 30 | 36 | 32 wE5
ADOD-36-16-380G | M36X2 |1.5/16"X12 25 328(56.8|57.5| 36 | 46 | 41 5
ADOD-42-20-420G | M42X2 | 1.5/8"X12 30 36.2|62.7|595| 41 | 50 | 50

i MWFFERFERSERITRE, WKEASEM "RN” , MACCO-30-300G/RN,
Note: Incaseifyouareinterested to orderthe adapterin complete set with cutting ring
and nut ,itisnecessary to insert suffix "RN"after our part no.,forexample ACCO-30-300G/RN.

A IWHFFERFESSERITE, WGAERSREM “RN” , #ACOC-30-12-300G/RN.

Note: Incaseifyou areinterested to orderthe adapterincomplete set with cuttingring
and nut,itisnecessary to insert suffix "RN"after our part no.,forexample ACOC-30-12-300G/RN.

111

112



‘ a JINHENG HYDRAULIC
wmiERE

AR -EE1EE METRIC THREAD BITE TYPE TUBE ADAPTORS

2BC-WD
2BD-WD

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

RE MO BT /

AFIRES24° R OF EEH
BSP THREAD WITH CAPTIVE SEAL /

JINHENG HYDRAULIC
wERE

0

METRIC FEMALE 24°CONE O-RING SEALING

. L _I
i [f . '
=4 by
. L0
Taa S
1CB-WD 1CB-WD/RN REBRURIBETIFIR
1DB-WD 1DB-WD ,"RN BSPP THREAD WITH CAPTIVE SEAL
£t 8§ @ i THREAD | Wirohe| B R DIMENSIONS EER |
PART NO. E F TUBEOD.| SEAL [ B [ 11 [LI[S1[ s2 MPa

ICB-12-02WD | M12X15 | G1/8"X28 6 WD-B02 | 8 | 85 |235| 14 | 14
1CB-12-04WD | M12X15 | G1/4"X19 b WD-B04 | 12| 10 | 25| 19 | 14
1CB-14-02WD | M14X15 | G1/8"%28 8 Wo-B02 | 8 | 9 | 24| 14 | 17
1CB-14-04WD | M14X15 | Gl/M4"X19 8 WD-BD4 | 12 | 10| 24| 19 17
1CE-14-06WD | M14X15 | G3/8"X19 8 WD-BOG6 | 12 | 11 | 26 | 22 17
1CB-16-04WD | M16X1.5 | G1/4"X19 10 WD-BO4 | 12 | 11 |24.5) 19 19
1CB-16-06WD | MI1GXL5 | G3/8"X19 10 WD-BO6 | 12 |125| 26 | 22 19
1CB-16-08WD | M16X1L5 | G1/2"X14 10 WD-BOB | 14 | 13 | 28 ) 27 19 il5
1CB-18-04WD | M18X15 | G1/4"X19 12 WO-B04 | 12|12 | 27| 19| 22 BEY
1CB-18-06WD | M18X15 | G3/8"X19 12 WD-B06 | 12 |125| 26| 22 | 22 L
1CB-18-08WD | M18X1.5 | G1/2°X14 12 WD-BOB | 14 | 14 | 28| 27 | 22
1CB-22-04WD | M22X15 | G1/4"X19 15 WD-BO4 | 12 | 13 | 28| 24 | 27
1CB-22-06WD | M22X1.5 | G3/8"X19 15 WOD-BOG | 12 |135| 28| 24 | 27
1CB-22-08WD | M22X15 | G1/2"%14 15 WD-EBOR | 14 | 14 | 29| 27 27
1CB-22-12WD | M22X15 | G3/4"X14 15 WD-B12 | 16 | 15 | 29| 32 27
ICE-26-08WD | M26X15 | G1/2"X14 18 WD-BOB [ 14 |145| 31 ) 27 32
1CB-26-12WD | M26X15 | G3/4"x14 18 WD-B12 | 16 |145| 31 | 32 32
1CB-30-12WD M30KZ G3/4"K14 232 WD-B12 | 16 |165| 33 | 32 36 16
1CB-36-16WD | M36X2 G1"X11 28 WO-B16 | 18 |175]| 34| 41 | 41 BRI
1CB-45-20WD | M45X2 | GL1/4"X11 35 WD-B20 | 20 |175| 39| 50 | 50 L
1CB-52-24W0 | MS2X2 | GLI/2"X11| 42 WD-B24 | 22 | 19 | 42| 55 | 60
1DB-14-04WD | MI4XL5 | G1/4"X19 6 WD-BO4 | 12 | 15 19| 17
1DB-16-04WD | M16XL5 | G1/4"X19 8 WD-BO4 [ 12| 15 | 20| 19| 19
1DB-16-06WD | M16X15 | G3/8"X19 8 WD-B0E | 12 |155| 30| 22| 19
1DB-18-04WD | M18X15 | G1/4"X19 10 WD-B04 | 12 |145| 31| 19| 2 63
1DB-18-06WD | MI1BXL5 | G3/8"X19 10 WD-B06 | 12 |145| 31| 22 | 22 WES
1DB-15-08WD | MISX15 | G1/2"X14 10 WD-BO8 | 14 |175| 34| 27 | 22 5
1DB-20-04WD | M20OX15 | G1/4°X19 12 WD-B04 | 12 |165| 33 | 22 | 24
1DB-20-06WD | M20X1.5 | G3/3"X19 12 WD-BDE | 12 | 15 | 33 | 22 24
10B-20-08WD | M20X15 | GL1/27X14 12 WD-BOB | 14 175 34 | 27 4
1DB-22-08WD | M22X1.5 | G1/2"X14 14 WD-BOB | 14 | 19 | 37 | 27 27
1DB-24-06WD. | M24X1.5 | G3/8"X19 16 WD-BO6 [ 12 | 18 |3&65) 27 a0
1DB-24-08WD | M24X1l5 | G1/2"X14 16 WD-BOB | 14 | 185 37| 27 30
1DB-24-12WD | M24XL5 | G3/4"X14 16 WD-B12 | 16 |205]| 39| 32 | 30
1DB-30-12WD | M30X2 | G3/4"X14 20 WD-B12 | 16 |205| 42| 32 | 36 ﬁ?ﬁﬂ
1DB-36-08WD | M36X2 | G1/2°X14 25 WD-BOB | 14 | 23 | 47| 41 | 46 <
1DB-36-12WD | M36X2 | G3/4"X14 25 WD-B12 | 16 | 23 | 47| 41 | 46
10B-36-16WD | M36X2 G1"X11 25 WD-B16 | 18 | 23 | 47 | 41 | 46
1DB-42-20WD MaZ¥2 | G1.1/4"X11 30 WD-B20 | 20 |235| 50 | 50 50
IDB-52-24WD | M52 | GLIJ2"X11 38 WDB24| 22 | 26 | 57 | 55 3L 5E 5515 |

H MM ERE R ERNONREI N, MANERLS BN RN , H1DB-20-08WD/RN,

Mote: Incase ifyou are interested to order the adapterin complete set with cuttingring

and nut it is necessary to insert suffix "RN"after our part no_ for example 108-20-08WD/RN,

113

1% = 8 & THREAD EFiED1 Bt R <+ DIMENSIONS EhHES
PART NO. E F TUBEO.D. | SEAL | A ] LT | S1 | 82 | MPa
2BC-02-12WD | G1/8"X28 | M12X1.5 5] WD-B0O2 8 24.5 14 14
2BC-04-14WD | GI/4"X19 | M14X1.5 8 wpBoa| 12 | 25 | 19 | 17
IBC-04-16WD | G1/4"X19 | M16XLS 10 wo-so4| 12 | 275| 19 | 19 s:;;;u
IBC-06-18WD | G3/8"X19 | M18X1.5 12 wo-soe| 12 | 34 | 22 | 22 3
2BC-08-22WD | G1/2"X14 | M22XL5 15 wo-so8| 14 | 32 | 27 | 27
JBC-08-26WD | G1/2"X14 | M26X1.5 18 wo-sos| 14 |315| 27 | a2
2BC-12-30WD | G3/4"X14 | M30X2 2 WD-B12| 16 | 325 | 32 | 36
2BC-16-36WD | G1'X11 | M36X2 28 wpBle| 18 | 35 | a1 | & ﬁgﬂ
2BC-20-45WD |G1.1/4"X11| M4A5X2 a5 WD-B20 20 42.5 50 50 L
2BC-24-52WD [G1.1/2°x11]| M52X2 42 wp-B24| 22 | 465 | 55 | 60
2BD-04-14WD | G1/4"X19 | M14X1.5 B WD-B04 12 27 19 17
2BD-04-16WD | G1/4°X19 | M16X1.5 8 wo-so4| 12 | 205| 10 | 19 63
2BD-06-18WD | G3/8"X19 | M18X1.5 10 wo-Bos| 12 | 32 | 22 | 22 | ®m®E%
2BD-06-20WD | G3/8"X19 | M20X1.5 12 wo-sog| 12 | 34 | 22 | 24 3
2BD-08-22WD | G1/2"X14 | M22X1.5 14 wo-Bos| 14 | 365| 27 | 27
IBD-08-24WD | G1/2'X14 | M24X15 16 wo-Bo8| 12 | 37 | 27 | 30
2BD-12-30WD | G3/4"X14 | M30X2 20 woe12| 16 | 43 | 32 | 36 | _*°
28D-16-36WD | G1'X11 | M36X2 25 wo-sis| 18 | 48 | 41 | 46 | ERY
2BD-20-42WD |G1.1/4"X11| M42X2 30 wo-s20| 20 | 51 | so | so i
2BD-24-52WD [G1.1/2"X11| M52X2 38 WD-B24 | 22 60 | 55 | 60 [3L5EEFRFY

114



‘ a JINHENG HYDRAULIC
wmiERE

HEBREHRARR

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

LFISMRiN60° HEH W

METRIC MALE 60° SEAT SEALING
OR BONDED SEAL STUD ENDS

1CM 1CM-RN
1DM 1DM-RN
f B S8 & THREAD |EFSMETUBEO.D. R i+ DIMENSIONS EHEE

PART NO. E F D1 B | 1L | LL ]| SL ] S2| MPa
1CM-12-10 M12X1.5 M10X1 1 a g.5 23 14 14
1CM-14-12 | M1ax15 | M12x15 8 12| 1w | 25| a7 | a7
1CM-14-18 | M14X1.5 | M18X1.5 8 12 115 26 | 24 | 17
1CM-16-14 | M16XL.5 | M14X1.5 10 12 | 11| 26| 19 | 19

1CM-16 | MI6X1.5 | M16X1.5 10 12 |12 21| 22| 19
1CM-16-18 | M16X15 | M18X1.5 10 12 125 27| 24 | 18
1CM-16-22 | M16XL5 | M22X1.5 10 14 | 14 | 20 | 27 | 19 318
1CM-18-14 | M18X1.5| M14x1.5 12 s 28 S I U 5 1 et
1CM-18-16 M18X1.5 M16X1.5 12 12 12 27 22 22 r

1CM-18 | M18X1.5 | M18X1.5 12 12 125 27 | 24 | 22 L
1CM-18-22 | M18XL5 | M22X1.5 12 14 | 14 | 20| 27 | 22
1CM-22-16 | M22x1.5 | M16X15 15 12 | 13| 28 | 24 | 27
1CM-22-18 M22X1.5 M18X1.5 15 12 135 29 24 27

1CM-22 | M22x15 | M22%15 15 14| 1s a0 |o2r | ot
1CM-26-18 | M26XL5 | M18X1.5 18 12 | 14 | 30| 27 | 32
1CM-26-22 | M26x1.5 | M22%1.5 18 14 |1as]| 31 | 27 | 32
1CM-30-22 M30X2 M22X1.5 22 14 16.5 33 32 36
1CM-30-26 | M30x2 | M26x15 22 16: 165 | 33 | 32 | 38 ”
1CM-30-27 | M30%2 | mM27X2 22 16 [185| 35 | 32 | 36 | 20
1CM-36-33 | M36X2 M3A3xN2 28 18 | 175 | 34 41 41 >
1CM-45-42 | M45%2 | Ma2x2 35 20 | 175 39 | 50 | s0 L
1CM-52-48 | Ms2%2 | masx 42 22 | 19 | 42 | 55 | 60
1IDM-14-12 | M14X1.5 | M12X1.5 3 12 | 12| 28 | 17 | 17
1DM-16-14 | M16X15 | M14X15 8 12 | 15 | 20| 19 | 19 an
1DM-18-16 | M18X1.5 | M16X1.5 10 12 |15 [ 31 f 22 |22 | o,
1DM-20-18 | M20X1.5 | M18X1.5 12 12 | 17 | 33| 24 | 24
1DM-20-22 | M20X1.5 | M22x15 12 14 |175| 334 | 27 | 24 5
1DM-22-20 | M22X1.5 | M20X1.5 14 14 19 37 2T 27
1DM-24-18 | M24X1.5 | M1BXL.5 16 12 | 18 | 36 | 27 | 30 p
10M-24-22 | M24x15 | M22X15 16 14 |185| 37 | 27 [ 30 | g5
10M-30-27 | m30x2 | M27x2 20 16 |205| 42 | 32 | 36
1DM-3633 | M38X2 | M33%2 25 18 | 23 | ar | 1 | 48 S

1CM-42 Ma2x2 | Ma2x2 25 30 | 235 50 | 50 | 50 75
10M-52-48 | Ms2x2 | masx2 18 22 | 51 | 55 | 60 HFRFIS

i IRFEERFERSEEITH, WiBEASEN "RN" , M1DM-20-18RN.

Mote: Incaseifyou areinterested to order the adapterin complete set with cutting ring

and nut ,itis necessary to insert suffix "RN"after our part no.,for example 1DM-20-18RN.

115

L1 B
]
- —
a
- DFR R AE IR
62 = METRIC THREAD WITH
1CM-WD 1CM-WD/RN CAPTIVE SEAL
1DM-WD 1DM-WD/RN
ft 2 # & THREAD | E¥IME | M R < DIMENSIONS FEhEs
PART NO. E F TUBEO.D.| SEAL B | 1|2 ] s1]| s2 MPa
1CM-12-10WD | M12X1.5 | MI10X1 6 WD-BO2 | 8 | 85| 23 | 14 14
I1CM-14-12WD | M14X1.5 | M12X1.5 B WD-m12 | 12 | 10 2 1T LT
1CM-16-14WD | M16X1.5 | M14X1.5 10 WD-BO4 | 12 | 11 26 19 19
1CM-16-18WD | M16X1.5 | M1BX1.5 10 WD-m18 | 12 |12.5]| 27 24 19
1CM-18-16WD | M1BX1.5 | M16X1.5 12 WD-M16 | 12 | 12.5]| 27 22 22 5&3_1@;;]
1CM-18WDE | M1BX1.5 | M18X1.5 12 wD-mM18 | 12 | 12.5] 27 24 2 L
1CM-18-22WD | M18X1.5 | M22X1.5 12 WD-M22 | 14 | 14 | 29 | 27 | 22
1CM-22-18WD | M22X1.5 | M18X1.5 15 WD-M18 | 12 |135] 29 | 24 | 27
1ICM-22WD | M22X1.5 | M22X1.5 15 WD-mM22 | 14 | 15 30 27 27
1CM-26-22WD | M26X1.5 | M22X1.5 18 WD-M22 | 14 | 145| 31 27 32
1CM-30-26WD | M30x2 | M26X1.5 22 WD-B12 | 16 | 16.5| 33 32 36
1CM-30-2TWD | M30X2 M27x2 22 WD-B12 | 16 | 16.5] 33 32 36 16
1CM-36-33WD | M36X2 | M33x2 28 WD-B16 | 18 | 17.5| 34 | 41 | 41 BRI
1CM-45-42WD | Md5x2 | M42x2 35 wD-B20 | 20 |17.5| 39 | 50 | 50 *
1CM-52-48WD | M52X2 M48x2 42 wWD-B24 | 22 18 | 42 55 G0
10M-14-12WD | M14X1.5 | M12X1.5 68 WD-m12 | 12 | 13 | 28 IT 17
1DM-16-14WD | M1B6X1.5 | M14X1.5 10 wD-B04 | 12 | 15 | 30 19 19 EEﬁE;FI]
1DM-18-16WD | M18X1.5 | M16X1.5 12 WD-M16| 12 | 15 | 31 22 22 5
1DM-20-1BWD | M20X1.5 | M18X1.5 14 WD-M18 | 12 | 17| 33 | 24 | 24
1DM-22-20WD | M22X1.5 | M20X1.5 16 WD-M20 | 14 | 19 | 37 | 27 | 27
1DM-24-22WD | M24X1.5 | M22X1.5 20 WD-mM22 | 14 | 185 37 27 30
IDM-30-2TWD | M30X2 M2Tx2 25 WD-B12 | 16 | 20.5] 42 32 36 !25'!
1DM-36-33WD | M36X2 | M33xX2 30 WD-B16 | 18 | 23 | 47 | 41 | 46 S
1DM-42WD MaZx2 Ma2x2 38 WD-B20 | 20 | 23.5| 50 a0 a0
1DM-52-48WD | M52X2 | M48X2 WD-B24 | 22 | 26 | 57 | 55 | 60 |315@%¥IS
Z: IRHFEREESSRBEITR, M#EASEM "RN" , 010M-20-18WD/RN.
Note: Incaseifyou areinterested to order the adapterincomplete set with cutting ring
and nut,itis necessarytoinsert suffix "RN"after our part no.,forexample 10M-20-18WD/RN.

116




‘ a JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

2MC-WD
2MD-WD

QR R [

LFIREB24° O B & E
METRIC THREAD WITH CAPTIVE SEAL /
METRIC FEMALE 24°CONE O-RING SEALING

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

JINHENG HYDRAULIC

wERE

0

ft § # & THREAD WFoEDl | ki R i DIMENSIONS EHEHR
PART NO. E F TUBEO.D. | SEAL A 11 51 S2 MPa
2MC-10-12WD | M10X1 | M12X1.5 6 wp-802| 8 | 245 | 14 14
2MC-12-14WD | M12X15 | M14X1.5 8 wp-M12| 12 | 265 | 17 17
ZMC-14-16WD | M14X1.5 | M1&6X1.5 10 WD-B0D4 12 21.5 19 19 31.5
2ZMC-16-18WD | M16X1.5 | M18X1.5 12 WD-M16| 12 | 305 | 22 22 BERY
2MC-18-22WD | M18X1.5 | M22X1.5 15 WD-M18 12 31.5 24 27 L
2MC-22-26WD | M22X1.5 | M26X1.5 18 WD-M22| 14 | 315 | 27 | 32
2MC-26-30WD | M26X1.5 | M30X2 22 WD-M22| 16 | 325 | 32 36
2MC-33-36WD | M33X2 | M36x2 28 WD-B16| 18 35 | 41 41 16
ZMC-42-45WD | M42X2 Ma45%2 35 WD-B20| 20 | 425 | 50 50 2R
2MC48-52WD | M48X2 | M52X2 42 WD-B24| 22 | 465 | 55 | 60 L
ZMD-12-14WD | M12X1.5 | M14X1.5 & WD-mM12 12 27 17 17
2MD-14-16WD | M14X1.5 | M16X1.5 8 WD-B0O4| 12 | 295 | 19 19 63
2MD-16-18WD | M16X1.5 | M18X1.5 10 WD-M16| 12 32 22 22 EHT
2MD-18-20WD | M18X1.5 | M20X1.5 12 WD-M18| 12 | 34 | 24 | 24 S
2MD-20-22WD | M20X1.5 | M22X1.5 14 WD-M20| 14 | 365 | 27 27
2MD-22-24WD | M22X1.5 | M24X1.5 16 WD-M22| 14 a7 27 30
ZMD-27-30WD | M27X2 | M30x2 20 WD-B12| 16 43 32 36 g; 5
2MD-33-36WD |  M33X2 | M36X2 25 WD-B16| 18 | 48 | 41 | 46 s
2MD-42-42WD |  M42X2 | Ma2x2 30 WD-B20| 20 51 50 50
2MD-48-52WD |  M48X2 | M52X2 38 WD-B24| 22 60 | 55 60 [3L5HFTS
117

L1 B
11
= W \"“j,_—’./ N
mpa i
H_L 353128
\ WELD FITTINGS
52 151
1CW 1CW-RN
1DW 1DW-RN
£ 5 @ v THREAD |EFYMZTUBEO.D. R = DIMENSIONS ENSR
PART NO. E D1 D2 B |DJ|11|L1] S1][S2]| MPa
1CW-12-086 M12X1.5 4] (2] T 10 T 22 12 14
1CW-14-08 M14X1.5 8 8 B |12| 8 | 23| 14 |17 315
1CW-16-10 M16X1.5 10 10 8 14| 9 |24 | 17 | 19| BEW
1CW-18-12 M18x1.5 12 12 8 |16| 10 | 25| 19 | 22 L
1CW-22-15 M22X1.5 15 15 10 |19 11 | 26 | 22 | 27
1CW-26-18 M26X1.5 18 18 | 10 |22 |115] 28 | 27 | 32
1CW-26-22 M26X1.5 18 22 10 | 27135 28 | 27 | 32
1CW-30-22 M30X2 22 22 | 12 | 27 |135| 30 | 32 | 36
1CW-30-25 M30X2 22 25 [-12 |31 |135)| 30 | 32 | 26 E%U
1CW-36-28 M36X2 28 28 | 12 | 32165 33 | 38 |4 L
1CW-45-35 Ma5X2 35 35 14 | 40 |145| 36 | 46 | 50
1CW-52-42 M52X2 42 42 | 16 | 46| 16 | 39 | 55 | 60
1DW-14-06 M14X1.5 6 6 7 |11]| 11|26 | 14 | 17
1DW-16-08 M16X1.5 8 8 8 |13| 13|28 | 17 |19 o
1DW-18-10 M18X1.5 10 10 8 |15(125| 29 | 19 | 22 ﬁfﬂ
1DW-20-12 M20X1.5 12 12 | 10 | 17 (145 31 | 22 | 24
1DW-22-14 M22X1.5 14 14 | 10 | 19| 16 | 34 | 24 | 27
1DW-24-16 M24X1.5 16 16 | 10 | 21|155] 34 | 27 | 30
1DW-30-20 M30X2 20 20 | 12 |26 (175 39 | 32 | 36 40
1DW-36-25 M36X2 25 25 | 12 | 31| 20 | 44 | 41 | 46| WERF
1DW-42-30 M42%2 30 30 | 14 | 36 |205| 47 | 46 | 50 S
1DW-52-38 M52X2 38 3 16 44 23 54 55 60 31LSEEFIS

A IRFFERFESRSRBEITRE, WHEASEM RN
Note: Incaseifyouareinterested to orderthe adapterin complete set with cutting ring
and nut,itis necessary toinsert suffix "RN"after our part no.,for example 1DW-20-12RN.

» ¥W11DW-20-12RN.

118




I,

JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

D
2
- A | oM
" T [T |||
; _[ J/] S1
ST 90° f8iEHEL
: . 90° WELD FITTINGS
1CW9 1CW9-RN
1DW9 1DW9-RN
& = |[#® @ THREAD | EFIHZTUBEOD. R DIMENSIONS ENBH
PART NO. E D1 D2 BlB1] o] JTuilsi]s2] wmpa
1CW9-12-06] M12X1.5 6 6 15 7 [1w0]13]28[11]14
1CW9-14-08| M14X15 8 g |185| 8 | 12|155 305 14| 17
1CW9-16-10| M16X1.5 10 10 |195| 8 | 14175 (325 16| 19 5%3;:1:5?11
1CW9-18-12| M18X15 12 12 | 2a| 8 |16|19 | 3419|222 L
1CW9-22-15| M22X1.5 15 15 [255] 10 | 19f 22 | 37 | 22| 27
1CW9-26-18] M26X1.5 18 18 | 28] 10 | 22255 42 | 27| 32
1CW9-26-22| M26X1.5 18 22 28 | 10 | 27255 42 | 27 32
1cwe-30-22| m30x2 2 22 32 | 12 | 27293 458 30| 36 i
1CW9-30-25| M30%2 22 25 | 32| 12 31203 /458)30| 36| ey
1CWo-36-28| M36x2 28 28 | 355 12 | 32| 36 |528] 36| 41 L
1CWS-45-35 MasX2 35 35 45 14 40 139.2 | 60.7T| 48 | 50
1CW9-52-42|  M52x2 42 42| 485| 16 | 46405 |635] 50| 60
1DW9-14-06| M14X1.5 6 6 |175] 7 | 11]17.5 [ 325 14| 17
10W9-16-08| M16x15 8 g |195| 8 | 13]187 (337 16| 19 63
1DW9-18-10] M18X1.5 10 10 21| B 15|195| 36 | 19| 22| HEEF
10W9-20-12| M20X15 12 12 | 23| 10| 17|195] 36 [ 19 24 =
1DWS-22-14] M22¥1.5 14 14 2551 1D 19| 23 41 22 1 X
1DW9-24-16| M24X1.5 16 16 |[265] 10 | 21| 24 [425] 24| 20
10W9-30-20)  M30x2 20 20 | 32| 12| 26| 28 |495]30] 36 m}fﬂ
1DW9-36-25| M36X2 25 25 | 355] 12 | 31228 | 568 36| 46 S
10W9-42-30]  Ma2x2 30 30 [ 395] 14 | 36362 |627] 41| 50
1DW9-52-38] M52 a8 238 |485] 16 | 441415 725] 50| 60| 3tsmmms

F: MIWFFELFERSGERITE, WBWEASEM “RN" , $01DW9-20-12/RN.
Note: Incaseifyou areinterested to order the adapterin complete set with cutting ring
and nut ,itis necessary to insert suffix "RN"after our part no.,forexample 1DW9-20-12/RN.

119

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

JINHENG HYDRAULIC
wERE

0

52 ,._LJ._.
i 1__‘ ‘*{{ 3 oy i : -
f - 3 a - ; q.
a4 | R | :
; ‘ix
< |\ KDSH#t @
F
AFERaREEL
1Cl 1CI-RN METRIC BANJO
1DI 1DI-RN
i e 8 £ THREAD EFIrED R <+ DIMENSIONS EHNFE
PART NO. F E TUBE 0Q.D. A L1 L2 L3 | 51 | 52 MPa
1C1-12-10 | MI10X1 | MI12X15 L6 8 12 | 105] 24 | 17 | 17
1CI-14-12 M12X15 | M14x1.4 L8 12 145 14 30 | 22 19 31.5
1CI-16-14 | M14X15 | MI16XL5 L10 12 |[155| 14| 30| 22 | 18 %5
1CI-18-16 | M1eX15 | MIBX1.S5 L12 12 18 | 165 36 27 24 L
1C1-22-18 | M18X15 | M22X15 L15 12 | 215| 185| 395| 30 | 30
1C1-26-22 | M22X15 | M26X1.5 L18 14 21 | 215] 45 | 32 | 30
1CI-30-26 M26X1.5 M30X2 L22 16 275 24 53 | 41 36 16
1C1-36-33 M3a3x2 M36X2 L28 18 32 | 305) 66 | 50 46 HEN
1CI-45-42 | M42x2 M45X2 L35 20 36 | 35| 76 | 60 | 55 L
1CI-52-48 MaEK2 M52%2 L42 22 405 | 405 | &Y 70 i)
1DI-16-14 | M14X15 | MI16XL5 58 12 | 165 14| 30| 22 | 19 40
1D1-18-16 | M1exXl.5 | MI18X1.5 510 12 1851 16.5]| 36 27 24 EE5|
101-20-18 | MI18X15 | M20X15 512 12 20 | 185( 395| 27 | 27 5
1DI-22-20 | M20X1.5 | M22X15 514 14 |225| 20 | 435| 32 | 30
1D1-24-22 | M22X15 | M24X15 | S16 14 | 22 | 215[ 45| 32 | 30 B E 3
1D1-30-27 M27X2 M30X2 520 16 265 | 24 53 | 41 36 5
1DI-36-33 M33X2 M3GX 2 525 18 | 315) 305] 66 | 50 | 46 | 25EHEFIS
1DI-42-42 | M42x2 M42%2 S30 20 | 37 | 355 76 | 60 | 55 Ei?%ﬂ
1DI-52-48 | M48x2 MS52X%2 538 22 |415]| 405| 87 | 70 | 60 3
Z: IMHBFERFEESEEITE, MSE/ASEM RN , W1D1-30-26RN.
Note: Incaseifyou areinterested to order the adapter in complete set with cuttingring
and nut ,itis necessary to insert suffix "RN"after our part no.,forexample 1D1-30-26RN.

120




‘ a JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

< \ KDS3tE | E
"__ el
BB EREL
1CI-B 1CI-B/RN BSP BANJO
1DI-B 1DI-B/RN
£ & # © THREAD EFIMED R s DIMENSIONS EH %

PART NO, F E TUBEOD. | A | L1 | L2 | L3 | 81 | S2 MPa
1C1-12-B02 | G1/8"X28 | M12X1.5 L6 8 12 [w05] 24 | 17 | 17

1CI-14-B04 | G1/4"X19 | M14X1.5 L8 12 |145| 14 | 30 | 22 | 19 Sis
1CI-16-B04 | G1/4"X19 | M16X1.5| L10 12 |155| 14 | 30 | 22 | 19 3 % -
1CI-18-B06 | G3/8"X19 | M18X15| L12 12 | 18 |165| 36 | 27 | 24 A
1C1-22-B08 | G1/2"X14 | M22x1.5| L1S 14 |215]|215 | 45 | 32 | 30

1C1-26-B08 | G1/2"X14 | M26x15| Li8 14 | 21 |215| 45 | 32 | 30

1C1-30-B12 | G3/4"X14 | M30X2 L22 16 |275| 24 | 53 | 41 | 36 16
1C-36-B16 | G1"X11 M36X2 L28 18 | 32 |305| 66 | 50 | 46 BRY
1C1-45-B20 | G1.1/4"X11 | M45X2 L35 20 | 36 [355| 76 | 60 | 55 L
1CI-52-B24 | G1.1/2"X11 | M52x2 L42 22 | 405|405 | 87 | 70 | 60

1DI-14-B04 | G1/4"X19 | M14X15 S6 12 |165| 14 | 30 | 22 | 19

1DI-16-B04 | G1/4"X19 | MI16XL5 S8 12 |165| 14 | 30 | 22 | 19 40
1DI-18-B06 | G3/8"X19 | M18XL5 510 12 | 185|165 | 36 | 27 | 24 BET
1DI-20-B06 | G3/8"X19 | M20X15| S12 12 | 185|165 | 36 | 27 | 24 S
1D1-22-B08 | G1/2"X14 | M22x1.5| 514 14 | 225]215| 45 | 32 | 30

10124808 | G1/2'%14 | M2ax15| s16 | 14 [ 22 [215( a5 [ 32 | 30| Jl3
1DI-30-B12 | G3/4"X14 | M30X2 520 16 | 265| 24 | 53 | 41 | 36 S

| 1DI-36-B16 | G1"X11 M36x2 | 525 18 | 315|305 | 66 | 50 | 46 | 25@HFS

101-42-B20 | G1.1/4"X11 | M42X2 $30 20 | 37 |345| 76 | 60 | 55 E}?’?ﬂ
1D1-52-B24 | GL.1/2"x11| Mm52%2 | s38 22 |415]405| 87 | 70 | 60 S

. IMEFFELRFESSEEITE, NBEASEM "RN” , H101-30-B12/RN.

Note: Incaseifyouareinterested to orderthe adapterin complete set with cutting ring
and nut,itis necessarytoinsert suffix "RN"after our part no, forexample 1DI-30-B12/RN.

121

1RigiEk
WELD FITTINGS
t S @ & THREAD |EFF+T TUBESIZE[ R 7 DIMENSIONS |EAS®
PART NO. F D1xt L Do D2 52 MPa
2WC-6X1.5 M12¥%1.5 6X1.5 30 2.5 6 14
2WC-8X2.0 M14XL5 8X2.0 30| 4| 8|17
2WC-10X2.0 M16X1.5 10X2.0 21| 6 | 10] 19 25
2WC-12X2.0 M18X1.5 12%2.0 31 | 75| 12 | 22 | B&W
2WC-15x2.0 M22¥1.5 15%2.0 a5 10 15 27 L
2WC-18X2.0 M26X1.5 18X2.0 35 | 13| 18 | 32
2WC-22%2.0 M30x2 2252.0 35 17 22 36
IWC-28X2.5 M36X2 28¥2.5 41| 23| 2| @ Eﬁﬂ
IWC-35X3.0 M45X2 35%3.0 48 | 29 | 35 | 50 i
2WC-42%3.0 M52X2 42%3.0 505 | 36 42 &0
2WD-BX1.5 M14X1.5 6X1.5 285 2.5 B i7
2WD-BX2.0 M16X1.5 8X2.0 29 4 a 19
2WD-10X1.0 M18X1.5 10X1.0 32 | 65| 10 | 22 63
2WD-10X1.5 M18X1.5 10%1.5 32 6.5 10 22 x5
2WD-10X2.0 M18X1.5 10X2.0 32 & 10 22 5
2ZWD-12X1.5 MZ0X1.5 12X1.5 32.5 a 12 27
2WD-12%2.0 M20X1.5 12X%2.0 32.5 a8 12 27
2WD-12X2.5 M20X1.5 12%2.5 325 T 12 2T
2WD-16X1.5 M24X1.5 16X1.5 39 13 16 30
2WD-16X2.0 MZ4%1.5 16X2.0 39 12 16 30
2WD-16X2.5 M24X1.5 16X2.5 29 11 16 30
2WD-16X3.0 Mz24X1.5 16X3.0 39 10 16 30
2WD-20X2.0 M30X2 20%2.0 43 15 20 36
2WD-20%2.5 M30K2 20%2.5 43 15 20 35 40
2wD-20X3.0 MI0K2 20%3.0 43 14 20 36 EEn
2WD-20X4.0 M30X2 20X%4.0 43| 12| 2| 3 g
2WD-25X2.5 M36X2 25%2.5 50 | 20 | 25 | 46
2WD-25X3.0 M36X2 25%3.0 50 | 19 | 25 | 46
JWD-25%4.0 M3BX2 26X%4.0 50 17 25 46
2WD-25%5.0 M3BX2 25X5.0 50 15 25 46
2WD-30X3.0 M42X2 10%3.0 52 24 20 50
2WD-30X4.0 M42%2 A0x4.0 52 22 20 50
2WD-30X5.0 M42X2 30%5.0 h2 20 30 50 25
2WD-30%6.0 MAZX2 30M6.0 52 18 30 50 BEH
2wD-38%4.0 M52%2 A8X4.0 865 | 30 18 60 5
2WD-38%5.0 M52%2 38X5.0 565 | 28 18 B0
2WD-28x6.0 M52%2 8XE.0 56.5 26 a8 60
JWD-38X7.0 M52%2 2EXT.0 565 | 24 38 B0
122



‘ a JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

bl

2GC
2GD

RERNOMEE I/

NEI L -FEIZE METRIC THREAD BITE TYPE TUBE ADAPTORS

ABIREL24° HOREE
BSP THREAD STUD ENDS WITH O-RING SEALING /
METRIC FEMALE 24°CONE O-RING SEALING

1C-Y/RN
1D-Y/RN
B3 gk
CYLINDER STRAIGHT BULKHEAD
i B i8 4y THREAD |EF9MZ TUBEO.D. R st DIMENSIONS EhEE
PART NO. E F D1 D2 Tl d [S2,53] MPa
1C-12Y M12X1.5 | M12X1.5 6 6 56 | 85 | 18 | 14
1C-14Y M14X15 | M14x15 8 8 s6 | 85 | 20 | i7 -
1C-16Y M16X1.5 M16X1.5 10 10 58 a7 22 19 255
1C-18Y M18X15 | Misx1s | 12 12 s | a1 | 3| 22
1622y | M22X15 | M22x15 | 15 15 | 70 | 100 | 28 | 27 k
1C-26Y M26X1.5 | M26x15 | 18 18 69 | 100 | 32 | 32
1C-30¥ M30X2 | M30X2 27 33 73 | 105 | 36 | 36 o
1C-36Y M36X2 | M36X2 28 28 73 | 106 | 40 | 41 bl
1C-45Y MASX2 Ma5X2 35 35 Tl 114 S0 50
1C-52¥ M52X2 | M52x2 42 42 70 | 115 | 60 | &0 K
1D-14Y M14X1.5 M14%1.5 (1 5] 60 29 20 17
1D-16Y M16X1.5 | M16X1.5 g 8 60 | 89 | 22 | 19 63
1D-18Y M18X1.5 | M18X1.5 10 10 59 91 25 22 EEY
1D-20¥ M20X1.5 | M20%15 | 12 12 59 | o1 | 28 | 24 S
10-22Y M22X1.5 M22X1.5 14 14 T2 107 30 2T
1D-24Y M24X15 | M24X15 | 16 16 71 | 107 | 35 | 30 %0
1D-30Y M30X2 | M30X2 20 20 71 | 114 | 38 | 36 il
10-36Y M36X2 | M36X2 25 25 72 | 120 | 45 | 46 :
1D-42Y M42X2 | M42x2 30 30 73 | 126 | 50 | so
1D-52Y M52X2 | M52X2 38 38 72 | 133 | 60 | 60 | 3L5MEYIS

i ITMFEFERFERGEEITE, WWEEAKSEMN “RN” , #M1D-36Y/RN.
Note: Incaseifyouareinterested to orderthe adapterincomplete set with cutting ring

and nut itis necessary to insertsuffix "RN"afterour part no. . forexample 10-38Y/RN.

123

%5 # & THREAD |®F94F TUBEO.D. R & DIMENSIONS EhEa
PART NO. E F D1 A L1 51 S2 MPa
26C-02-12 | G1/8"%28 | M12X1.5 6 95 | 205 | 14 14
2GC-04-14 | G1/4"X19 | M14X1.5 8 10 | 235 | 19 17 318
2GC-04-16 G1/4"X19 | M16X1.5 10 10 24 19 19 Eﬁ;-ﬂ
2GC-06-18 | G3/8"X19 | M18X1.5 12 115 | 255 | 22 27
2GC-08-22 | G1/2"X14 | M22X1.5 15 14 | 285 | 27 22 >
2GC-08-26 | G1/2"X14 | M26X1.5 18 14 29 27 32
2GC-12-30 | G3/4"X14 | M30X2 22 155 | 32 32 36 16
2GC-16-36 | G1"X11 | M36X2 28 18 35 41 41 2R
26C-20-45 |G1.1/4"X11| M45x2 35 20 38 50 50 ‘L
2GC-24-52 |G1.1/2"X11| M52X2 42 215 | 415 | 55 60
2GD-04-14 G1/4"%19 | ML14X1.5 5] 10 23 19 17
2GD-04-16 | G1/4"X19 | M16X1.5 8 10 26 19 19 63
2GD-06-18 | G3/8"X19 | M18X1.5 10 115 | 25 22 22 L T
2GD-06-20 | G3/8"X19 | M20XL1.5 12 115 | 285 | 22 24 5
2GD-08-22 G1/2"X14 | M22X1.5 14 14 315 27 2T
2GD-08-24 | G1/2"X14 | M24X15 16 14 30 27 30 40
26D-12-30 | G3/4"X14 | M30X2 20 155 | 36 32 36 o
260-16-36 | G1"X11 | M36X2 25 18 | 385 | 41 46 .
2GD-20-42 |G1.1/4"X11| M42X2 30 20 42 50 50 >
2GD-24-52 |G1.1/2"X11] M52X2 38 215 | 475 | 55 60 | 31L5WEFIS

124




‘ a JINHENG HYORAULIC ) myig49 = 25423 METRIC THREAD BITE TYPE TUBE ADAPTORS ASIBSEEIEs METRIC THREAD BITE TYPE TUBEADAPTORS  MHENG HYDRAULIC ‘ a |

L1 T -:'il B
i ”a ,?.,_F e
o\
ol
o _ h , MEEHEEEHTRIEEL
s . i BSP PRESSURE GAUGE CONNECTOR
HE N SCB-GDK 5CB-GDK/RN WITH DKI SEALING RING
5CB 5CB-RN BSP FEMALE 5DB-GDK 5DB-GDK/RN
£ 8 # £ THREAD |EF4MED1 R = DIMENSIONS Egﬁﬂﬁéﬁ EHEE
5DB SDB-RN PART NO. E F  |TUBEO.D.| 11 | L1 | B | S1]S2 | nricid | mpa
5CB-12-04GDK | M12X1.5 | G1/4"X13 6 75| 37 |145] 19 | 14 | DP-BO4DK 5i &
S S 4 THREAD | ©FSMETUBEO.D. R i DIMENSIONS EHFR 5CB-14-04GDK | M14X1.5 | G1/4"X19 8 75| 37 |145] 19 | 17 | DP-BO4DK| - =
PART NO. 2 F 01 B | 1 |11 | S1 ] S2) MPa SCB-16-04GDK | M16X1.5 | G1/4"X13| 10 85|38 |145| 19 | 19 | DP-BOADK | |
Hbilide LMAISLS | D1/ e o . R O I 5CB-18-04GDK | M18x1.5 [G1/4"x19| 12 | 85| 38 [145| 19 | 22 | DP-BO4DK
ggg'ﬁ"ﬂ ::E:;“: gﬁ--ﬂ: : ﬁ ii :: Jig }; 5DB-14-08GDK | M14X1.5 | G1/2"X14 6 11 [ 46 f 20 | 27 | 17 | DP-BOSDK |
e I GH;E"KIQ 5 B [T ) p—G— e 5DB-16-08GDK | M16XLS5 | G1/2"X14 8 11 | 46 | 20 | 27 | 19 | DP-BOBDK | . .,
ECE' 14_{}3 M14H1.5 Gl!zuxlq. 'E 21} 29 44 2? l? SDBIB"]&GDH MIBII.E Glllllz:xl'q 10 ]-D-E '4? lﬂ 2? 21 DP_BDEDH 5
5CB-16-06 | M16X1.5 | G3/8"X19 10 17 | 26 [ 41 | 24 | 19 | E: NJ\HEFERFREGEETH, WISEASHEM "RN” , M5CB-18-04GDK/RN,
sce608 | waguis [ Guznad | 10|20 | 30 | as | a7 | a0 | B D e T o e aiie W comB e O e
5CB-18-04 | M18X15 | G1/4"X19 12 17 | 23 | 38 | 19 | 22 ’ = :
5CB-18-06 | M18X1.5 | G3/8"X13 12 17 26 41 24 22 TBC-GDK/S
5CB-18-08 | M18X1.5 | G1/2"X14 12 20 | 30 | 45 | 27 | 22 7BD GDKJ:‘S
5CB-22-06 | M22X1.5 | G3/8"X19 15 17 28 43 24 27 v
5CB-22-08 | M22X1.5 | G1/2"X14 15 20 | 31 | 46 | 27 | 27 gliy
5CB-26-08 | M26X15 | G1/2"X14 18 2 |305| 47 | 27 | 22 WEBHEEEHRIEEL
5CB-30-12 | M30X2 | G3/4"X14 22 22 [ 355 52 | 36 | 36 i BSP PRESSURE GAUGE CONNECTOR
5CB-36-16 | M36X2 | GI"X11 28 245 | 38 | 55 | 41 | 41 G5 WITH DKI SEALING RING
i e - e K G I E I T S G R
54:15_14}:4 M14X1.5 Gi ﬂ g 6 1% 25:’- 41 9 | 17 e - : D BT o B TR -
et i - lﬁiiﬂ & s i o ig i 7BC-04-12GDK/S | G1/4"X19| M12X1.5 6 1451355 | 19 | 14 |DP-BOADK| _
SDB-18.06 | MISXLS5 | G3/8"X19 i 7 |26 x| 20 | 22 ﬁﬁg?';i] 7BC-04-14GDK/S Gm:ﬂg M14X1.5 8 145 | 355 | 19 | 17 | DP-BO4DK 3
5DB-20.06 | M20XL5 | G3/8"X19 1 it | 375 28 | 24 | 22 : TBC-04-16GDK/S Gl,m-xlg M16X1.5 10 145 | 36 | 19 | 19 | DP-BO4DK ]
5DB-22-08 | M22X15 | G1/2"X14 14 20 b 50 30 27 TBD-04-14GDK/5 |G1/4"X19| M14X1.5 b 145 | 355 19 17 | DP-B0O4DK
SDB-24-08 | M24X1.5 | G1/2"X14 16 20 | 315 | 50 30 30 ia 7BD-04-16GDK/S | G1/4"X19| M16X1.5 8 145 | 355 | 19 19 | DP-BO4DK
5DB-30-12 M30X2 | G3/4"X14 20 22 | 345 | 56 36 36 FET TBD-04-18GDK/S |G1/4"X19| M18XL.5 10 145 | 36 19 22 | DP-BD4DK -
50B-36-16 | M36X2 | G1"X1l 25 245 | 375 | 62 | 41 | 46 s‘ TB0-04-20GDK/S | G1/4"X19| M20X1.5 12 145 | 39 | 19 | 24 | DP-BO4DK & 75|
50B-42-20 | M42X2 |G1.1/4"X11 30 26,5 | 42 69 35 | 50 TBD-08-14GDK/S |G1/2"X14| M14X1.5 6 20 | 425 | 27 17 | DP-BOBDK ’3
SDB-52-24 | M52X2 |G1.1/2"%11 38 285 | 435 | T4 60 | 60 PBLSHFRFS 7BD-08-16GDK/S |G1/2"X14| M16X1.5 8 ol D 2 19 | DP-BOBDK
E:tmiﬂ%-ﬁirﬁ-ﬁiﬁﬁiﬂif{iﬁi ﬂluiﬁdﬁ’r’tﬂfﬁjm :RN'“ ) Hlﬁffﬂt-dﬁ-?ﬂl%:t il 7BD-08-18GDK/S |G1/2"X14| M18X1.5 10 20 | 435 | 27 | 22 | DP-BO8DK
olte. Incasei youargintereste toorder eadaplerincompie esetwl cu mg rng % &
and nut ,itis necessary toinsert suffix "RN"after our part no.,for example 5CB-45-20RN. 7BD-08-20GDK/S |G1/2"X14] M14X1.5 12 20 45 7 2% | DP-BOBDK

125 126



‘ a JINHENG HYORAULIC ) myig49 = 25423 METRIC THREAD BITE TYPE TUBE ADAPTORS ASIBSEEIEs METRIC THREAD BITE TYPE TUBEADAPTORS  MHENG HYDRAULIC ‘ a

L1
H “— 52
B
7
Vi e ;
. . %ﬁ%{; h,
s L o o
h -._“\52 ‘.\ﬁl 3 *ﬁﬂﬂ
SN b8 &y . RETAINING NUTS
METRIC FEMALE
SDM 5SDM-RN NS
ft § # & THREAD |¥FIMZTUBEOQ.D. R st DIMENSIONS EHES £ § | # & THREAD BFIME R i+ DIMENSIONS EHES
PART NO. E F D1 B 11 £ | 51| 52 MPa PART NO. E TUBE O.D. C d 52 MPa
SCM-12-10 | M12X1.5| MI10X1 6 125 | 195 | 34 14 14 NL-08LL MEX1 4 11 4 10 10
sowasts [Misws| s | a2 | a3 e |2 |2 | BV T : 2 & T
5CM-22-18 | M22X1.5| M1BX1.5 15 17 28 43 24 27 b isds Mo 2 158 2 ok
5CM-26-22 | M26X15 | M22X1.5 18 19 | 295 46 | 30 | 32 N34 M1A5L2 2 D B L
5CM-30-26 | M30X2 | M26XL5 22 21 | 345 51 | 32 | 36 18 WL-16 M16X1.5 10 A3 14 19
5CM-36-33 | M36X2 | M33x2 28 24 | 375 | 54 | 41 | 4L | o WL-18 M18XL1.5 12 15.5 12 22
5CM-45-42 M45X32 Ma2x2 35 26 | 405 | 62 55 50 L NL-22 M22X1.5 15 1 15 27 BEY
5CM-52-48 M52X2 M48x2 42 28 42 B5 60 60 NL-26 M26X1.5 18 18 18 32 L
5D0M-14-12 | M14X1.5| M12X1.5 6 17 26 41 17 17 NL-30 M30%2 22 20 22 36
SoM1s16 [MIBLS| Mioas | 10 | 17 |68 | 43 | 22 | 22 | MR wae b % T ™
5DM-20-18 | M20XLS | M18XL5 12 17 | 215 a4 | 24 | 28| s s vy = iy = 2
5DM-22-20 | M22XL5 | M20XL.5 14 19 | 31 | a9 | 27 | 27 i b a = o0
5DM-24-22 | M24X15 | M22X1.5 16 19 [305] 49 | 30 | 30 i NS:14 M14X1.5 6 16.5 6 1
5DM-30-27 | M30X2 | M27X2 20 22 | 3451 56 | 36 | 36 | Lop NS-16 M16X1.5 8 16.5 8 15
5DM-36-33 M36X2 M33X2 25 24 a7 61 41 46 . 5 N5-18 M18X1.5 10 17.5 10 22
50M-42 M42x2 Ma2x2 30 26 | 415 | B8 55 50 NS-20 M20X1.5 12 17.5 12 24
5DM-52-48 | M52X2 M48x2 38 28 | 43 74 60 60 |[3L5TEFRFS NS-23 M22X1.5 14 20.5 14 27
i BB EEREESSEEITH, WKERSEN "RN” , 05DM-30-27RN. NS-24 M24X1.5 16 20.5 16 30 R
MNote: Incaseifyouareinterested to order the adapterin complete set with cutting ring NS-30 M30%2 20 54 20 5
and nut ,it is necessary to insert suffix "RN"after our part no. forexample 50M-30-2TRN. = 36
N5-36 M3EX2 25 27 25 46
MNS-42 M42X2 30 29 30 50
MS-52 M52X2 38 325 38 60

127 128



‘ a JINHENG HYDRAULIC
wmiERE

LHEL-FEZL METRIC THREAD BITE TYPE TUBE ADAPTORS

e 1= &3
*E
CUTTING RING
RL
RS
£ = ETIMED R 7 DIMENSIONS =
PART NO. TUBE 0.D.

RL-04LL 4 e
RL-06LL 6 R
RL-08LL g LL
RL-06 6

RL-08 8

B10 78 SEFVIEERE—H

RL-12 12 B2

RL-15 15 L

RL-22 22 F

RL-28 28

RL-35 35

RL-42 42

RS-06 6

RS-08 8

RS-10 10

RS-12 12

RS-14 14 %5
RS-16 16 51

RS-20 20

RS-25 25

RS-30 30

RE-38 33

129

A
2704
DFIMRE T She
METRIC MALE 74° CONE
1Q 1Q-RN
ft 8 # & THREAD BFIMFTUBEOD. R s+ DIMENSIONS
PART NO. E F D1,D2 A B L 51 52,53
10-10 MI10X1 M10X1 5 12 12 30 12 14
10-12 M12X1.5 MI12X1.5 L] 157 | 157 | 3715 14 14
10-14 M14X1.5 M14X1.5 8 1T 1T 40 17 17
10-16 M16X1.5 M16X1.5 10 18 18 42 LT 15
1Q-18 M1EBX1.5 M1EX1.5 12 18 18 43 19 22
10-24 M24X1.5 M24X1.5 16 20 20 50 27 30
1Q-27 M27X1.5 M27TX1.5 13 20 20 50 30 32
1Q-30 M30x1.5 M30X1.5 20 23 23 57 32 36
10-30E M30X2 M30x2 20 26 26 63 32 36
10Q-33 M33X2 M33X2 22 26 26 B3 36 38
10-36 M36x2 M36X2 25 26 26 63 38 41
10-39 M3gx2 M39X2 28 26 26 B5 41 46
10-42 M42X2 MA2X2 32 285 285 T 46 50
10-45 M45K2 Ma5x2 34 285 | 285 T0 46 55
FHRHEHERSSBEITE. WAEASEM0 “RN" , HM11Q-18RN, HE{ENBS00-Q, WEHLENE200-0Q.
Mote: In case if you are interested to order the adapter in complete set with sleeveé and nut, itis necessary to insert suffix
"RN™ afterour part no, forexample 1Q-18RN, The sleeve NQ. Is NESO0-Q and the nut NOLis NE200-(.

74"

F

51

?4’Clﬂ

AFIIMRN T e =3B

A METRIC MALE 74° CONE TEE
£ 5 & & THREAD EFIMETUBEQ.D. R T DIMENSIONS
PART NO, E F G D1,D2,D3 A B C 51 |52,53,54
AQ-14 M14X1.5 | M14X1.5 | M14X1.5 8 27 | 27 27 | 14 17
AQ-16 M16XL5 | M16X1.5 | M16X1.5 10 295 495 | 285 | 16 15
AQ-18 M18X15 | M18X15| M18X1.5 12 34 34 34 19 22
AQ-22 M22X1.5 | M22X1.5 | M22X1.5 14 TS| 3ITS5|3ITS5 | 22 27
AQ-27 MZTX1.5 | M2TX1.5 | M2TX1.5 18 41.5]| 415 | 415 | 27 32
AQ-33 M33X2 | M33X2 | M33x2 22 4951 455|495 | 33 38
EEBEETEREGEEITE, IRERSEM "RN” , WI1Q-18RN, #ELSNBS00-Q, BHHSNB200-Q.
Mote: In caseif you are Interested to order the adapter in complete set with sleeve and nut, Itisnecassary toinsert suffix
"RN" after our part no.for example 1Q-18RM, The sleeve NO. is NESO0-Q and the nut NO.is NB200-Q.

130



‘a INHENG HYORAULIC /o410 7455 4t 1185k METRIC THREAD 74°CONE FLARED TUBE ADAPTORS

HE it
SLEEVE | (T :
P’
al+—
| .
$3 i/
2Q9 2Q9-RN

LBITMRENTA" SheE/ ARITSIRNTS P
METRIC MALE 74° CONE /METRIC FEMALE 74° SEAT

s o I
A )
i .ﬁl’lﬁfﬁiﬂ"f!f.ﬁl?i: \'

R 5 @ @ THREAD 7 7H2 TUBE 0.D. R & DIMENSIONS
PART NO. E F D A 5 S1 52 53

209-14 M14X1.5 M14X1.5 8 30.2 8BS 14 19 17
209-16 M1G6X1.5 M16X1.5 10 325 B 16 22 19
209-18 M18X1.5 M18%1.5 12 34 8 19 24 22
209-22 M22X1.5 M2Z31.5 14 37.0 10 22 2T 27
209-27 M27X1.5 M27TX1.5 18 41.5 10 27 32 32
209-33 M33X2 M33X2 22 49.5 13 a3 41 38
209-36 M3GX2 M3GX2 25 51.5 13 36 41 41
208-39 M39X2 M3gx2 28 55.5 13 41 46 46
209-45 M4A5x2 M45X2 34 6215 15 43 55 55

FURHERRSBETE, MNEASEN "RN™ , M209-18RN, #EFLENB500-Q, B INB200-Q.

Mote: Incase ifyou are interested to order the adapter in complete set with sleeve and nut, itis necessary toinsert suffix

"RN" after our part no. for example 209-18RN, The slegve NO. is NB500-Q and the nut NO.|s NB20D-0Q.

6Q 6Q-LN/RN
DHIIMB T4 T IRIE
METRIC MALE 74° CONE BULKHEAD
® e i i THREAD HFIMETUBE O.D. R st DIMENSIONS
PART NO. E F D1,D2 A B L 51 S2 |S3, 54
B6Q-10 M10X1 M10X1 5 115 34 52.5 14 14 14
68Q-12 M12¥1.5 MI12X1.5 b 15.7 38 297 17 17 14
BQ-16 M16K1.5 M16X1.5 10 13 41 65 19 22 19
60-18 M18X1.5 M18X1.5 12 18 43 69 24 24 22
6I0Q-22 M22X1.5 M22¥1.5 14 185 4 73.5 27 27 2T
60-24 M24X1.5 M24x1.5 16 20 45 T5 27 30 30
B6Q-27 M2TX1.5 M2TX1.5 18 20 48 T8 30 32 32
6Q-30 M30X1.5 M30X1.5 20 23 h3 87 34 36 36
bQ-33 M33K2 M33x2 22 26 55 92 36 41 38
B0-36 M3EX2 M36X2 25 25 56 94 41 41 41
6Q-39 M3gx2 M39x2 28 26 58 97 4] 46 46
BQ-42 MA2X2 M42X2 32 28.5 59 102.5 50 50 50
BO-45 MA5K2 Ma5x2 34 28.5 60 103.5 50 a0 25
EMWMFEHEITE, NNERASEN LN MeQ-l5LN; WA HEREEREITE, IHEXSEM RN , H6Q-
1ERN: M\ EHIE, HEREMSITE, EHEEMN “LN/RN" , 06Q-18LNRNHAEXENB500-Q, SEHENB200-
32-13?:3?&8#;011 are interested to order the adapter with lock nut,please insert suffx"LN" after our part no.for
exampleGQ-18LN; order the adapter with sleeve and nut, please insert suffix "RN" after our part no.for example
6Q-18RN;orderthe adapter with lock nut and sleeve and nut, insert suffx”"LN/RN" after part no.for example 6Q-
18LNRN; The sleeveND. is NBS0O-Q and the nut NO. is NB200-Q and the lock nut no. is 8C.

131

132



®

JINHENG HYDRAULIC
wmiERE

VN IEE R R TN T 25

BRSO 6149-3

METRIC74°CONE/METIRC MALE

L-SERIES ISO 6149-3

LHERT4E@Y 0% METRIC THREAD 74°CONE FLARED TUBE ADAPTORS

t 8 # & THREAD E?‘?}ED OF:E0-RING R = DIMENSIONS
PART NO. E F TUBEOD.D Fig A B L 51 52
1Q0H-14-12 | M14X1.5 | M12X1.5 8 009.3X2.4 17 11.0 | 365 17 17
1QH-16-14 | M16X1.5 | M14X1.5 10 011.3X2.4 18 11.0 | 3715 19 19
1QH-18-16 | M18X1.5 | M16X1.5 12 013.3%X2.4 18 115 a8 22 22
1QH-22-18 | M22X1.5 | M18X1.5 14 015.3%X2.4 19.5 | 125 | 405 24 27
10H-27-22 | M27X1.5 | M22X1.5 18 019.3%2.4 20 13.0 44 27 32
1QH-30-27 | M30X1.5 | MITXZ 20 023.5X3.0 23 16.0 50 32 36
1QH-33-27 | M33xX2 M2TX2 22 023.5%3.0 26 16.0 53 34 38
1QH-36-33 | M36X2 M33x2 25 029.5%3.0 26 16.0 55 41 41
10H-39-33 | M39X2 M33X2 28 029.5X3.0 26 16.0 55 41 46
10H-45-42 | M45X2 M42X2 34 038.5X3.0 285 | 16.0 | 595 50 35

) 1MMwaRESSERITE. WRENSEM "RN” MI10H-22-18/RN s B{LSNES00-0, ME{LSNBZ00-Q.

2F@5IS09974-BM4EE2, ENHEBENSIS06143-1a0%EE. Note: 1incaseifyou areinterested to order the adapter

in complete set with sleeve and nut, itis necessary toinsert suffix “RN" after our part NO., for example 1QH-22-18/RN,

The sleeve NO, is NBS00-Q and the nut ni.is NB200-Q. 2 F end is connected with IS0 9974-1 port and connected with 150
£143-1 port without retaining ring,

A

1QH9-0G

90°EE AFI T4/ 2 FI TR
AliAmEEERTISO 6149-3

90° ELBOW METRIC 74°CONE [ METIRC MALE
ADJUSTABLE STUD END L-SERIES ISO 6149-3

1QH9-0G/RN
% = # 9 THREAD | EFIMZD|ORMO-RING R s+ DIMENSIONS
PART NO. E F TUBE Q.D. Fi A B 51 52 53
10HS-14-120G | M14X1.5 | M12X1.5 8 009.3%2.4 30.2 32 14 17 17
1QHS-16-140G | M16X1.5 | M14X1.5 10 011.3X2.4 32 33:5 16 19 19
1QH9-18-160G | M18X1.5 | M16XL5 12 013.3%2.4 | 34 36 19 22 | 22
1QH9-22-180G | M22X1.5 | M18X1.5 14 015.3%x2.4 | 375 | 395 | 22 24 | 27
10HS-27-220G | M27X1.5 | M22X1.5 18 019.3%2.4 41.5 43.5 27 27 32
1QHS-30-270G | M30X1.5 | M27X2 20 023.5%3.0 45.8 50 30 32 36
1QHS-33-2T0G | M33X2 M27X2 22 023.5X3.0 495 52 33 32 41
10HS3-36-3306G | M3GX2 M33x2 25 029.5%3.0 515 54 36 41 4]
1QH9-39-330G | M39X2 | M33x2 28 029.5%3.0 | 555 | 572 | 41 a1 | 46
1QH9-45-420G | M45X2 MA2X2 34 038.5%3.0 62.5 61 45 al 50

A 1AW RHERSSRETN, WAEASEM "RN” J010HS-22-18/RN T EASNBS00-Q, MELSNBI00-0.

2FIE 5150 9974- L08R, ENEBRNSIS06149- U0 M. Note: 1incaseifyouareinterested to order the adapter

in complete set with sleeve and nut, itis necessary to insert suffic "RN™ after our part MO., for example 1QH9-22-18/RN,

The sleeve HO. is NBSO0-Q and the nut ni.is NB200-0. 2 Fendisconnected with 1S09974-1 part and connected with 150

5149-1 part without retaining ring.

RMELTAEEY O % METRIC THREAD 74°CONE FLARED TUBE ADAPTORS

BSP MALE O-RING

JINHENG HYDRAULIC
wERE

0

DFITMRE T4 E B IR ORI E
METRIC MALE 74°CONE/

1QG-RN
7 S % & THREAD ]mtl Of:M0-RING K = DIMENSIONS
PART NO. E F TUBE O.D. F i A B L 51 52
10G-14-04 | M14X1.5 | G1/4"X19 8 0111 17 11 36 19 17
10G-16-06 | M16X1.5 | G3/8"X19 10 0113 18 11.5 40 22 19
10G-18-06 | M18X1.5 | G3/8"X19 12 0113 18 11.5 40 22 22
1QG-18-08 | M18X1.5 | G1/2"X14 12 0115 18 14 43 27 22
1QG-22-08 | M22X1.5 | G1/2"X14 14 0115 19.5 14 44.5 27 27
1QG-27-12 | M2TX1.5 | G3/4"X14 18 0119 20 15.5 | 49.5 32 32
1QG-30-12 | M30X1.5 | G3/4"X14 20 0119 23 155 | 525 32 36
1QG-39-16 M39%2 G1"X11 28 0217 26 18 60 41 46
1QG-45-20 M45x2 |G1.1/4"X11 34 0222 285 20 66.5 50 35

Fr 1NWMEHERESEEITN, MEXSEM "RN” 0106-18-06RN, HEM{ENB500-Q, BE8{1E
NBZ00-0Q. 2 FEESDIN 38525804800,

MNote: 1Incase if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to
insert suffix “RN" after our part NO., for example 10G-18-06RN, The sleeve NO. is NB500-Q and the nut NO.

is NB200-0. 2F end is connected with DIN 3852 port,

A

90°EARITMREMTA T 5E/
REIMBNORERTER LR
90° ELBOW METRIC MALE 74°CONE/
BSP MALE O-RING ADJUSTABLE STUD END

1QG9-0G 1QG9-0G/RN
% 5 # fr THREAD  [@F/MED|OR:EIO-RING R = DIMENSIONS

PART NO. E F TUBE 0.D. Fit Al B| s1]|5s2 | s3
10G9-14-040G M14X1.5 | G1/4"%19 & 0111 29 | 31.3] 14 19 17
1QG9-16-060G M16X1.5 | G3/8"X19 10 0113 33 |358| 16 | 22 | 19
1QG9-18-060G M18X1.5 | G3/8"X19 12 0113 34 | 36.8] 19 22 22
1QG9-18-080G M18X15 | G1/2"X14 12 0115 36 (432 22 | 271 | 22
1QG9-22-080G M22X1.5 | G1/2"X14 14 0115 | 37.8|43.2| 22 | 27 | 27
10G9-27-120G M27X1.5 | G3/4"X14 18 0119 |41.5|49.3| 27 | 32 | 32
10G9-30-120G M30X1.5 | G3/4"X14 20 0119 45 8| 52 a0 32 36
1QG9-39-1606G M39X2 | G1"X1l 28 0217 |555| 58| 41| 41 | 46
10G9-45-200G MasSX2 | G1.1/4"X11 34 Q222 62.5] 63 48 50 a5

E JOWHEARERESERITH, WKERSEM "RNT 01069-22-0830G/RN AR ENBS00-Q, MEKS
2 FEES0IM 3852 OHEC
Mote: 1 In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert
suffixn. “RN"  after aur part NO., forexample 1QG9-22-080G/RN, The sleeve NO. is NB500-Q and the nut NO.

is NB200-Q. 2 F end is connected with DIN 3852 port.

MB200-Q.

133

134



‘a INHENG HYORAULIC /o410 7455 4t 1185k METRIC THREAD 74°CONE FLARED TUBE ADAPTORS

L HHESLEEV JF*“”T

1Q0 ~ 1QO-RN

AEIIMBEIT4° ShE/SAEIMBEREOR MR R 5ISO 11926-3
METRIC MALE 74° CONE /SAE O-RING BOSS L-SERIES I1SO 11926-3

% B ¥ & THREAD EFIMED |oE@O-RING R 1 DIMENSIONS
PART NO. E F TUBE Q.D. Fis A B L 31 1| 53
1Q0-16-06 M1GX1.5 9/16"X18 10 Q906 18 99 35 17 19
1Q0-18-08 M18K1.5 3/4"X16 12 0908 18 LY 3T 22 22
1Q0-22-10 M22X1.5 T/8"x14 14 0910 195 | 12.7 | 42 a7 27
1Q0-27-12 M2TX1.5 1.1/16"X12 18 0912 20 151 ] 46 32 32
100-30-12 M30X1.5 1.1/16"X12 20 0912 23 151 ] 49 32 36
1Q0-33-16 M33x2 1.5/16"X12 22 0916 26 | 151 | 54 | 38 38
100-39-16 M30x2 L5/16"X12 28 0916 26 15.1 58 41 46
1Q0-42-20 MAZX2 1.5/8"X12 32 0920 285 | 151 58 50 50

ENRMEHRREGREITN, NAEKSSM “RN", N1Q0-22-10RN, #HERSNB500-Q, REHESNBI00-Q.
Mote:In case if you are interested to order the adapter in complete set with sleeve and nut it is necessary to insert suffix
"RN™ after our part no.for example 1Q0-22-10RN, The sleeve NO, is NBS00-Q and the nut NO, |s NB200-Q.

90° ELFIIMBATA I8/ SAEIMBLH OFZE

BEARFISO 11926-3
90° ELBOW METRIC MALE 7T4°CONE/
SAE O-RING BOSS L-SERIES 150 11926-3

- F i
52 "'E_:]'T
L)
> Cé/,ui

—_——

1Q09-0G  1Q09-0G/RN

ft 5 # 4 THREAD |75 D|OR:MO-RING R+ DIMENSIONS

PART NO. E F TUBE O.D. Fil A B 51 52 53
1Q09-16-06 M16X1.5 | 9/16"X18 10 0806 32 |318| 16 19 19
1Q09-18-08 M18X1.5 | 3/4"X16 12 0908 34 1368 19 24 22
1005-22-10 M22X1.5 | T7/8"X14 14 Q910 375 44 | 22 27 27
1Q09-27-12 M27X1.5 | 1.1/16"X14 18 0912 415 51 | 27 32 32
1Gi09-30-12 M30X15 | 1.1/2"X12 20 0912 458| 53 | 30 32 38
1Q09-33-16 M33X2 | 1,5/16"X12 22 0916 51 |545| 33 41 | 38
1009-36-16 M3okK2 1.5/16"X12 28 0916 2551595 41 41 46
1Q09-42-20 M42X2 1.5/8"X12 32 0920 585| 59 | 41 50 50

HElNREEERESERITE, MRTASENRN, M1009-22-10RN, HEASNESOD

#EHSNB200-Q. 2FE5150 11926- U 0AEE.

Mate: In case ifyou are interested to arder the adapter in complete set with sleeve and nut , it is necessany toinsert

suffix "RN" after our part no.for example 1008-22- 10RN, The sleeve NO. is MBS00-Q and the nut NO, is NE200-Q.

2 Fend is connected with 150 11926-1 port.

HE A2
SLEEVE
Al
s3 i)
1QN 1QN-RN
PHIGMREI T Hhe /T B IMEL

METRIC MALE 74° CONE/NPT MALE

£ 8 % & THREAD ¥ F7H% TUBEO.D. R s+ DIMENSIONS
PART NO. E F D A B L 51 S2
1QN-12-02 M12X15 | Z1/8"X27 6 157 | 105 | 32 14 14
1QN-12-04 M12X15 | Z1/4"X18 6 157 | 15 | 365 14 14
1QN-14-02 M14XL5 | Z1/8"X27 8 17 | 105 | 33 17 17
1QN-14-04 M14X15 | Z1/4"X18 8 17 15 38 17 17
1QN-16-04 M16XL5 | Z1/4"X18 10 18 15 39 17 19
1QN-18-04 M18X15 | Z1/4"X18 12 18 15 39 19 22
1QN-18-06 M18XL5 | Z3/8"X18 12 18 16 40 19 22
1QN-18-08 M18x15 | Z1/2'x14 12 18 | 195 | 455 | 22 22
1QN-22-06 M22XL5 | Z3/8"X18 14 195 | 16 | 435 | 24 27
1QN-22-08 M22X15 | Z1/2°X14 14 195 | 195 | 47 24 27
1QN-27-06 M27XL5 | Z3/8"X18 18 20 | 165 | 48 30 32
1QN-27-08 M27XL5 | Z1/2"X14 18 20 | 195 | 495 30 32
1QN-27-12 M2TXLS5 | Z3/4"X14 18 20 | 195 | 495 30 32
1QN-27-16 M27X15 | 21'X115 18 20 | 255 | 565 | 36 32
1QN-30-12 M30XL5 | Z3/4"X14 20 23 | 195 | 535 32 36
1QN-33-12 M33%2 23/4"X14 2 26 | 195 | 565 36 38
1QN-36-16 M36X2 Z1"X11.5 25 26 | 255 | 63 41 a1
1QN-39-16 M39X2 Z1"X11.5 28 26 | 255 | 645 | 41 46
1QN-45-16 Ma5X2 Z1"X11.5 34 285 | 255 | 67 46 55
1QN-45-20 Ma5%2  |21.1/4"X11.5) 34 285 | 265 | 68 46 55
1QN-45-24 M45x2  |21.1/2"X1L.5) 34 785 | 275 | 71 50 55
1QN-52-20 M52X2  |Z1.1/4"X11.5) 42 0 | 265 | 715 | 55 60

EOMBEHEREGRERITN, WAGHKSSM RN , MI10N-22-08RN, HRSNBS00-Q, B ENB200-Q.
Mote: In case if you are interested to order the adapter in complete set with sleeve and nut, itis necessary toinsert suffix

“RN" afterour part no. for example 10N-22-08RN, The sleeve NO. is NBS00-Q and the nut NO.is NBE200-Q.

135

136




JINHENG HYDRAULIC
wmiERE

I,

M

LHERT4E@Y 0% METRIC THREAD 74°CONE FLARED TUBE ADAPTORS

LRBIFMRNTA° FhiE/RIEE MR

T4 [
- __1)@

1QN9S 1QNS-RN

90°E L HIIMRLI T4 JheE/ o E S REY

90° ELBOW METRIC MALE 74° CONE / NPT MALE

£ & 8 & THREAD /s TUBEO.D. R s DIMENSIONS
PART NO. E F D A B Sl 52

10N9-12-02 M12X1.5 21/8"K27 L] 255 21 11 14
10QNS-12-04 M12X1.5 Z1/4"%18 6 28 255 14 14
1QNS-14-02 M14x1.5 Z1/8"%2T 8 30,2 235 14 17
1QN9-14-04 M14X1.5 Z1/4"X18 8 30.2 255 14 17
1QN9-16-04 M16X1.5 Z1/4"%18 10 32 26.5 16 19
10N9-16-08 M16X1.5 Z1/2"%14 10 36 36T 22 19
10QN9-18-04 M18XL1.5 71/4"%18 12 34 28.7 19 22
10N9-18-06 M18X1.5 Z3/8"K18 12 34 31 19 22
1QNS-22-06 M22%1.5 Z23/8"X18 14 315 32.5 22 27
1QNS9-22-08 M22¥1.5 Z1/2"K14 14 375 38T 2 27
1QNS-27-08 M2TX1.5 Z1/2"¥14 18 41.5 40 27 32
10NS9-27-12 M2TX1.5 Z3/4"X14 18 41.5 44 27 32
10N9-27-16 M27XL.5 71"X11.5 18 45 49 33 32
10QN9-30-12 M30X1.5 Z3/4"K14 20 45.8 45 30 36
1QN9-36-16 M36X2 71"X11.5 25 51.5 515 36 41
IQN9-39-16 M39x2 Z1"X11.5 28 55.5 54.5 41 46
1QN9-42-20 Ma2x2 21.1/4"X11.5 32 57 54.5 41 50
10NS-45-16 M45X2 Z1"X11.5 34 62.5 58.5 48 55
1QN2-45-20 M4SX2 Z1.1/4"K11.5 34 62.5 58.5 48 55
1QN9-45-24 MaASK2 Z1.1/2"X11.5 34 62.5 63 48 55

74wl ¢ METRIC MALE 74° CONE/ BSPT MALE
1QT-SP 1QT-SP/RN
£ s #® B THREAD WFJh2 TUBEO.D. R _DIMENSIONS

PART NO. E F D A B L 51 52
1QT-10-025P M10X1 R1/8"X28 5 12 10 28 12 14
1QT-14-045P |  M14X1.5 R1/4"X19 8 17 145 | 32 17 17
1QT-14-065P M14X1.5 R3/8"X19 8 17 15 38 17 17
1QT-16-045P | MI16X1.5 R1/4"X19 10 18 14.5 38.5 17 19
1QT-16-065P M16X1.5 R3/8"X19 10 18 15 39 17 19
1QT-18-065P M18X1.5 R3/8"X19 27 18 15 29 19 22
1QT-22-085P M22X1.5 R1/2"X14 14 19.5 20 47.5 24 27
1QT-27-085P M27X1.5 R1/2"X14 18 20 20 50 30 32
1QT-27-125P | M27X1.5 R3/4"X14 18 20 20 50 30 32
1QT-30-125P | M30X1.5 R3/4"X14 20 23 20 54 32 36
10QT-33-125P M33X2 R3/4"X14 22 26 20 =T 36 38
1QT-36-165P M36X2 R1"X11 25 26 255 61.5 38 41
1QT-39-165P M35X2 R1"X11 28 26 25.5 64.5 41 46
1QT-45-205P M45X2 R1.1/4"X11 34 285 | 265 68 46 35
AMBEEFHERSSRERITE, WREASEN RN HO1QT-22-085P/RN, HEALSNBS00-Q, EEMASNBEI00-Q.
Note: In caseifl you are interested to aorder the adapterin complete set with sleeve and nut, itis necessary to insert suffix
"RN" after our part no.,forexample 1QT-22-085P/RN, The sleeve NO. is NBS00-Q and the nut NQ.is NB200-0.

90°Z AFITMRENTA T/

EMWHAERESEEITH, WINERSED "RNT , H1QNI-22-08RN, #EMSNES00-Q, MEHSNB200-Q.
Mote: in caseif you are interested to aorder the adapterin complete set with sleeve and nut, Itis necassary toinsert
suffix "RN"™ after our part no,.foréxample 10N9-22-08RN, The sléesve NO, is NB500-0Q and the nut NO. js NB200-0,

RHEIMEN

90° ELBOW METRIC MALE 74°

CONE / BSPT MALE

1QT9-SP
£ 5 ¥ & THREAD 752 TUBEO.D, R & DIMENSIONS
PART NO. E F D A B 51 52

10T9-14-04SP | M14X15 | R1/4"X19 8 30.2 255 14 17
1079-16-045P | M16x15 | R1/4"X19 10 32 26.5 16 19
1QT9-18-065P | MI8XLS | R3/8"X19 12 34 79 19 22
1QT9-18-085P | M18X15 | R1/2"X14 12 36 36 22 22
1Q79-22-085P | M22x15 | R1/2"X14 14 375 36 22 27
10T9-27-125P | M27Xx15 | R3/4"X14 18 a5 44 27 32
10T9-30-12SP | M30X15 | R3/4"X14 20 458 | 455 30 36
1QT9-33-125P M33X2 R3/4"X14 2 495 | 415 33 38
10T9-36-165P M36X2 R1"X11 25 51.5 52 36 41
1QT9-39-165P M39X2 R1"X11 28 555 55.2 41 46
1QT9-45-205P M45X2 | RL1/4"X11 34 62.5 61 48 55

EHmEA R LRSI N, MREREREN RN , WIOT9-22-085P /RN, HERBENB500-Q, &L ENB200-0-
Note; In case if yow are interested to order the adapter in complete set with sleeve and nut, itis necessary toinsert suffix

"RN" after our part no. forexample 10T9-22-085P /RN, The sleave NO, is NBSOE-0 and the nut NO.is NB200-0,

137

138



‘a JINHENG HYORAULIC o3 74°68 4 185k METRIC THREAD 74°CONE FLARED TUBE ADAPTORS AAZEBA60EFERES JAPANESE BSP THREAD 60°CONE FITTING 'HENE HYDRAULI ‘a|

-{ :42 NB200-Q

awl74° B OXXEELIEHGB/T 5647
n METRIC 74° CONE FLARED NUT GB/T 5647 1S
ki u.'.
PAEET ﬁn. L ;HREAD ’E?ﬂrﬁfgss 0.D. R Lx:r nlMENSIG;I: 60 ( BAEBIMERG0° M
NB200-10Q M10X1 5 135 14 JIS GAS MALE 60° CONE
NEB200-12Q M12X1.5 6 16.5 14
NB200-140Q M14X1.5 8 18,5 17 ft S # 4@ THREAD R s+ DIMENSIONS
NB200-16Q M16X1.5 10 19.5 19 PART NO. E F A B L S1
NEB200-22Q M22x1.5 14 19.5 27 15-02 G1/8"X28 G1/8"X28 12 12 30 14
NB200-240Q M24X1.5 16 20 30 15-04 G1/4"X19 G1/4"X19 16 16 38 17
NB200-27Q M27X1.5 18 20 32 15-06 G3/8"X19 G3/8"X19 18 18 42 19
NB200-30Q M30X1.5 20 24.5 36 1508 G1/2"X14 G1/2"X14 20 20 48 22
NB200-30EQ M30X2 20 24.5 36 1512 G3/4"X14 63/4"X14 22 22 54 30
NB200-330 Lot = 2 28 15-16 G1"X11 61"X11 24 24 59 36
:E;ggg:g Ezzii i: 1?1 ::é 15-20 G1.1/4"X11 G1.1/4"K11 2T 27 &7 46
NE200.420 e s e s 1524 G1.1/2"X11 G1.1/2"X11 27 27 69 50
NB200-45Q MASKD 34 29 55 15-32 G2"X11 G2"X11 30 30 T 65
S NB500-Q L
A B
ol afl74” B OXEIELFEGB/T5646
METRIC 74° CONE FLARED SLEEVE GB/T 5646 ﬁ’f«*’f’?%f_' 156G
60° fLd =TT U

NB500-050 5 8.7 10 NB200-10Q - JIS GAS MALE 60° CONE/ BSPP MALE O-RING

NB500-06Q 6 10.3 11 NB200-120

NB500-08Q 8 12.1 12 NB200-14Q # 8 # & THREAD O EO-RING R <+ DIMENSIONS

NB500-10Q 10 14.1 13 NB200-160Q PART NO. E F Fi% A B L S1

NBS00-140 14 M.1 15 NB200-220 15G-02 G1/8"X28 G1/8"X28 0011 12 95 29 14

NB500-160 16 271 16 NB200-240 15G-04 G1/4"X19 G1/4"X19 0111 16 11 33.5 19

NB500-18Q 18 25.1 17 NB200-27Q 15G-06 G3/8"X19 G3/8"X19 0113 18 11.5 37.5 22

NB500-200 20 28.1 18 NB200-30Q. NB200-30EQ 15G-08 G1/2"X14 G1/2"X14 0115 20 14 44 27

NB500-220 37 0.5 20 NB200-230 156G-12 G3/4"X14 G3/4"%14 0119 22 15.5 48.5 32

NBS500-25Q 75 335 20 NB200-36Q 15G-16 G1"X11 G1"X11 0217 24 18 55 41

NB500-280 98 365 o NB200-390 15620 | GLI/4"X11 | GL1/4"X11 0222 27 20 59 50

NE500-320 55 S5le 53 NB200420 15624 | GL1P™11 | GL1/2"K11 0224 27 215 62.5 55

NB500-34Q 24 425 73 NB200-45Q i#: FESDIN3852HO4EEL. F end is connected with DIN 3852 port.

139 140



| ‘ a JINHENG HYDRAULIC
wmiERE

TLAARAR

HEZERN60"RM P E% JAPANESE BSP THREAD 60°CONE FITTING

15G9-0G

90° EHAEEIMRL60° b/
EEIIMRNOEETERER

E-ﬂ"()‘é‘

1ST-SP

HEZERN60° M P 3{1E% JAPANESE BSP THREAD 60°CONE FITTING

B EIMREO60° JhE/RHEEIMBY
JIS GAS MALE 60° CONE/ BSPT MALE

(5 o 90° ELBOW JIS GAS MALE 60° CONE/
: BSPP MALE O-RING ADJUSTABLE STUD END
= ¥ & THREAD ORZEO-RING R 5+ DIMENSIONS

PART NO. E F Fidk A B S1 s2
15GS-020G | G1/8"X28 G1/8"X28 0011 21.8 26.2 11 14
15G9-040G | G1/4"X19 | G1/4"X19 0111 28 313 14 19
15G9-060G | G3/8"X19 | G3/8"X19 0113 29 35.8 16 22
15G9-080G | G1/2"X14 G1/2"X14 0115 38 43.2 22 2
15G9-120G | G3/4"X14 G3/4"X14 0119 43 49.3 27 32
15G9-160G | G1"X11 G1"X11 0217 48.5 53 33 41
15G9-200G | G1.1/4"X11 | G1.1/4"X11 0222 57 59 41 50
15G9-240G | G1.1/2"X11 | G1.1/2"X11 0224 61 65 48 55
#: Fi#5SDIN3SS2:hO4EAD. F end is connected with DIN 3852 port.

ol

1ST4-SP

45° TEFEEIMENC0°IM i, HEEIMEL

45" ELBOw JIS GAS MALE 60° CONE/ BSPT MALE

£ 5

# & THREAD R & DIMENSIONS
PART NO. E F A B | 81
15T4-025F | G1/8"¥28 | R1/8"X28 19 | 17 | 1
15T4-02-045P | G1/8"28 | R1/4"X19 198 | 21 | 14
15T4-04SF | G1/4"X19 | R1/4"X19 24 | 21 | 14
157T4-04-025P | Gl/a"x19 | R1/8"X28 245 | 175 | 14
15T4-04-065P | Gl/a"x19 | R3/8"X19 245 | 23 | 16
15T4-04-085P | G1/4"x19 | R1/2"X14 265 | 295 | 22
15T4-065P | G3/8"X19 | R3/8"X19 26 | 23 | 16
15T4-06-045P | G3/8"X19 | R1/4"X19 6 | 21 | 16
15T4-06-085P | G3/8"X19 | R1/2"X14 285 | 205 | 22
15T4-085F | G1/2"X14 | R1/2"X14 31 |295| 22
1ST4-08-065P | G1/2"X14 | R3/8"X19 305 | 25 | 22
1ST4-125P | G3/4"X14 | R3/4"X14 345 | 305 | 27
1ST4-12-085P | G3/4"x14 | R1/2"X14 34 | 30 | 27
15T4-165P G1"X11 R1"X11 315 | 38 | 33
1ST4-16-12SP | G1"X11 R3/4"X14 375 | 32 | 33
1ST4-208P | Gl.1/4"X11 | RI.1/A"X11 45| 43 | &1
15T4-245F | 61.1/2"x11 | RL1/2"X11 415 | a1 | a8
15T4-325P G2"X11 R2"X11 54 | 53 | 63

g = # & THREAD R 7 DIMENSIONS
PART NO. E F A B L 51
15T-025P G1/8"X28 R1/8"X2B 12 10 28 14
1ST-02-045P G1/8"X28 R1/4"X19 12 14.5 32.5 17
1ST-045P G1/4"X19 R1/4"X19 16 14.5 36.5 17
1ST-04-025P G1/4"X19 R1/8"X28 16 10 32 17
1ST-04-065P G1/4"X19 R3/8"X19 16 15 37 19
1ST-04-085P G1/4"X19 R1/2"X14 16 20 44 22
1ST-06-045P G3/8"X19 R1/4"X19 18 14.5 40.5 22
1ST-06-085P G3/8"X19 R1/2"X14 18 20 46 22
1ST-085P G1/2"X14 R1/2"X14 20 20 48 22
1ST-08-045P G1/2"X14 R1/4"X19 20 14.5 425 22
15T-08-065P G1/2"X14 R3/8"X19 20 15 45 27
15T-08-125P G1/2"X14 R3/4"X14 20 20 50 27
1ST-125P G3/4"X14 R3/4"X14 22 20 53 30
15T-12-085P G3/4"X14 R1/2"X14 22 20 52 30
15T-12-165P G3/4"X14 R1"X11 22 25.5 58.5 36
1ST-165P G1"X11 R1"X11 24 255 62.5 41
1ST-16-125P G1"X11 R3/4"X14 24 20 57 41
15T-205P G1.1/4"X11 R1.1/4"X11 27 265 66 46
1ST-245P G1.1/2"X11 R1.1/2"X11 27 26.5 67.5 50
1ST-325P G2"X11 R2"X11 30 30 77 65

141

142



‘a JINHENE HYORADLIC o i@ ivG0° @ 44183 JAPANESE BSP THREAD 60°CONE FITTING ZERY60EPH1E% BSP THREAD 60°CONE ADAPTORS NHENG HIDRAILI ‘a|

143

L
A B
F ol S 7 18
il | isrose 0 i 4 | O REIMRRE0° WS ARWERAARES
—z s BSPP MALE DOUBLE USE FOR 60° SEAT
s0: (O 1 y i A ; OR BONDED SEAL
| Doy 90" BEAREIMBL60°IMH/ HREIMEL 5
A 90° ELBOW JIs GAS MALE 60°CONE /BSPT MALE

fft S & THREAD R < DIMENSIONS
PART NO, E F A B L 51
1B-02 G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04 G1/8"K28 G1/4"x19 10 12 28 19
1B-02-06 G1/8"K28 G3/8"X19 10 135 31.5 22
= 5 ix THREAD RN PIMENSIONS 18-02-08 G1/8"X28 G1/2'X14 10 16 36 27
PART NO. E F A B 51 1B-04 G1/4"X19 G1/4"X19 12 12 30 19
15T9-025P G1/8"X28 R1/8"X28 21.8 21 11 1B-04-08 G1/4"X19 G1/2"X14 12 16 38 27
15T9-02-04SP G1/8"X28 R1/4"X19 243 255 14 1B-04-10 G1/4"X19 G5/8"X14 12 175 395 30
AETROAEE GL/4"X19 RL/4"X19 59 265 14 1B-06 G3/8"%X19 G3/8"X19 13.5 135 33 2
15T9-04-025P G1/4"X19 R1/8"%28 29 23.5 14 s 53/ XL I XA = s = =
1B-06-10 G3/8"X19 G5/8"X14 13.5 17.5 42 30
1579-04-065P 61/4°A19 R3/8"X19 30 28.5 16 18-06-12 G3/8"X19 G3/4"X14 135 18.5 43 2
15T9-06-045P G3/8"X19 R1/4"X19 315 26.5 16 1B-08 G1/2"X14 G1/2"%X14 16 16 42 27
15T9-06-085P G3/8"X19 R1/2"X14 36 36 22 1B-08-10 G1/2"X14 G5/8"X14 16 17.5 435 30
15T9-08SP G1/2"X14 R1/2"X14 18 15 22 1B-08-12 G1/2"%14 G3/4"%14 16 18.5 455 32
1ST9-08-D65P G1/2"X14 R3/8"X19 38 325 22 18:19 G5/0"X14 G54 X14 17:5 1(.5 435 e
: . 18-10-12 G5/8"X14 G3/4"X14 17.5 185 47 32
1579-08-125P G1/2"X14 R3/4"¥14 41 43.5 27 1B-10-16 G5/8"X14 G1"X11 175 205 51.5 a1
15T9-125P G3/4"X14 R3/4"X14 43 435 27 1B-12 G3/4"X14 G3/4"X14 185 185 48 2
1579-12-085P G3/4"x14 R1/2"X14 43 39.5 27 1B-12-16 G3/4"%X14 G1"X11 18.5 205 52.5 41
15T9-12-165P G3/4"X14 R1"%11 a7 50 33 1B-12-20 G3/4"X14 G1.1/4"X11 18.5 20.5 56 50
1STO-165P G1%11 RO 455 &6 2 1B-16 G1"X11 G1"X11 20.5 205 54 41
e e T = e i 1B-16-20 G1"X11 G1.1/4"X11 205 205 58 50
1B-16-24 G1"X11 G1.1/2"%11 20.5 23 60.5 55
1579-245P G1.1/2"X11 R1.1/2"X11 61 62.5 48 18-20 GL1/4"X11 G1.1/4"X11 205 20,5 58 50
15T9-325P G2"X11 R2"X11 732 74.2 63 1B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55
1B-24 GL.1/2"X11 GL.1/2"X11 23 23 63 55
1B-24-32 GL.1/2"X11 G2"X11 23 25.5 66.5 70
18-32 G2"X11 G2"X11 25.5 25.5 68 70
1B-40 G2.1/2"X11 G2.1/2"X11 32 32 81 90
1B-48 G3"X11 G3"X11 36 36 92 100

144




JINHENG HYDRAULIC o
‘a RERE RERNCOHEmMPEEL BSPTHREAD 60°CONE ADAPTORS
F
! 1B9
|
AT ] 1™
i I I_,.a BDG Eﬁﬁ%ﬂﬁﬁﬂ“ P‘]ﬁ
_)@ 90° ELBOW BSPP MALE 60° SEAT
#® 3 8 £ THREAD R <+ DIMENSIONS
PART NO. E F A B s1
1B9-02 G1/8"X28 G1/8"X28 19.8 19.8 11
1B9-02-04 G1/8"%28 G1/4"X19 23 25 14
1B9-04 G1/4"X19 G1/4"X19 24.5 24.5 14
189-04-06 G1/4"K19 G3/8"X19 26.5 215 16
1B9-06 G3/8"X19 G3/8"X19 27.5 27.5 16
1B9-08 G1/2"X14 G1/2"X14 34.5 3245 22
189-08-12 G1/2"X14 G3/4" K14 7.5 40 27
1B9-10 G5/8"X14 G5/8"X14 35 35 22
1B9-10-12 G5/8"%14 G3/4"X14 37.5 39 30
1B89-12 G3/4"X14 G3/4"X14 40 40 27
1B9-12-16 G3/4"X14 G1"X11 435 46 33
1B9-16 G1"X11 G1"X11 46 46 33
1B9-16-20 G1"X11 G1.1/4"X11 50.5 50.5 41
1B9-20 G1.1/4"X11 G1.1/4"X11 50.5 50.5 41
1B9-20-24 G1.1/4"X11 61.1/2"X11 54.5 57.5 48
189-24 G1.1/2"X11 G1.1/2"X11 57.5 57.5 48
1B9-32 G2"X11 G2"X11 68 (5] 63
AB
[£x]
o] E}w HEIMELG0° AR iE
& BSPP MALE 60° SEAT TEE
o= 88 4 THREAD R T DIMENSIONS
PART NO. E F G A B C s1
AB-0O2 G1/B"X28 G1/B"%28 G1/8"X28 19.8 19.8 19.8 11
AB-04 G1/4"X19 G1/4"X19 G1/4"X19 24.5 245 24.5 14
AB-04-06-04 | G1/4"X19 G3/8"X19 G1/4"X19 26.5 27.5 26.5 16
AB-06-04-06 G3/8"%19 G1/4"%19 G3/8"X19 27.5 26.5 27.5 16
AB-0OB G3/8"X19 G3/8"X19 G3/8"X19 27.5 27.5 275 16
AB-08-06-08 | G1/2"X14 G3/8"X19 G1/2"%14 345 31 34,5 22
AB-(8 GL1/2"K14 GLl/2"X14 Glf?"}(l-‘l 34.5 34.5 34.5 22
AB-10 G5/8"K14 G5/8"X14 G5/8"X14 35 25 35 22
AB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 40 40 27
AB-12-1h-12 G3/4"%14 G1"X11 G3/4"%14 43.5 46 43.5 33
AB-16-12-16 G1"X11 G3/4"K14 G1"X11 46 435 16 33
AB-16 G1"X11 G1"X11 G1"X11 46 46 46 33
AB-20 Gl.1/4"X11 Gl.1/4"X11 G1.1/4"X11 50.5 50.5 £0.5 41
AB-24 G1.1/2"X11 GL.1/2"%11 G1.1/2"X11 57.5 57.5 57.5 48
AB-32 G2"X11 G2"X11 G2"X11 725 72.5 72.5 63

145

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

B
y 2B
<
REIBRW60° A RREEAEH/
EW& T mmikame0° Shig
BSP MALE DOUBLE USE FOR 60° SEAT

31702 OR BONDED SEAL/BSP FEMALEG0® CONE

fft 5 # & THREAD R s+ DIMENSIONS
PART NO. E F A B L s1 | s2
2B-02 G1/8"%28 G1/8"X28 10 5.5 25 14 14
2B-02-04 G1/8"%28 G1/4"X19 10 5.5 2T 14 19
2B-04 Gl/4"X19 G1/4"¥19 12 55 29 19 19
2B-04-06 G1/4"X19 G3/8"X19 12 63 | 305 | 19 22
2B-04-08 G1/4"%19 G1/2"X14 12 1.5 32 19 27
2B-06-08 G3/8"X19 G1/2"X14 13.5 7.5 355 22 27
2B-06-10 G3/8"X19 G5/8"X14 135 9.5 36 22 30
2808 G1/2"X14 612x14 | 16 | 75 | 40 | 27 | 27
2B-08-06 Gl/2"X14 G3/8"X19 16 6.3 385 27 22
2B-08-12 G1/2"¥14 G3/4"X14 16 10.9 41 27 32
2B-10 G5/3"X14 G5/B"X14 17.5 9.5 42 30 20
2B-10-08 G5/8"%14 G1/2"X14 175 7.5 41.5 30 27
2B-10-12 G5/8"X14 G3/4"X14 17.5 10.9 425 30 32
2B-12 G3/4"X14 G3/4"%14 18.5 10.9 44.5 32 32
2B-12-10 G3/4"%14 G5/8"X14 18.5 o5 44 32 a0
2B-12-16 G3/4"%14 G1"X11 18.5 11.7 46 32 41
2B-16 GI"X11 G1"X11 20.5 11.7 50 41 41
2B-16-12 G1"¥11 G3/4"¥14 20.5 10.9 49 41 32
2B-16-20 G1"x11 G1.1/4"X11 20.5 11 53 41 50
2B-20 G1.1/4"X11 GL1/4"%11 20.5 il 55 50 50
2B-20-16 G1.1/4"X11 Gixir | 205 | 17| 52 | s0 | a1
2B-20-24 6L.1/4"11 | erizmay | 205 | 13 | s55 | s0 | ss
2B-24 GLl.1/2"X11 GL1/2"X11 23 13 58 55 55
2B-32 G2"%11 G2"X11 25.5 16 b3.5 70 Ta

146



‘ a JINHENG HYDRAULIC
wmiERE

REWN60° M T L BSP THREAD 60°CONE ADAPTORS

E? e 2B4
4 45° BWEEIMRN60° AH/BERRW60° St
W@ T 45° ELBOW BSP MALE 60°
| AT SEAT / BSP FEMALE 60° CONE
= # £ THREAD R it DIMENSIONS
PART NO. E F A B | 51 | s2
2B4-04 G1/4"X19 G1/4"X19 20.3 5.5 14 19
2B4-04-06 | G1/4'x19 | G3/8"X19 203 | 63 | 14 | 22
2B4-06 G3/8"X19 | G3/8"X19 2 | 63| 16 | 2
2B4-06-04 | G3/8"x19 | G1/4"X19 22 | 55 | 168 | 19
284-08 G1/2'x14 | G1/2"X14 21 | 75 | 22 | 27
2B4-0806 | G1/2'x14 | 63/8"x19 20 | &3 | 2 | a2
2B4-10 G5/8"X14 | G5/8"X14 285 | 95 | 22 | 30
2B4-10-08 G5/8"X14 G1/2"X14 285 1.5 22 27
2B4-12 G3/4"X14 | G3/4"X14 31 | 109 | 27 32
2B4-16 G1"X11 G1"X11 35 | 117 | 33 | 4
2B4-20 | GL1/4"X11 |G1.1/4"X11 35| 11 | 41 | s0
2B4-24 | GL1/2'X11 |G1.1/2"X11 a4 | 13 | 48 | 55
2B4-32 G2"X11 G2"K11 51 16 63 70
W 2B9
TS
i % 90° BREIMRLU60° M/ KERRM60° JMiE
m,@ = 90° ELBOW BSPP MALE 60°
= SEAT/BSPP FEMALE 60° CONE
#8 & & THREAD R = DIMENSIONS
PART NO. E F A B 51 52
289-02 Gl/8"X28 Gl/a8"X28 19.8 5.5 11 14
2B9-04 G1/4"X19 G1/4"X19 24.5 3.5 14 19
2B9-04-06 Gl/4"X19 G3/8"X19 25 6.3 14 22
289-06 G3/8"X19 | G3/8"X19 27.5 6.3 16 22
2B5-06-04 G3/8"X19 G1/4"X19 27.5 5.5 16 19
2B9-08 G1/2"X14 G1/2"X14 34.5 L 22 27
2B5-08-06 G1/2"%14 G3/8"¥19 34.5 6.3 22 22
2B%-10 G5/8"X14 G5/8"X14 35 9.5 22 30
2B9-10-08 G5/8"X14 G1/2"X14 35 T:5 22 27
2B89-12 G3/4"X14 G3/4"X14 40 10.9 27 32
289-16 G1"X11 G1"X11 46 11.7 33 41
2B9-20 G1.1/4"X11 G1.1/4"x11 50.5 11 41 50
2B89-24 G1.1/2"¥11 G1.1/2"X11 57.5 13 48 25
7B9-32 G2"X11 G2"X11 725 16 63 70

147

. % : BB
P Z| n'.'|_|'_
HEEIMRNCO°AH/EENRL60°I =
60° )| Jeor BSPP MALE 60° SEAT/ BSPP FEMALE 60°
A C CONE BRANCH TEE

# 2 i & THREAD R <+ DIMENSIONS

PART NO. E F G A B C S1 52
BB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 5.5 19.8 11 14
BB-04 G1/4"X19 G1/4"X19 G1/a"X19 | 245 55 | 245 14 19
BB-06 G3/8"X19 G3/8"X19 G3/8"X19 27.5 6.3 27.5 16 22
BB-08 G1/2"X14 G1/2"X14 G1/2"X14 | 345 1.5 34.5 22 27
BB-12 G3/4"X14 G3/4"%14 G3/4"X14 40 10.9 40 27 32
BB-16 G1"X11 G1"%11 G1"X11 46 11.7 46 33 41
BB-20 G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 50.5 11 50.5 41 50
BB-24 G1.1/2"X11 | GL1/2"x11 | G1.1/2"X11 | 57.5 13 57.5 48 55
BB-32 G2"X11 G2"X11 G2"X11 725 16 72.5 63 70

0°
1= CB
it
i 2
g A1 e HEIMRL60° 5/ EEAERE0° SHiE=iE
ﬂ}j‘u BSPP MALE 60° SEAT / BSPP FEMALE 60°
AR CONE RUN TEE

&= 8 £ THREAD R <+ DIMENSIONS

PART NO. E F G A B c 51 s2
CB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 19.5 55 11 14
CB-04 G1/4"X19 G1/4"X189 G1/4"X19 25 25 5.5 14 19
CB-06 G3/8"X19 G3/8"X19 G3/8"X19 | 275 | 275 6.3 16 22
CB-08 G1/2"X14 G1/2"X14 G1/2"X14 | 345 | 345 1.5 22 27
CB-10 G5/6"X14 G5/8"X14 GS/8"X14 | 345 | 345 9.5 22 30
CB-12 G3/4"X14 G3/4"X14 G3/4"%X14 40 40 109 27 32
CB-16 Gl"x11 G1"X11 G1"X11 46 46 11.7 33 41
CB-20 G1.1/4"%11 | G1.1/4"X11 | G1.1/4"X11 | 505 | 505 11 41 50
CB-24 G1.1/2"%11 G1.1/2"X11 G1.1/2"X11 57.5 57.5 13 48 25
CB-32 G2"X11 G2"X11 G2"%11 725 | 725 16 63 70

148




| ‘ a JINHENG HYDRAULIC .
wmiERE

REWN60° M T L BSP THREAD 60°CONE ADAPTORS

REWBNC0°HEE BT H &L BSP THREAD 60°CONE ADAPTORS

ol

i # LOCKNUT

H_\sz

6B-LN

REFMRN60° REIIRIEL
BSPP MALE 60° SEAT BULKHEAD

6B
#f s # & THREAD R & DIMENSIONS
PART NO. E F A B L 51 52
BB-02 G1/8"X28 G1/8"X28 10 33 49 14 14
6B-04 G1/4"X19 G1/4"X19 12 35 53 19 19
6B-06 G3/8"K19 G3/8"X19 135 35 56.5 22 22
&B-08 G1/2"X14 G1/2"X14 16 38 65 27 27
6B-12 G3/4"X14 G3/4"X14 18.5 42 T1.5 32 32
6B-16 G1"X11 G1"X11 20.5 50 84 41 41
6B-20 G1.1/4"X11 G1.1/4"X11 20.5 52 89.5 50 50
6B-24 G1.1/2"X11 G1.1/2"X11 23 55 93 55 25
6B-32 GI"X11 G2"X11 205 55 98.5 70 70
A MWHHMGREITSE, MEEASEM "LN" , 06B-16LN, M85 H8B,
Mote:Incaseifyouareinterested to order the adapterin complete set with lock nut, it is necessary
tointsert suffix “LN" afterourpart NO. forexample 6B-16LN,The lock nut NO.is 8B.

<5 8B
RERNNS
| ] BSP LOCK NUT
LA ]
£ = @ v THREAD R == DIMENSIONS
PART MO. E A 51
88-02 G1/8"X28 5.5 14
8B-04 G1/4"X19 6.5 19
8B-0& G3/8"X19 T 22
8B-08 G1/2"X14 9 27
8B-10 G5/8"X14 9 30
8B-12 G3/4"X14 10.5 32
8B-18 G1"X11 10.5 41
88-20 G1.1/4"x11 10.5 50
8B-24 Gl.1/2"X11 10.5 55
BB-32 G2"X11 10.5 70

4B
A
B KEIMB60° Pusisy
ol w i AR 4R S TR Sk
BSP MALE DOUBLE USE FOR 60°
SEAT OR BONDED SEAL PLUG
#® 8 # & THREAD R = DIMENSIONS
PART NO. E A L s1
4B-02 G1/8"X28 10 16 14
4B-04 G1/4"X19 12 18 19
4B-06 G3/8"X19 13.5 21.5 22
4B-08 G1/2"%14 16 26 27
4B-10 G5/8"X14 17.5 27.5 30
4B-12 G3/4"%14 18.5 29.5 32
4B-16 G1"X11 20.5 34 41
4B-20 G1.1/4"X11 20.5 37.5 50
4B-24 G1.1/2"X11 23 40 55
4B-32 G2"X11 25.5 43.5 70
9B
HEAIRL60° JhEiEk
BSPP FEMALE 60°CONE PLUG
f 8 # & THREAD R = DIMENSIONS
PART NO. E A L 52
9B-02 G1/8"%28 5.5 11.5 14
9B-04 G1/4"X19 5.5 12 19
9B-06 G3/8"X19 6.3 14 22
9B-08 G1/2"X14 7.5 15.5 27
9B-10 G5/8"X14 9.5 16 30
9B-12 G3/4"X14 10.9 18 2
9B-16 G1"X11 11.7 21 41
98-20 G1.1/4"X11 11 25 50
9B-24 G1.1/2"X11 13 25.5 55
9B-32 G2"X11 16 29 70
149

150



‘ a JINHENG HYDRAULIC
wmiERE

REWN60° M T L BSP THREAD 60°CONE ADAPTORS

1BT-SP
RE MR 60° A HE/ HEHEE IMRY
BSPP MALE DOUBLE USE FOR 60° SEAT
OR BONDED SEAL/BSPT MALE
£ 5 Wi THREAD R st DIMENSIONS
PART NO. E F A B L 51
1BT-025P G1/8"X28 R1/8"X28 10 10 26 14
1BT-02-045P G1/8"X28 R1/4"X19 10 14.5 30.5 14
1BT-045P G1/4"X19 R1/4"X19 12 14.5 32 19
1BT-04-025P | G1/4"X19 R1/8"X28 12 10 28 19
1BT-04-065P | G1/4"X19 R3/8"X19 12 15 32 19
1BT-04-085P | G1/4"X19 R1/2"X14 12 20 40 24
1BT-065P G3/8"X19 R3/8"X19 13.5 15 35.5 22
1BT-06-045P G3/8"X19 R1/4"¥19 13.5 14.5 455 22
1BT-06-085P G3/8"X19 R1/2"X14 135 20 40.5 24
1BT-085P G1/2"X14 R1/2"X14 16 20 45 27
1BT-08-045P | G1/2"X14 R1/4"X19 16 14.5 40.5 27
1BT-08-065P | G1/2"X14 R3/8"X19 16 15 40 27
1BT-08-125P | G1/2"X14 R3/4"X14 16 20 45 30
1BT-10-065P G5/8"X14 R3/8"X19 17.5 15 41.5 30
1BT-10-085P | G5/8"X14 R1/2"X14 17.5 20 46.5 30
1BT-10-125P G5/8"X14 R3/4"X14 17.5 20 46.5 30
1BT-10-165P | G5/8"X14 R1"X11 Ly 25.5 57 36
1BT-125P G3/4"X14 R3/4"X14 18.5 20 48.5 32
1BT-12-085P G3/4"K14 R1/2"X14 18.5 20 49.5 32
1BT-12-165P | G3/4"X14 R1"X11 18.5 25.5 53.5 36
1BT-12-20SP | G3/4"X14 R1.1/4"X11 18.5 26.5 58 46
1BT-165P G1"X11 R1"X11 20.5 25.5 58 41
1BT-16-125P G1"X11 R3/4"X14 20.5 20 53 41
1BT-16-205P G1"X11 R1.1/4"X11 20.5 26.5 60 46
1BT-205P G1.1/4"K11 R1.1/4"x11 20.5 6.5 b2 50
1BT-20-125P | G1.1/4"X11 R3/4"X14 20.5 20.5 56 50
1BT-20-165P | G1.1/4"X11 R1"X11 20.5 25.5 61 50
1BT-20-245P | G1.1/4"X11 | R1.1/2"X11 20.5 26.5 62 50
1BT-245P | G1.1/2"X11 | R1.1/2"X1l1 23 26.5 64.5 55
1BT-24-165P | G1.1/2"X11 R1"X11 23 25.5 63.5 55
1BT-24-205P | G1.1/2"X11 | R1.1/4"X11 23 26.5 64.5 55
1BT-24-325P | G1.1/2"X11 R2"X11 23 30 70 65
1BT-325P G2"X11 R2"X11 25.5 30 725 70
1BT-32-20SP G2"X11 R1.1/4"X11 255 27 68.5 70
1BT-32-245P G2"X11 R1.1/2"X11 25.5 26.5 68.5 70
1BT-405P G2.1/2"X11 | R2.1/2"X11 32 34 83 a0
1BT-485P G3"X11 R3"X11 36 18 94 100

REWBNC0°HEE BT H &L BSP THREAD 60°CONE ADAPTORS 915 W

E
4 1BT4-5P
A
| = ar ']'_' P

45° WREIMRL60° PUHE/FEHE IMRY

A 1 45° ELBOW BSP MALE 60° SEAT /BSPT MALE

£ 5 # £ THREAD R i+ DIMENSIONS
PART MO. E E A B 51
IBT4-025P | G1/8"X28 R1/8"X28 7 | 1| 1
1BT4-045P | G1/4"X19 R1/4"%19 203 | 21 | 14
1BT4-04-065P | G1/4"X19 R3/8"X19 205 23 | 16
1BT4-065P | G3/8"X19 R3/8"X19 22 | 33| 16
1BT4-06-045P | G3/8"X19 R1/4"X19 22 | 21 | 16
1BT4-06-085P | G3/8"X19 R1/2"%14 24 | 205 | 22
1BT4-06-125P| G3/8"X19 R3/4"¥X14 25.5 | 305 | 27
1BT4-085P | G1/2"X14 R1/2"¥%14 27 | 295 | 22
1BT4-08-065F | G1/2"X14 R3/8"X19 27 | 35 | 22
1BT4-08-125P| G1/2"X14 R3/4"%14 285 | 305 | 27
1BT4-10-085P | G5/8"X14 R1/2"X14 285 | 295 | 22
1BT4-10-125P| G5/8"X14 R3/4"X14 29 | 35 | 27
1BT4-125P | G3/4"X14 R3/4"X14 31 | 305 | 27
1BT4-12-085P | G3/4"X14 R1/2"¥%14 31 | 305 | 27
1BT4-12-165P | G3/4"X14 R1"X11 325 | 38 | 33
1BT4-165P G1"X11 R1"X11 35 | 38 | 33
1BT4-16-125P| G1"X11 R3/4"X14 35 | 325 | 33
1BT4-16-208P| G1"X11 R1.1/4"X11 385 | 43 | 41
1BT4-205P | G1.1/4"X11 | R1.1/4"X11 385 | 43 | a1
1BT4-20-165P | G1.1/4"X11 R1"X11 385 | 42 | 41
1BT4-20-245P | G1.1/4"X11 | R1.1/2"X1l 415 | 475 | 48
1BT4-245P | G1.1/2"X11 | R1.1/2"X11 44 | 475 | 48
1BT4-24-205P| G1.1/2"X11 | R1.1/4"X11 44 | 455 | 48
1BT4-24-325P | G1.1/2"X11 R2"X11 51 | 605 | 63
1BT4-325P G2"X11 R2"X11 495 | 55.5 | 63
1BT4-32-245P| G2"X11 R1.1/2"X11 51 | 525 | 63

1561

152



‘ a JINHENG HYDRAULIC
wmiERE

REBNC0HmMPESEL BSP THREAD 60°CONE ADAPTORS

F [
] |-
1BT9-SP
60| 90° BEREBEIMRNC0°AH/RHEB MR
90° ELBOW BSPP MALE 60° SEAT / BSPT MALE
* = ® & THREAD R < DIMENSIONS
PART NO. E F A B s1
1BTS-025P G1/8"X28 R1/8"X28 20 21 11
1B7T9-02-045P R1/8"X28 R1/4"X19 223 255 14
1BT9-045P G1/4"%19 R1/4"%19 245 255 14
1B8T9-04-025P G1/4"X19 R1/8"X28 25 23.5 14
1BT9-04-065P G1/4"X19 R3/8"X19 25 285 16
1BT9-065P G3/8"X19 R3/8"X19 275 28.5 16
1BTS-06-045P G3/8"X19 R1/4"X19 275 26.5 16
1BTS-06-085P G3/8"X19 R1/2"X14 31 36 22
1BTS-085P G1/2"X14 R1/2"X14 34.5 36 22
1BT-08-045P G1/2"X14 R1/4"X19 34.5 30.5 22
1BT-08-065P G1/2"X14 R3/8"X19 345 325 22
1BT9-08-125P G1/2"X14 R3/4"X14 ar.5 43.5 27
1BT9-08-165F G1/2"%14 R1"X11 41 50 33
1879-10-085P |  G5/8"X14 R1/2"X14 35 36 22
1BTS8-10-125P G5/8"%14 R3/4"%14 39 43.5 27
1BT9-125P G3/4"¥14 R3/4"X14 40 43 27
1BT9-12-065P G3/4"%14 R3/8"X19 40 36 27
1BT9-12-085P G3/4"%14 R1/2"X14 40 39.5 27
1BTS-12-16SP G3/4"X14 R1"X11 43.5 50 33
1BT9-12-205P G3/4"X14 R1.1/4"x11 48 56.5 41
1BT9-165P G1"X11 R1"X11 46 50 33
IBTS-16-085P G1"X11 R1/2"X14 46 43 33
1BT9-16-125P GI1"X11 R3/4"X14 46 47.5 33
1BT9-16-205P Gl"X11 R1.1/4"X11 50.5 56.5 41
1BT9-205F G1.1/4"%11 R1.1/4"X11 52 59 41
1BT9-20-125P G1.1/4"X11 R3/4"X14 50.5 54 41
IBTY-20-165P G1.1/4"¥X11 R1"X11 52 56.5 41
1BT5-20-245P G1.1/4"X11 R1.1/2"X11 54.5 62.5 48
1BTS9-245p G1.1/2"X11 R1.1/2"X11 BT.5 62 48
1BT9-24-205P G1.1/2"X11 R1.1/4"¥11 5T.5 61 43
1BTS-24-325P G1.1/2"X11 R2"X11 66 15 63
1BT9-325P G2"X11 R2"X11 6T 15 63
1BT9-32-245P G2"X11 R1.1/2"X11 bE 12 63

183

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

) 5 1BN
5;,/
K BEIMEMN60° B ARMRERESRE/
ool R E I B
L I_l L BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
\—‘f@ F BONDED SEAL / NPT MALE
£ = 8 f THREAD R DIMENSIONS
PART NO. E F A B L 51
1BN-02 G1/8"%28 Z1/8"%27 10 10.5 26 14
1BN-02-04 G1/8"X28 21/4"%18 10 15 31 17
1BMN-04 G1/4"%19 21/4"%18 12 15 a3 19
1BN-04-02 Gl1/4"%19 21/8"X27T 12 10.5 28 19
1BN-04-06 G1/4"%19 Z23/8"%18 12 16 34 15
1BM-06 G3/8"%19 Z23/8"%18 135 16 37.5 22
1BN-06-04 G3/8"X19 Z21/4"%18 135 15 36 22
1BN-06-08 G3/8"X19 21/2"%14 135 19.5 41 22
1BN-06-12 G3/8"X19 23/4"K14 13.5 19.5 43 30
1BN-08 G1/2"%14 Z1/2"%14 16 19.5 45.5 2T
1BN-08-06 G1/2"%14 Z23/8"%18 16 16 42 27
1BN-08-12 G1/2"%14 234" K14 16 19.5 45.5 30
1BN-08-16 Gl,-’l"xlel Z1"X11.5 16 255 52.5 36
1BN-10-08 G5/8"X14 Z1/2"%14 17.5 195 47 30
1BN-10-12 G5/8"X14 Z23/4"%14 17.5 19.5 47 30
1BN-12 G3/4"%14 23/4"K14 18.5 19.5 49 32
1BN-12-06 G3/4"%14 23/8"X18 18.5 16 455 32
1BN-12-08 G3/4"%14 21/2"%14 18.5 19.5 49 32
1BN-12-16 G3/4"%14 Z1"X11.5 18.5 25.5 55 36
1EN-16 G1"%11 Z1"¥11.5 20.5 25:5 59 41
1BN-16-12 G1"x11 23/4"%14 20.5 19.5 53 41
1BN-16-20 G1"X11 Z1.1/4"%11.5 20.5 26.5 a0 46
1BN-20 G1.1/4"X11 21.1/4"%11.5 20.5 26.5 62 50
1BN-20-16 G1.1/4"X11 Z1"X11.5 20.5 255 61 50
1BN-20-24 G1.1/4"¥11 F1.1/2"X11.5 20.5 27.5 63 50
1BM-24 G1.1/2"X11 Z1.1/2"%X11.5 23 275 B65.5 E5
1BN-24-20 G1.1/2"X11 21.1/4"%11.5 23 265 &5 E5
1BN-24-32 G1.1/2"K11 L2°%11.5 23 21h bi.9 &5
1BN-32 G2"%11 F2"X11.5 255 27.5 T0 T0
1BMN-32-20 G2"X11 21.1/4"X11.5 25.5 26.5 oi ) T0
1BN-32-24 G2"X11 Z1.1/2"%11.5 25.5 27.5 T0 70
154



‘ a JINHENG HYORAL e oo ey 60° s T M 54425 BSP THREAD 60°CONE ADAPTORS REBI60 R TB L BSP THREAD 60°CONE ADAPTORs MHENE HIDRALLEC ‘ a |

N 1BN9 k5
e A = . . K= & & THREAD R DIMENSIONS
il ! 90° WREWIMEL60° Ph/ LRI BEIMBL PART NO. | E F A B L si
] 54\5_1 90° ELBOW BSP MALE 60°SEAT 1BJ-06-08 G3/8"X19 3/4"X16 135 16.7 38.5 22
A NPT MALE 1BJ-06-10 G3/8"X19 7/8"X14 135 19.3 41 24
1BJ-06-12 G3/8"X19 1.1/16"X12 13.5 21.9 45 30
£ 8 % £ THREAD R s+ DIMENSIONS 1BJ-08 G1/2"X14 3/4*X 16 16 16.7 43 27
PART NO. E F A B S1 1BJ-08-04 G1/2"X14 7/16"%20 16 14 40 27
1BN9-04 G1/4"X19 Z1/4"X18 245 25.5 14 1BJ-08-05 G1/2"X14 1/2"X20 16 14 40 27
1BN9-04-02 G1/4"X19 21/8"X27 245 23.5 14 1BJ-08-06 G1/2"X14 9/16"X18 16 14.1 40 27
1BNO-06 63/8"X19 73/8"X18 8.5 a1 19 1BJ-08-10 G1/2"X14 7/8"X14 16 19.3 455 27
1BN90604 | GyE9 | zuaas 215 265 16 2 T N T 2 Lt &
il ey e - 4 o 1BJ-08-16 G1/2'X14 | 1.5/16"X12 16 231 50 36
1BNS-08 G1/2"X14 Z21/2"X14 34.5 375 22 1BJ-10 G5/8"X14 7/8"X14 175 193 a7 20
1BN9-08-06 G1/2"X14 Z3/8"X18 345 33 22 18J-10-08 G5/8"X14 3/4"X16 175 16.7 44 30
1BN9-12 G3/4"X14 Z3/4"X14 38 43.5 27 1BJ-10-12 G5/8"X14 | 1.1/16"X12 17.5 21.9 495 30
1BN9-12-08 G3/4"X14 Z1/2"X14 39 40 27 1BJ-10-16 GS/8"X14 1.5/16"X12 17.5 23.1 51.5 36
1BNS-12-16 G3/4"X14 Z1"X11.5 43 50 33 1BJ-12 G3/4"X14 1.1/16"X12 18.5 219 51.6 32
1BN9-16 G1"X11 Z1"X11.5 46 50 33 1BJ-12-06 G3/4"X14 9/16"X18 18.5 14.1 435 32
1BNG.16-12 G 73/4"X14 ié 65 33 1BJ-12-08 | G3/4"X14 3/4"X16 185 16.7 46.5 32
1BN9-20 GL1/4"X11 71.1/4"X11.5 50.5 54 41 16J-12-10 G3/4"X14 7/8"%14 18.5 193 49 32
1BN9-24 G1.1/2"X11 Z1.1/2"X11.5 57.5 59.5 48 TR S Sl al M £ 2l -
1BJ-12-16 G3/4"X14 1.5/16"%12 18,5 23.1 52.5 34
e 1BJ 181220 | G3/4"X14 1.5/8"X12 185 24.3 55.5 46
e 1BJ-16 G1"X11 1.5/16"X12 20.5 231 57 41
] ﬁﬁ ﬂ’ﬁﬂﬁ 60° S AMIRERAS DS 1BJ-16-08 Gl‘l:xll 3;4:1{15 20.5 16.7 S0 41
] 3 1BJ-16-10 G1"X11 7/8"X14 20,5 193 53 41
8 RFJICHMRITA" Shel 1BJ-16-12 G1"X11 1.1/16"%12 20.5 21.9 55.5 41
T BSP MALE DOUBLE USE FOR 60° SEAT . guegrpses - "

1BJ-16-20 G1K11 1.5/8"X12 20.5 243 58 46
H# B2 82 &% THREAD R <t DIMENSIONS 1BJ-20 G1.1/4"X11 1.5/8"X12 20.5 24.3 62 50
PART NO. E F A B L 51 1BJ-20-12 GL.1/4"X11 | 1.1/16"X12 20.5 219 51.5 50
1BJ-02-04 G1/8"X28 7/16"X20 10 14 10 14 1BJ-20-16 G1.1/4"X11 | 1.5/16"X12 20.5 23.1 60.5 50
1BJ-02-05 G1/8"X28 1/2"%20 10 14 30 14 18J-20-24 GL.1/4"X11 1.7/8"X12 205 21.5 63 50
1BJ-02-06 G1/8"X28 9/16"X18 10 14.1 30 17 1BJ-24-16 G1.1/2"X11 1.5/16"X12 23 23.1 61 55
1BJ-04 G1/4"X19 7/16"X20 12 14 32 19 1BJ-24-20 G1.1/2"%11 1.5/8"X12 23 24.3 62.5 55
1BJ-04-05 G1/4"X19 1/2"%20 12 14 12 19 1BJ-24 G1.1/2"X11 1.7/8"X12 23 275 67.5 55
1BJ-04-08 G1/4"X19 3/4"X16 12 16.7 36.5 22 1BJ-24-32 G1.1/2"X11 2.1/2"X12 23 3.9 14 65
1BJ-04-10 G1/4"X19 7/8"X14 12 19.3 9 24 1BJ-32 G2"X11 2.1/2"%12 25.5 33.9 715 70
1BJ-08 G3/8"X19 9/16"X18 13.5 14.1 355 29 1BJ-32-24 G2"X11 1.7/8"X12 25.5 27.5 70 70

1BJ-06-04 G3/8"X19 7/16"X20 13.5 14 355 22 E:EE&HEH%#?}IIEC.E?—EED?‘U*&HE‘I. RS S KRS HIEANB200, NB500. & F B 1F A % EE,

W |
e | ek | sawe |ge - e = A sleee NBS30 s sultapie Tor metrc tube therut NB200 and sleeue NB30D 12 sultaple for inch tube.

155 156



‘ a JINHENG HYDRAULIC
wmiERE

REWN60° M T L BSP THREAD 60°CONE ADAPTORS

JINHENE HYDRAULIC
RWIBL60WERSHHE BSPTHREAD 60°CONE ADAPTORS "IE UL ( )
E 1BG9-0G
53
1] @ 90° EREIMROI60° AR/
| RESMEQOT MR
| 90° ELBOW BSP MALE 60° SEAT/
A BSPMALE O-RING ADJUSTABLE"STUD ENDT
ft S # £ THREAD O O-RING R <t DIMENSIONS
PART NO. E F Fi A B 51 s2
1BGS-040G G1/4"%19 G1/4"X19 0111 25 315 14 15
1BG9-04-060G G1/4"X19 G3/8"X19 0113 265 | 368 | 16 22
1BG9-060G G3/8"X19 G3/8"X19 0113 28 36.8 16 22
1BG9-06-080G G3/8"X19 G1/2"%14 0115 31 | 432 | 22 27
1BG9-080G G1/2"X14 G1/2"X14 0115 345 | 432 | 2 27
1BG9-1206 G3/4"K14 G3/4"X14 0119 40 | 493 | 27 32
1BGS-12-160G G3/4"X14 G1'X11 0217 45 53 33 41
1BG9-160G G1"X11 G1"X11 0217 46 53 | 33 41
1BG9-20-1606 G1.1/4"X11 G1"X11 0217 50.5 58 41 41
1BG9-2006 G1.1/4"X11 | Gl.1/4"X11 0222 515 | 58 | 41 50
1BGS-240G G1.1/2"X11 G1.1/2"X11 0224 58.5 63 48 55
4: FEE5DIN38520#8Ac. Note: Fendisconnected with DIN 3852 port.
1BG4-0G

45° HREIMRIN60° AH/REIMRROTE
45° ELBOW BSP MALE
60° SEAT / BSP MALE O-RING

L
A B 1BG
ol LT “ | mmspmeoe wRNARBERASDRES
REIRNONE
e 1 BSP MALE DOUBLE USE FOR 60° SEAT OR
BONDED SEAL / BSP MALE O-RING

£ = 8 i THREAD Of:F O-RING R s DIMENSIONS
PART NO. E F Fisk A B L 51
1BG-02 G1/8"x28 | G1/8"X28 0011 10 9.5 27 14
1BG-04 G1/4"x19 | G1/4"x10 0111 12 11 31 19
1BG-04-06 | G1/4"X19 | G3/8"X19 0113 12 115 32 22
1BG-06 G3/8"X19 G3/8"X19 0113 135 115 33 22
1BG-06-04 | G3/8"'X19 | G1/4"X19 0111 135 11 325 22
1BG-08 G1/2'X14 | G1/2"X14 0115 16 14 41 27
1BG-08-06 | Gl/2°X14 | G3/8"X19 0113 16 115 36 27
1BG-08-12 G1/2'X14 | G3/a"x14 0119 16 155 45.5 22
1BG-10-08 | G5/8"'X14 | G1/2"X14 0115 175 14 44.5 30
1BG-12 G3/4"x14 | G3/4"x14 0119 1855 155 46 32
1BG-12-08 | G3/4"X14 | G1/2"X14 0115 18.5 14 45.5 32
1BG-16-08 G1"X11 G1/2"X14 0115 20.5 14 50.5 41
1BG-16 G1"X11 G1"X11 0217 205 18 53 41
1BG-16-12 G1"X11 G3/4"X14 0119 20.5 155 52 41
1BG-20 GL1/4"X11 | G1.1/4"X11 0222 20.5 20 58.5 50
1BG-24 61.1/2"X11 | G1.1/2"X11 0224 23 21.5 62,5 55

i4: FiR5SDIN3852;m 488, Fendisconnected with DIN 3852 port.

B # & THREAD Oz O-RING R = DIMENSIONS
PART NO. E F F i A B 51 52
1BG4-040G G1/4"X19 G1/4"X19 0111 22 28 14 15

1BG4-04-060G G1/4"X19 G3/8"X19 0113 21 30 16 22
1BG4-04-080G | G1/4"X19 G1/2"X14 0115 22.5 36 22 27
1BG4-060G | G3/8"X19 | G3/8"X19 0113 21 | 30 | 168 | 22
1BG4-06-080G G3/8"X19 G1/2"X14 0115 235 36 22 27
1BG4-080G G1/2"X14 G1/2"X14 0115 21 36 22 27
1BG4-1206G G3/4"X14 G3/4"X14 0115 32 42 27 32
1BG4-12-1606 G3/4"X14 G1"X11 0217 325 44 33 41
1BG4-160G G1"x11 G1"x11 0217 34 44 33 41
1BG4-2006 G1.1/4"X11 | G1.1/4"X11 0222 385 | 415 | 41 50
1BG4-240G GL1/2"X11 | G1.1/2"X11 0224 44 515 | 48 55
A FERSDIN 385238004882. Note: Fendisconnected with DIN 3852 port.

167

158




‘ a JINHENG HYDRAULIC
wmiERE

REBNC0HmMPESEL BSP THREAD 60°CONE ADAPTORS

1BHS-0G

90° EEEIMRA60° MM/ AHIIMESIZERTISO 6149-3

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

90° ELBOW BSP MALEGO® SEAT/

METRIC MALE L-SERIES I1SO 6149-3

L
I 1BH
o REIMENCONBIARRERAS LTS/
ol w . 4 LHIIMRAE R FISO 6149-3
* BSP MALE DOUBLE USE FOR 60°
! SEAT OR BONDED SEAL /
METRIC MALE L-SERIES 150 6149-3
S1

] 8 # i THREAD O O-RING R & DIMENSIONS
PART NO. E F Fii§ A B 51 L
1BH-02-10 G1/8"X28 M10X1 008.1X16] 10 | 85 | 14 25
1BH-02-12 G1/8"%28 M12X1.5 009.3%2.4] 10 11 17 | 28
1BH-04-12 G1/4"X19 M12X1.5 009.3%2.4] 12 11 19 30
1BH-04-14 G1/4"X19 M14X1.5 011.3%2.4] 12 11 19 | 315
1BH-04-16 G1/4"X19 M16X1.5 013.3%24] 12 | 11.5| 22 | 315
1BH-06-14 G3/8"X19 M14X15 011.3%24] 135 | 11 22 35
1BH-06-16 G3/8"X19 M16X1.5 013.3%2.4] 135 | 115 | 22 | 33
1BH-06-18 G3/8"X19 M18X1.5 0153%2.4| 135 | 125 | 24 | 365
1BH-08-18 G1/2"X14 M18X1.5 015.3%2.4] 16 | 125 | 27 | 4
1BH-08-22 G1/2"X14 M22X1.5 0193X2.4| 16 | 13 | 27 | 415
1BH-10-22 G5/8"X14 M22X1.5 019.3%2.4] 175 | 13 30 | 43
1BH-12-16 G3/4"X14 M16X1.5 0133X24] 185 | 115 | 32 | 435
1BH-12-22 G3/4"X14 M22X1.5 019.3%2.4] 185 | 13 32 | 45
1BH-12-27 G3/4"X14 M27X2 0235%3.0| 185 | 16 | 32 | 455
1BH-16-27 G1"X11 M27X2 0235%3.0] 205 | 16 | 41 | 49
1BH-16-33 G1"X11 M33X2 029.5%3.0] 20.5 16 41 49.5
1BH-20-42 | GI1.1/4"X11 Ma2X2 038.5%3.0] 205 | 16 | 50 | 515
1BH-24-48 G1.1/2"X11 M48X2 044 5X3.01 23 175 | 55 | 555
F: A 5150 9974- VRO HEA, EHEE 51506149- 180 # A Note: fit for 1S0 9974-1 port or IS0
6149-1 port when useless of retaining ring.

A
® e # & THREAD OR:H O-RING R s+ DIMENSIONS

PART NO. E F F i A B s1 | s2
1BH9-02-1006 G1/8"%28 M10X1 008.1X16| 20 | 265 | 11 14
1BH9-02-1206G G1/8"X28 M12X1.5 009.3%24 | 20 | 305 | 11 17
1BH9-04-1206 G1/4"X19 M12X1.5 009.3X2.4 | 245 | 32 14 17
1BH9-04-140G G1/4"X19 M14¥1.5 011.3X2.4 | 245 | 325 | 14 19
1BH9-04-160G G1/4"X19 M16X1.5 0133X%24 | 265 | 348 | 16 22
1BH9-06-140G G3/8"X19 M14X1.5 0113X24 | 275| 34 | 16 19
1BH9-06-1606G G3/8"X19 M16X¥1.5 013.3X24 | 275 | 348 | 16 22
1BH9-06-180G G3/8"%X19 M18X1.5 0153X2.4 | 285 | 37 19 24
1BHO-08-180G G1/2"X14 M18X1.5 015.3%2.4 | 345 | 395 | 22 24
1BH9-08-220G G1/2"X14 M22X1.5 019.3X2.4 | 345 | 402 | 22 27
1BH9-10-2206 G5/8"X14 M22X1.5 019.3%24 | 35 | 402 | 22 27
1BH9-12-220G G3/4"X14 M22X1.5 019.3%24 | 40 | 435 | 27 27
1BH9-12-2706G G3/4"X14 M27X2 0235%3.0| 40 | 485 | 27 32
1BH9-16-270G G1"X11 M27X2 023.5%3.0| 46 52 | 33 32
1BH9-16-330G G1"X11 M33X2 029.5X3.0 | 345 | 41 33 41
1BH9-20-420G | G1.1/4"X11 M42X2 038,5%3.0 | 505 | 57.2 | 41 50
1BH9-24-480G | G1.1/2"X11 M48X2 0445%3.0 | 575 | 625 | 48 55

A el 51S09974- U OERS, S EE S5I1S06149- L D480 . Note: fit for 1ISO 9974-1 port or I1SO

65149-1 port when useless of retaining ring.

169

160




i a e T EERHG0°RABHEL BSP THREAD 60°CONE ADAPTORS REWY60 AR SR L BSP THREAD 60°CONE ADAPTOR N MM

F
L
A Tl - 1BO i
e f/f%%’ ' < % | o
2 REIMENe A REEAASEEH/ r
= ¥ i
R se WAL E ioish = e PO ST B BB o 0" EESMELGCO" ATt/ RMSAESEORE
607 ™ [ 1S o o
SEAL / SAE O-RING BOSS L-SERIES 1SO 11926-3 Y51 90° BSP MALE 60° SEAT/SAE O-RING BOSS
51 A
#* 8 38 & THREAD Of: 68 O-RING R o DIMENSIONS ff 8 8 i THREAD OfzE O-RING R i DIMENSIONS
PART NO. E F Fism A B L S1 PART NO. E F Fig A B 51 52
1B0-04 G1/4"%X19 7/16"X20 0904 12 | 91 | 295 | 19 1B09-02-0406 | G1/8"X28 7/16"X20 0%04 | 198 | 272 | 11 17
1BO-04-05 G1/4"X19 1/2"X20 0905 12 91 | 295 | 19 1B09-02-0506G | G1/8"x28 1/2"X20 0905 223 | 30 14 17
1B0O-04-06 G1/4"X19 9/16"X18 09206 12 9.9 32 19 1B09-040G G1/4"X19 7/16"X20 0504 25 305 | 14 17
1B0-04-08 G1/4"X19 3/4"X16 0508 12 | 111 | 31 | 22 1B09-04-050G | G1/4"X19 1/2"%20 0905 25 | 289 | 14 | 17
1BO-06 G3/87X19 9/16"X18 03806 1351 99 | 335 | 22 1B09-04-060G | G1/4"X19 9/16"X18 0006 | 245 | 318 | 14 19
1BO-06-04 G3/8"X19 7/16"X20 Q504 13.5°] 31 33 22 1BOS-04-080G | G1/4"X19 3/4"X16 03808 215 35| 19 24
1B0O-06-08 G3/8"X19 3/4"X16 0908 135 111 | 36 | 24 1B09-06-040G | G3/8"X19 7/16"%20 0904 | 275 315]| 16 17
1B0O-06-10 G3/8"X19 7/8"%X14 0910 13,51 227 | 395 | 27 1B09-060G G3/8"X19 9/16"X18 Q906 27s | ‘333 | 16 19
1BO-08 G1/2"X14 3/4"X16 03908 16 | 111 | 38 | 27 1B09-06-080G | G3/8"X19 3/4"%16 0908 285 | 375 | 19 24
1B0-08-06 | G1/2'X14 | 9/16"X18 0906, | 16 | 9.9 | 36 { 27 1B09-06-100G | G3/8"X19 |  7/8"X14 0910 | 31 | 44 | 22 | 27
1B0O-08-10 G1/2"X14 T/8"K14 0910 16 12.7 42 27 1BO9-0BOG G1/2"X14 3/4"X16 0908 24 5 40 29 24
1BO-08-12 G1/2"X14 1.1/16"X12 0912 16 15:1 | 425 36 1B09-08-100G | G1/2"X14 7/8"X14 0910 4.5 44 22 27
1B0-10 G5/8°X14 | 7/8°X14 0910 | 175 | 12.7 | 43.5 ] 30 1809-08-120G | G1/2"X14 | 11/16"X12 0912 | 375 51 | 27 | 32
1B0-10-08 Gﬁj’E"KM 3{4":{15 0908 17.5 11.1 415 30 1B09-100G GE.I"S“IM Tf&"x 14 Q908 35 44 22 27
1B0-10-12 G5/8"X14 | 1.1/16"X12 0912 | 175|151 | 47 | 34 1B09-1206 | G3/4™X14 | 1.1/16"X12 0912 a0 | s1 | 27 32
1BO-12 G3/4"X14 | L.1/16"X12 0912 | 185|151 | 48 | 34 1809-12-0806 | 63/4"x14 3/4"X16 0908 ao |l a3 | 27| 24
1B0-12-08 G3/4"%14 3/4"X16 0908 | 185 | 111 | 405 | 32 1B09-12-100G | G3/4"X14 7/8"X14 0910 a0 | a7 | 27 | 77
180-12-10 | G3/4"x14 | 7/8"x14 0910 | 185 | 12.7 | 455 | 32 1809-12-1606 | G3/a"x1a | 15/16"12 osie. | ai | sasl a3l @
1B0O-12-14 G3/4"X14 | 1.3/16"X12 0914 | 185 | 151 | 48 | 38 1B09-160G 61"X11 1.5/16"X12 0916 a6 | sas | 23 41
1BO-12-16 | G3/4"X14 | 1.5/16"X12 0916 | 185 | 151 | 50.7 | 41 1809-161206 | c1xi1 | 116z oo12 | 4g | sas| 33 | 32
1B0-16 GI'X11 | 1.5/16°X12 0916 | 205 ) 151 | 526 | 41 1B09-16-200G6 | G1"X11 1.5/8"X12 0920 | 505 595| 41 | so0
EEREL G20 T DGR T/ek14 S S R 18092006 |Gl1/4"x11 | 1.5/8"x12 0920 | 505 585 | 41 | so
1BO-16-12 G1"X11 1.1/16"X12 0912 |205|151| 52 | 41 1809-20-160G | GL1/4"X11 | 15/16"X12 0516 | 505 | 505 | a1 Py
e B i Bl e ol bt Ll Lt L 1B09-20-240G | GL.1/4"X11 | L7/8"X12 0924 | 545| 63 | 48 | s5
L L A W O S e 1B09-2406 | GLY/2"K11 | 1.7/8"X12 0924 | 575| 63 | 48 | 55
1B0-20 G1.1/4"X11 1.5/8"X12 0920 205 | 151 | 547 | 5O
1B0-20-16 | GL.1/4"X11 | 1.5/16"X12 0916 | 205 | 151 | 547 | 50
1BO-24 GL.1/2"%11 | 1.7/8"X12 0924 23 | 151 | st | 55

161 162



‘ a JINHENG HYDRAULIC
wmiERE

REBNC0HmMPESEL BSP THREAD 60°CONE ADAPTORS

60°

2NB

R EINR/RERRE60° Sl
NPT MALE/ BSP FEMALE 60° CONE

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

L
A B | 1B-WD
] % ot
EEIMEQ60 BN ARREAASBES
1 [ 1 . REMPR BT
BSP MALE DOUBLE USE FOR 60°SEAT OR
14 ]| BONDED SEAL / BSP MALE CAPTIVE SEAL
s1
£ 2 &8 &I THREAD 344 B  CAPTIVE R 3 DIMENSIONS

PART NO. 2 F Fig A B L 51

1B-04WD G1/4"X19 G1/4"X19 WD-BO4 12 12 32 19
1B-04-06WD G1/4"X19 | G3/8"X19 WD-BOG& 12 12 345 22
1B-04-08WD G1l/4"X19 G1/2"X14 WD-B08 12 14 39 27

1B-06WD G3/8"X19 | G3/8"X19 WD-B06 135 12 34 22
1B-06-08WD 33/8"%19 G1/2"K14 WD-BO8 135 145 40.5 27

18-08WD G1/2"X14 | G1/2"X14 WD-B08 16 14 43 27
1B-08-12WD G1/2"K14 G3/4"X14 WD-B12 16 16 46 32

1B-12WD G3/4"X14 | G3/4"X14 WD-B12 18.5 16 46.5 32
1B-12-16WD G3/4"X14 G1"X11 WD-B16 18.5 18 2.5 41

1B-16WD G1"X11 G1"X11 WD-Bl6 205 18 54.5 41
1B-16-20WD G1"X11 G1.1/4"K11 WD-B20 20.5 20 58.5 50
1B-16-24WD G1"X11 Gl.1/2"X11 WD-B24 20.5 22 B60.5 55

1B- 20WD GL1/4"X11 | G1.1/4"X11 WD-B20 20.5 20 585 50
18-20-16WD | G1.1/4"X11 | G1"¥11 WD-B16 20.5 18 565 50
1B-20-24WD | G1.1/4"X11 | G1.1/2"X11 WD-B24 20.5 22 B60.5 35

1B-24WD G1.1/2"X11 | G1.1/2"X11 WD-B24 3 22 63 55

18-32WD G2"X11 G2"X11 WD-B32 255 24 125 70

163

"%t = # & THREAD R st DIMENSIONS
PART NO. E F A B L 51 52
2NB-02 Z1/8"X27 G1/8"X28 10.5 5.5 25.5 12 14
2NB-02-04 Z1/8"X27 G1/4"X19 10.5 5.5 27 14 19
2NB-04 Z1/4"X18 G1/4"X19 15 5.5 31 17 19
2NB-04-06 Z1/4"%18 G3/8"X19 15 6.3 32.5 17 22
2NB-04-08 Z1/4"X18 G1/2"X14 15 7.5 35 19 27
2NB-06 Z3/8"X18 G3/8"X19 16 6.3 33.5 19 22
2NB-06-08 73/8"X18 G1/2"X14 16 7.5 36 19 27
2NB-08 Z1/2"X14 G1/2"X14 19.5 7.5 41 22 27
2NB-08-06 Z1/2"X14 G3/8"X19 19.5 6.3 39.5 24 24
2NB-08-12 Z1/2"X14 G3/4"X14 19.5 109 | 445 27 32
2NB-12 Z3/4"%14 G3/4"X14 19.5 10.9 44.5 30 32
2NB-12-16 Z3/4"X14 G1"X11 195 | 11.7 | 465 32 41
2NB-16 Z1"X11.5 G1"X11 25.5 11.7 52.5 36 41
2NB-16-20 Z1"X11.5 G1.1/4"%11 25.5 11 59.5 41 50
2NB-20 Z1.1/4"X11.5 G1.1/4"X11 26.5 11 60.4 46 50
2NB-24 Z1.1/2"%11.5 G1.1/2"%11 27.5 13 62 50 55
2NB-32 Z2"%11.5 G2"X11 27.5 20 65.4 55 70
164



‘ a JINHENG HYDRAULIC
wmiERE

REBNC0HmMPESEL BSP THREAD 60°CONE ADAPTORS

60°
=
52
E
2NB9
| I| ' ) 90° EHmEEIMBL/EEAE60° JhiE
) )@ 90° ELBOW NPT MALE / BSP FEMALE 60° CONE
A

B # & THREAD R T DIMENSIONS
PART NO. E F A B S1 52

2NB9-02 Z1/8"%27 G1/8"X28 21 5.5 11 14

2NB9-04 Z1/4"X18 G1/4"X19 255 5.5 14 19
2NB9-04-06 21/4"%18 G3/8"%19 25.5 6.3 14 22

2NB9-06 Z3/8"X18 G3/8"X19 31 6.3 19 22
2NB9-06-04 Z3/8"X18 G1/4"X19 31 5.5 19 19

2NB9-08 Z1/2"X14 G1/2"X14 373 7.5 22 27
2NB9-08-06 Z1/2"X14 G3/8"X19 36.7 6.3 22 22

2NB9-12 Z3/4"X14 G3/4"X14 43.5 10.9 27 32
2NB9-12-08 Z3/4"X14 G1/2"X14 45 7.5 27 27
2NB9-12-16 Z3/4"%14 G1"X11 45 11.7 30 a1

2NB9-16 Z1"X11.5 G1"X11 50 11.7 33 41
2NB9-16-12 Z1"X11.5 G3/4"X14 50 10.9 33 32

2NB9-20 Z1.1/4"X115 | GL1/4"X11 54.5 11 41 50
2NB9-24 Z1,1/2"X115 | G1.1/2"%11 59 13 48 55

2NB9-32 72"X11.5 G2"X11 73.5 16 63 70

165

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

B,
A
L. - 60°  2TB-SP
|
‘E REEIMRN/EERRN60° Jhi
S1/ S2 BSPT MALE / BSP FEMALE 60° CONE
t S 8 & THREAD R <t DIMENSIONS
PART NO. E F A B L S1 52
2TB-025P R1/8"X28 G1/8"X28 10 55 25 12 14
2TB-04SP R1/4"X19 G1/4"X19 145 5.5 315 17 19
2TB-065P R3/8"X19 G3/8"X19 15 6.3 33 15 22
2TB-06-045P R3/8"X19 G1/4"X19 15 5.5 32 19 19
2TB-06-085F R3/8"X19 G1/2"%14 15 7.5 35 19 27
2TB-08SP R1/2"X14 G1/2"X14 20 75 42 22 27
ZTB-08-125P R1/2"X14 G3/4"X14 20 10.9 45 27 32
2TB-125P R3/4"X14 G3/4"X14 20 10.9 45 30 32
2TB-12-085P R3/4"X14 Gl1/2"X14 20 7.5 44 30 27
2TB-12-165P R3/4"X14 G1"X11 20 11.7 47 32 41
ZTB-165P R1"X11 G1"X11 25.5 11.7 2.5 36 41
2TB-16-125P R1"X11 G3/4"X14 25.5 109 | 515 36 32
2TB-20-165P R1.1/4"X11 G1"X11 26.5 11.7 58.5 4G 41
2TB-205P R1.1/4"¥11 GL.1/4"X11 26.5 11 59 46 50
2TB-245P R1.1/2"X11 G1.1/2"X11 26.5 13 61.5 50 55
2TB-325P R2"¥11 G2"¥11 30 16 68 65 70

166




‘ a JINHENG HYDRAULIC
wmiERE

REBNC0HmMPESEL BSP THREAD 60°CONE ADAPTORS

60°
v
enf y
E S2  2TB9-SP
/; i
i 90° WHRHEIMES/RBENBR60° shilk
| y 90° ELBOW BSPT MALE / BSP FEMALE 60° CONE
| )<ﬂ
A
# 5 % & THREAD R i DIMENSIONS
PART NO. E F A B 51 52
2TB9-025P R1/8"X28 G1/8"X28 21 5.5 11 14
2TB3-045P R1/4"X19 G1/4"X19 255 5.5 14 19
2TB9-065P R3/8"X19 G3f8"X19 285 6.3 16 22
2TB9-06-085P | R3/8"X19 G1/2"X14 31 7L 19 27
2TB9-08-065P R1/2"X14 G3/8"X19 36 6.3 22 22
2TB9-085P R1/2"X14 G1/2"%X14 36 7.5 22 27
2TB9-08-125P R1/2"K14 G3/4"X14 v 109 24 32
2TB9-12-085P | R3/4"X14 G1/2"X14 43.5 1.5 27 27
2TB9-125F R3/4"K14 G3/4"X14 43.5 10.59 27 32
2TB9-165P RI"X11 G1"X11 50 by 33 41
2TB9-205P R1.1/4"¥11 G1.1/4"X11 58 11 41 50
2TB9-245P R1.1/2"X11 | G1.1/2"X11 62.5 13 48 55

167

EERR60°"#EP4HEL BSP THREAD 60°CONE ADAPTORS MHIG HIDRAILI
&
A
~ 5B-WD
LL
=1k - EEMBRPEHRERMLIS0 1179
S1 BSP MALE CAPTIVE SEAL /BSP FEMALE 1SO 1179
£ = 8 & THREAD B3 CAPTIVE R st DIMEMSIONS
PART NO. E F E& A L S1
58-02-04WD G1/8"X28 G1/4"X19 WD-B02 8 31 19
SB-02-06WD G1/8"X28 G3/8"K19 WD-B0O2 8 325 22
S5B-04-02WD G1l/4"X19 G1/8"x28 WD-B04 12 29 19
5B-04-06WD G1/4"X19 G3/8"K19 WD-B0O4 12 36 22
5B-04-08WD G1/4"X19 G1/2"%14 WD-B04 12 40 27
SB-04-12WD G1/4"X19 G3/4"K14 WO-Bo4 12 43 36
SB-06-02WD G3/8"X19 G1/8"X28 WD-B0G i2 225 22
5B-06-04WD G3/8"X19 G1/4"K19 WD-B06& 12 36 22
58-06-08WD G3/8"X19 G1/2"X14 WD-BOG 12 41 27
5B-06-12WD G3/8"X19 G3/4"X14 WD-Bog 12 44 36
SB-0B-02WD G1/2"X14 G1/8"X28 WD-B08 14 24 27
SB-08-04WD Gl1/2"X14 G1/4"X19 WD-B0O& 14 24 27
SB-08-06WD GL1/2"X14 G3/B"X19 WD-B08 14 ar 27
5B-08-12WD G1/2"X14 G3/4"%14 WD-BO& 14 46 e
SB-08-16WD G1/2"X14 G1"X11 WD-B08 14 49 41
S5B-08-20WD G1/2"X14 G1.1/4"¥11 WD-BOA 14 53 50
58-12-04WD G3/4"X14 G1/4"X19 WD-B12 16 26 32
S5B-12-06WD G3/4"X14 G3/8"X19 WD-B12 16 26 a2
5B8-12-08WD G3/4" %14 G1/2"X14 WD-B12 16 43 32
SB-12-16WD G3/4"X14 G1"X11 wWD-B12 16 51 41
58-12-20WD G3/4"X14 Gl1.1/4"X11 WD-Bl2 16 55 50
S5B-12-24WD G3/4"X14 G1.1/2"%11 WD-B12 16 57 55
S5B-16-04WD G1"X11 G1/4"X19 WD-Blo 18 29 41
S5B-16-06WD G1"X11 G3/B"X19 WD-B16 18 29 41
5B8-16-08WD G1"X11 G1/2"X14 WD-B16 18 29 41
SB-16-12WD G1"X11 G3/47"%14 WD-B16 18 49 41
S5B-16-20WD G1"X11 G1.1/4"X11 WD-Bla 18 57 50
SB-16-24WD G1"X11 G1.1/2"%11 WD-B16 18 59 55
5B-20-08WD G1.1/4"%11 G1/2"X14 WD-B20 20 32 50
5B-20-12WD G1.1/4"X11 G3/4"%14 WD-820 20 32 50
5B8-20-16WD G1.1/4"X11 G1"X11 WD-B20 20 52 50
5B-20-24WD Gl1/4"%11 G1.1/2"¥11 WD-BZ20 20 &0 55
28-20-32WD G1.1/4"%11 G2"K11 WD-B20 20 B4 7o
5B-24-08WD G1.1/2"X11 G1/2"X14 WD-B24 22 36 55
5B8-24-12WD G1.1/2"X11 G3/4"X14 WD-B24 22 36 55
5B-24-16WD G1.1/2"X11 G1"X11 WD-B24 22 36 55
56-24-20W0D G1.1/2"%11 G1.1/4"X11 WD-B24 22 58 55
5B8-24-32WD G1.1/2"X11 G2"x11 WD-B24 22 66 T0
2B-32-08WD G2"X11 G1/2"%14 WD-B32 24 45 7o
5B-32-12WD G2"X11 G3/4"K14 WD-B32 24 45 70
2B-32-16WD G2"X11 G1"X11 WD-B32 24 45 o
5B-32-20WD G2"X11 G1.1/4"X11 WD-Ba2 24 45 T0
2B-32-24WD G2"¥11 G1.1/2"¥11 WD-B32 24 65 70
168



‘a JINHENG HYDRAULIC .
wmiERE

REWN60° M T L BSP THREAD 60°CONE ADAPTORS

RERNC0HE TS BSP THREAD 60°CONE ADAPTORS

TB9-PK

= \y{ 90° EEHRMMISO 1179
}i))/\il 90° BSP FEMALE IS0 1179
—
A
5.5 8§ & THREAD R s+ DIMENSIONS
PART NO. E F A 2] S1
TB9-02PK G1/8"X28 G1/8"X28 20 20 16
TB3-04PK G1l/4"X19 G1/4"X19 225 225 159
TB9-06PK G3/8"X19 G3/8"X19 26 26 24
TB9-0BPK G1/2"X14 G1/2"X14 31 31 2T
TB9-12PK G3/4"X14 G3/4"x14 34 34 33
TB9-16PK G1"X11 G1"X11 42 42 41
TB9-20PK Gl1l.1/4"X11 G1.1/4"K11 48 48 50
TB9-24PK G1.1/2"%11 51.1/2°X11 53 53 511]
TB9-32PK G2"X11 G2"%11 62 62 T0
F
: o GB-PK
JIIA T,
BEREBRISO 1179=i8
C BSP FEMALE I1SO 1179 TEE
% = @ & THREAD R <= DIMENSIONS
PART NO, E F G A B C 51
GB-02PK GLl/8"X28 GL/B"X28 Gl/8"X28 20 20 20 16
GB-04PK G1/4"X19 G1/4"X19 G1/4"X19 225 225 225 19
GB-06PK G3/8"X19 G3I/E"X19 G3/8"X19 26 26 26 24
GB-08PK G1/2"X14 G1/2"X14 G1/2"¥14 31 3l 31 27
GB-12PK G3/4"K14 G3/4"K14 G3/4"K14 34 34 34 33
GB-16PK G1"¥11 G1"X11 G1"X11 42 42 432 41
GRB-20PK Gl.1/4"%11 G1.1/4"%X11 G1.1/4"X11 48 48 48 50
GB-24PK GL1.1/2"%11 | G1.1/2"%11 | Gl.1/2"X1l 53 53 53 &0
GB-32PK G2"X11 G2"X11 G2"X11 62 62 62 T0

F 5B9
— Im
TR 90° WHEESMEN60" AT/ HEMMAISO 1179
| "Jél 90° ELBOW BSP MALE 60° SEAT/BSP FEMALE 1SO 1179
A
® e # 4 THREAD R T DIMENSIONS
PART NO. E F A B 51
SB9-02 G1/8"X28 G1/8"%28 22.5 20 16
5B9-04 G1/4"X19 G1/4"X19 25.5 22 19
S5B9-06 G3/8"X19 G3/8"X19 305 26 24
5B9-08 G1/2"X14 G1/2"%14 39 31 30
5B9-12 G3/4"X14 G3/4"X14 435 37 23
5B9-16 G1"X11 G1"¥11 50.5 43 41
5B9-20 GLl.1/4"X11 G1.1/4"X11 55 46 50
B
i i Li.
% w HERMEISO 1179
‘ YA BSP FEMALE 1SO 1179
®f 5 & £ THREAD R <+ DIMENSIONS
PART NO. E F L 51
TB-02 G1/8"X28 G1/8"X28 22 14
TB-02-04 G1/8°X28 G1/4"X19 24 19
TB-04 Gl/4"X19 G1/4"X19 24 19
TB-D4-06 G1/4"X19 G3/8"X19 29 22
TB-06 G3/8"X19 G3/8"K19 26 22
TB-08 G1/2"X14 G1/2"X14 32 27
7B-08-10 G1/2"X14 G5/8"X14 36 30
7B-10 G5/8"X14 G5/8"X14 36 30
TB-12 G3/4"X14 G3/4"X14 36 22
TB-12-16 G3/4"%14 G1"X11 43 41
TB-16 G1"X11 G1"x11 40 41
TB-16-20 G1"X11 G1.1/4"X11 46 50
TB-20 G1.1/4"X11 G1.1/4"X11 44 50
TB-20-24 G1.1/4"X11 G1.1/2"X11 48 55
TB-24 G1.1/2"X11 G1.1/2"X11 45 55
7B-24-32 G1.1/2"X11 G2"X11 56 70
TB-32 G2"X11 G2"X11 54 70
169

170




‘ a JINHENG HYDRAULIC
wmiERE

B EWBSPTIESL BSPTTHREAD ADAPTORS

F ._’.

B EUBSPTIESL BSPTTHREAD ADAPTORS

1T-SP
REE IR
BSPT MALE
B8 % @ THREAD R = DIMENSIONS
PART NO. E F A B L 51
1T-025P R1/8"X28 R1/8"X28 10 10 26 12
17-02-045P R1/8"X28 R1/4"X19 10 145 305 14
1T-02-065P R1/8"X28 R3/8"X19 10 15 31 17
1T-045P R1/4"X19 R1/4"X19 145 145 34 14
1T-04-065P R1/4"X19 R3/8"X19 14.5 15 35 17
1T-065P R3/8"X19 R3/8"X19 15 15 36 17
1T-06-085P R3/8"X19 R1/2"X14 15 20 43 22
1T-085P R1/2"X14 R1/2"X14 20 20 46 22
17-08-125P R1/2"X14 R3/4"X14 20 20 48 27
1T-125P R3/4"X14 R3/4"X14 20 20 48 27
1T-12-165P R3/4"X14 R1"X11 20 255 55.5 36
1T-165P R1"X11 R1"X11 255 255 61 36
1T-16-205P R1"X11 R1.1/4"X11 255 26.5 64.5 46
1T-205P R1.1/4"X11 R1.1/4"X11 26.5 26.5 65.5 46
1T-20-245P R1.1/4"X11 R1.1/2"X11 26.5 26.5 &7 50
1T-245P R1.1/2"X11 R1.1/2"X11 26.5 26.5 67 50
1T-24-325P R1.1/2"X11 R2"X11 26,5 30 71.5 65
17-325P R2"X11 R2"X11 30 30 75 65

171

4 — 1T9-SP
E /? |"_" fui] |
=0 90° WRBHIMEY
— 51 90° ELBOW BSPT MALE
Tt & # & THREAD R st DIMENSIONS
PART NO. E F A B s1
1T9-025P R1/8"X28 R1/8"X28 21 21 11
1T9-02-04SP R1/8"X28 R1/4"X19 235 25.5 14
1T9-045P R1/4"X19 R1/4"X19 25.5 25.5 14
1T9-04-065P R1/4"X19 R3/8"X19 26.5 28.5 16
179-04-085P R1/4"X19 R1/2"¥14 30.5 36 22
179-065P R3/8"X19 R3/8"X19 28.5 28,5 17
179-06-08SP R3/8"X19 R1/2"X14 32.5 36 22
1T9-085P R1/2"X14 R1/2"X14 36 36 22
1T9-08-125P R1/2"X14 R3/4"K14 39,5 43.5 2T
1T9-125P R3/4"X14 R3/4"X14 43.5 435 27
179-12-165P R3/4"X14 R1"X11 48 50 33
1T9-165P R1"¥X11 RF1"¥11 50 50 33
179-16-205P R1"¥11 R1.1/4"%11 56.5 = 41
1T9-205P R1.1/4"X11 R1.1/4"X11 51.5 57.5 4]
1T9-245P R1.1/2"X11 R1.1/2"X11 62.5 62.5 48
1T9-325P R2"%11 R2"X11 68 75 63
L
A 4T-SP
TN
3 o BHEIRLIEL
vl BSPT MALE PLUG
8 # £ THREAD R < DIMENSIONS
PART NO. E A L 51
4T-025P R1/8"X28 10 16 12
4T-045P R1/4"X19 14.5 20 14
4T-065P R3/8"X19 15 21 17
4T-0B5P R1/2"X14 20 27 22
4T-125P R3/4"%14 20 29 27
4T-16SP R1"X11 25.5 36.5 36
4T-205P R1.1/4"X11 26.5 38.5 46
47-245P R1.1/2"X11 26.5 42 30
4T-325P R2"X11 30 a7 65
172



I,

JINHENG HYDRAULIC
wmiERE

5T-SP

ST TR ey ST B ARy

BBSPT MALE/ BSPT FEMALE

B EWBSPTIESL BSPTTHREAD ADAPTORS

Py
o

ST9-SP

B EUBSPTIESL BSPTTHREAD ADAPTORS

90° THEMPEIIMBPN/BEENRLY

f & ® &Y THREAD R = DIMENSIONS
PART NO. E F A L 51
5T-02-045P R1/8"X28 Rcl/4"¥19 11 325 19
5T-04-025P R1/4"X149 Rc1/8"%28 14.5 205 14

ST-045P R1/4"X19 Rcl/4"%19 14.5 36 19
5T-04-065P R1/4"X149 Rc3/8"X19 14.5 35 22
5T-06-025P R3/8"X19 Rcl/3"¥28 15 23 19

5T-065P R3/8"X19 Rc3/8"X19 15 33.5 22
5T-06-085P R3/8"X19 Rel/2"X14 15 44 27
5T-08-045P R1/2"X14 Rcl/4"X19 20 30 24
5T-08-065P R1/2"X14 Rc3/8"X19 20 30 24

5T-085P R1/2"X14 Rcl/2"x14 20 49 27
5T-08-125P R1/2°X14 Rc3/4"X14 20 51 36
5T-12-065P R3/4"X14 Rc3/8"X19 20 31 30
5T-12-085P R3/4"X14 Rcl/2"X14 20 31 30

5T=125P R3/4"X14 Rc3/4"x14 20 51 36
5T-12-165P R3/4"X14 Rel"X11 20 56.5 41
5T-16-085P R1"X11 Rcl/2"X14 255 a7 36
5T-16-125P R1"X11 Rc3/4"X14 25.5 37 36

5T-165P R1"X11 Rcl"X11 255 60 41
5T-16-205P R1"X11 Rcl.1/4"X11 25.5 64 50
5T-20-125P R1.1/4"X11 Rc3/4"X14 26.5 38 46
5T-20-165P R1.1/4"X11 Rel"X11 26.5 38 46

5T-205P R1,1/4"X11 Rel.1/4"X11 26.5 64.5 50
5T-24-165P R1.1/2"X11 Rel"X11 26.5 41 50
ST-24-205P R1.1/2"X11 Recl.1/4"X11 26.5 41 50
5T-32-205P R2"X11 Rcl.1/4"%11 30 45 69
5T-32-245P R2"X11 Recl.1/2"X11 30 45 65

90° TREEAM

\E - 90° ELBOW BSPT MALE / BSPT FEMALE
* = & 4 THREAD R =T DIMENSIONS
PART NO. E F A B 51
5T9-025P R1/8"X28 Rcl/8"X28 245 23 16
5TS-045P Ri1/4"X19 Rcl/4"X19 28.5 25 19
5T9-065P R3/8"X19 Rc3/8"X19 335 25 24
5T9-085P R1/2"X14 Rcl/2"X14 40.8 31.5 30
5T9-125P R3/4"X14 Rc3/4"X14 47.5 37 33
5T9-165P R1"X11 Rc1"X11 56.5 43 41
5T9-20SP R1.1/4"X11 Recl.1/4"X11 61 50 48
5T9-245P F1.1/2"%11 Rel.1f2"X11 15 55 63
TT9-PK

173

90° ELBOW BSPT FEMALE
5 ## & THREAD R <+ DIMENSIONS
PART NO. E F A B 51
7T9-02PK Rc1/8"X28 Rc1/8"X28 20 20 16
7T9-02-04PK Rc1/8"%28 Rc1/4"X19 20 22.5 19
TT9-04PK Rcl/4"X19 Rcl/4"X19 22.5 22.5 19
7T9-06PK Re3/8"X19 Rc3/8"X19 26 26 24
TT9-08PK Rcl/2"X14 Rcl/2"X14 3l 31 27
7T9-12PK Rc3/4"X14 Rc3/4"X14 34 34 33
TT9-16PK Rc1"X11 Rc1"X11 42 432 41
7T9-20PK, Rcl.l/4"X11 | Rel.1/4"X11 48 48 50
TT9-24PK Rcl.1/2"X11 Rcl.1/2"X11 53 53 G0
7T9-32PK Re2'X11 Re2"%11 62 62 70
174



‘ a JINHENG HYDRAULIC
wmiERE

B EWBSPTIESL BSPTTHREAD ADAPTORS

EXEEWOUNPTIES NPTTHREAD ADAPTORS

E/ sy

1IN

R EE IR

NPT MALE

L
1
7 S
Ak REE AR
\ ) BSPT FEMALE
\s1
£t 5 5% N THREAD R s DIMENSIONS
PART NO. E F L s1
T77-02 Rcl/8"X28 Rcl/8"X28 20 14
TT-02-04 Rcl/8"K28 Rcl/4"X19 30 15
7T-04 Rcl/4"X19 Rcl/4"X19 30 19
TT-04-06 Rc1/4"X19 Rc3/8"X19 30 22
7T-04-08 Rc1/4"X19 Rc1/2"X14 40 27
TT-06 Rc3/8"X19 Rc3/8"X19 30 22
7T-06-08 Rc3/8"X19 Rcl/2"X14 40 27
7T-06-12 Rc3/8"X19 Rc3/4"X14 ay 36
7T-08 Rcl/2"X14 Rcl/2"X14 40 27
77-08-12 Rcl/2"X14 Rc3/4"X14 42 36
TT-12 Rc3/4"X14 Rc3/4"X14 42 16
7T-12-16 Rc3/4"X14 Rcl"X11 50 41
7T-16 Rel"X11 Rel"X11 50 41
7T-16-20 Rc1"X11 Rel.1/4"X11 52 50
7T-20 Recl.1/4"X11 Rcl.1/4"X11 55 50
7T-24 Rcl.1f2"X11 Rcl.1/2"X11 55 55
7T7-32 Rc2"X11 Rc2"X11 65 70
o
1 | GT-PK
£
L Il
E/ NG R ERR =
A C BSPT FEMALE TEE
£ 5 # 4@ THREAD R s DIMENSIONS
PART NO. E F G A B C 51
GT-02PK | Rcl/8"X28 | Rcl/8"X28 | Rcl/8"X28 20 20 20 16
GT-04PK | Rcl/4"X19 | Rcl/4"X19 | Rcl/4"X19 Z5 225 22.5 19
GT-06PK Rc3/8"X19 Rc3/8"X19 | Rc3/8"X19 26 26 26 24
GT-08PK | Rclf2"X14 | Rcl/2"X14 | Rcl/2"X14 31 il 31 27
GT-12PK | Rc3/4"X14 | Rc3/4"X14 | Rc3/4"X14 34 34 34 33
GT-16PK Re1"X11 Re1"X11 Re1"X11 42 42 42 41
GT-24PK | Re1.1/2"X11 | Rcl.1/2"X11 | Rcl.1/2"X11 53 53 53 60
GT-32PK Re2"X11 Rc2"X11 Re2"X11 62 62 62 70

ft S # 4 THREAD R <+ DIMENSIONS
PART NO. E F A B L s1
1IN-02 Z1/8"X27 Z1/8"%27 10.5 10.5 27 12
1N-02-04 Z1/8"%27 71/4"%18 10.5 15 31 17
1N-02-06 Z1/8"X27 Z3/8"X18 10.5 16 32 19
1N-04 Z1/4"X18 Z1/4"%18 15 15 35 17
IN-04-06 Z1/4"X18 Z23/8"X18 15 16 3T 19
IN-06 Z3/8"X18 Z3/8"¥18 16 16 33 19
IN-06-08 Z3/8"X18 Z1/2"¥14 16 19.5 43.5 22
1N-06-12 Z3/8"X18 Z3/4"%X14 16 19.5 45,5 27
1N-08 21/2"X14 Z1/2"X14 19.5 18.5 47 22
1N-08-12 Z1/2"X14 23/4"%14 19.5 19.5 49 27
1IN-08-16 Z1/2"%14 Z1"X11.5 19.5 25.5 56 36
1N-12 Z3/4"X14 Z3/4"X14 19.5 19.5 49 27
IN-12-16 Z3/4"X14 Z1"X11.5 19.5 25.5 55 36
IN-12-20 Z3/4"X14 Z1.1/4"X11.5 19.5 26.5 59 46
1M-16 Z1"X11.5 Z1"%11.5 25.5 25.5 61 36
IN-16-20 Z1"¥11.5 Z1.1/4"X11.5 25.5 26.5 64 46
1N-16-24 Z1"X11.5 Z1.1/2"X11.5 255 275 68 50
1N-20 71.1/4"X11.5 71.1/4"X11.5 26.5 26.5 65 46
1N-20-24 71.1/4"K11.5 £1.1/2"X11.5 26.5 27.5 69 50
1N-24 Z1.1/2"X11.5 Z1.1/2"%11.5 27.5 27.5 9 50
IM-24-32 Z1.1/2"¥11.5 22"%11.5 27.5 27.5 i 65
1N-32 Z2"X11.5 Z2"X11.5 27.5 2715 71 65

175

176



‘ a JINHENG HYDRAULIC
wmiERE

1IN9S

90° ZMmETIMRLY
90° ELBOW NPT MALE

EHEEMUNPTIESL NPTTHREAD ADAPTORS

e $# £ THREAD R 5T DIMENSIONS
PART NO. E F A B 51
1N9-02 Z1/8"X2T Z1/8"X27 21 21 I1
1N9-02-04 Z21/8"X27 Z1/4"X18 235 25.5 14
1NS-04 Z1/4"X18 Z1/4"X18 25.5 255 14
1N9-04-06 Z1/4"X18 Z23/8"X18 28 31 19
1N9-04-08 Z1/4"X18 Z1/2"X14 30.5 26.5 22
1N9-06 Z3/8"X18 Z3/8"X18 31 31 19
1N9-06-08 Z3/8"X18 Z1/2"X14 33.8 37.3 22
1NS-08 21/2"X14 Z1/2"X14 37.3 37.3 22
1N9-08-12 Z1/2"X14 Z23/4"X14 40 44 27
1N9-12 23/4"X14 Z23/4"X14 44 44 27
1N9S-12-16 Z3/4"X14 Z1"X11.5 46.5 50 33
INS-16 Z1"X11.5 Z1"X11.5 S0 50 33
1N9-20 Z1.1/4"X11.5 Z1.1/4"X11.5 54 54 41
1N9-24 71.1/2"X11.5 Z1.1/2"X11.5 63 63 48
1N9-32 Z2"X11.5 Z2"%11.5 68 68 63

177

EXEEWOUNPTIES NPTTHREAD ADAPTORS

= AN
E S1 G o
Ty
e § EHHHEIMEL =R
i o NPT MALE TEE

I A c ]

e 8 & THREAD R =T DIMENSIONS

PART NO. E F G A B G S1
AN-02 Z1/8"%X27 Z1/8"X27 Z1/8"X27 21 21 21 11
AN-04 Z1/4"%18 Z1/4"X18 Z1/4"%18 25.5° | 255 | 255 14
AN-06 Z3/8"X18 Z3/8"X18 23/8"X18 31 31 31 19
AN-08 21/2"X14 21/2"X14 21/2"X14 36.7 | 367 | 36.7 22
AN-12 Z3/4"X14 23/4"X14 73/4"X14 44 44 44 27
AN-16 ZIMN11.5 Z1"X11.5 Z1"X11.5 50 50 50 i3
AN-20 Z1.1/4"X11.5 Z1.1/4"X11.5 Z1.1/4"X11.5 54,5 | 545 | 54.5 41
AN-24 Z1.1/2"X11.5 Z1.1/2"X11.5 Z1.1/2"X11.5 595 | 59.5 | 59.5 48
E:
A
4N
2]
7/ EHITR B IMBLE L
NPT MALE PLUG
E
51
s 9% &7 THREAD R =T DIMENSIONS

PART NO. E A L S1

4N-02 Z1/8"%27 10.5 16 12

4N-04 71/4"X18 15 20 17

4AN-06 Z3/8"X18 16 21 19

4N-08 Z1/2"%14 19.5 27 P

4N-12 Z3/4"%14 19.5 29.5 27

4N-16 Z1"%11.5 25.5 36.5 36

4N-20 Z1.1/4"X11.5 26.5 38.5 46

4N-24 Z1.1/2"X11.5 27.5 43 50

4N-32 Z2"%11.5 27.5 43.5 65

178




‘ a JINHENG HYDRAULIC
wmiERE

EHEEMUNPTIESL NPTTHREAD ADAPTORS

L
A
E SN
L
B } HEEN RN/ HEERRLY
' F NPT MALE / NPT FEMALE
S1
g2 W @ THREAD R & DIMENSIONS
PART NO. E F A L S1
SN-02 Z1/8"K27 Z1/8"K27 10.5 255 17
5N-02-04 Z1/8"%27 Z1/4"X18 10.5 31 19
5N-02-06 Z1/8"X27 Z3/8"X18 11 31 24
5N-04-02 Z1/4"X18 Z1/8"x27 15 22 17
5M-04 21/4"X18 21/4"K18 15 35.3 19
5N-04-06 Z1/4"X18 73/8"X18 15 36.6 24
5N-06-02 Z3/8"X18 Z1/8"X27 16 22 19
5N-06-04 Z3/8"X18 Z1/4"X18 16 22 19
5N-06 Z3/8"X18 Z£3/8"K18 16 37.6 24
5N-06-08 Z3/8"X18 Z1/2"X14 17 437 30
5M-06-12 Z23/8"X18 Z3/a"X14 17 47 36
5N-08-04 Z1/2°%14 Z1/4"X18 19.5 28 24
5M-08-06 Z1/2"K14 Z3/8"X18 19.5 28.5 24
5N-08 Z1/2"%14 71/2"%14 19.5 47.5 30
5M-08-12 Z1/2"K14 23/4" %14 195 49 36
5N-12-06 73/4"X14 73/8"X18 19.5 30.5 27
5M-12-08 £3/4"K14 21/2"%14 19.5 30.5 7
5N-12 Z3/4"%14 Z3/4"%14 19.5 49 36
5M-12-16 Z3/4"X14 Z1"%11.5 19.5 55.4 41
5N-16-08 Z1'X115 Z1/2'X14 25.5 35.5 36
5M-16-12 Z1"X11.5 Z23/4"K14 255 36.5 36
5N-16 Z1I'X115 Z1'X11.5 25.5 60.7 41
5N-16-20 71'¥115 | Z1.1/4"X1L5 25.5 63.5 50
5N-20-12 | ZL1/4"X115 |  Z3/4"X14 26,5 38,5 46
§N-20-16 | Z1.1/4"X115 | Z1"X1L5 26.5 41 46
5N-20 Z1.1/4"X11.5 | 21.1/4"X11.5 26.5 61.5 50
5N-20-24 Z21.1/4"X11.5 | Z1.1/2"%11.5 26.5 62.5 &0
5N-24-16 | Z1.1/2"X115 | Z1"X1LS 27,5 415 50
SM-24-20 ZL1/2"X11.5 | Z1.1/4"x11.5 27.5 41 20
5M-24 | ZL.1/2"X115 | Z1.1/2"X1L5 215 62.5 65
SM-24-32 Z1.1/2"X11.5 Z2"%X11.5 21.5 E6.53 70
5N-32-20 Z2'X115 | Z1.1/4"X1L5 21.5 445 65
5N-32-24 Z2"X115 | Z1.1/2"X115 27.5 45 65
5N-32 Z2'X115 Z2"%11.5 27.5 62.5 70

179

EXEEWOUNPTIES NPTTHREAD ADAPTORS

F
E ” 5N9
T3 90° BAEEINRL/HHEERBK
){51 90° ELBOW NPT MALE /NPT FEMALE

e & £ THREAD R < DIMENSIONS
PART NO. E F A B S1
5N9-02 Z1/8"X27 Z1/8"%27 24.5 17.8 16
5NY-04-02 Z1/4"%18 Z1/8"X27 26.5 16.8 16
SNS-04 Z1/4"%18 Z1/4"X18 28 22.4 19
5N5-04-06 71/4"X18 Z3/8"X18 31 25 24
END-06-04 £3/8"K18 Z1/4"%X18 31 22.4 19
5M9-06 Z3/8"X18 Z3/8"%18 33.5 25 24
S5N9-08 Z1/2"¥14 Z1/2"¥14 41.2 31.2 30
5N9-12-08 23/4"X14 Z1/2"X14 45 31.2 30
5N9-12 23/4"X14 F3fa"x14 45.2 34.5 33
5N9-16 Z1"X11.5 Z1"%X11.5 54.5 41.1 41
SMN9-20 Z1.1/4"¥11.5 71.1/4"X11.5 63 43.2 48
5N9-24 71.1/2"%X11.5 Z1.1/2"X115 71.5 52.8 63
5M9-32 Z2"X11.5 Z2"X11.5 73.5 62 65

180



| ‘ a JINHENG HYDRAULIC
wmiERE

EHEEMUNPTIESL NPTTHREAD ADAPTORS

FETT JN
4 @
A | (2
IDY4N I E R AR EIME =
E i NG NPT FEMALE / NPT MALE BRANCH TEE
asl| ¢
e & £ THREAD R st DIMENSIONS
PART NO. E F G A B C S1
JN-02 21/8"X27 Z21/8"X27 Z1/8"X2T 17.8 24.5 17.8 14
JN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 224 28 22.4 19
JM-06 23/8"¥18 Z£3/8"X18 Z23/8"X18 25 33.5 25 24
JN-08 Z1/2"X14 21/2"X14 Z1/2"X14 312 | 412 | 312 | 30
JN-12 23/4"X14 23/4"K14 23/4"%14 34.5 45.2 34.5 33
JN-16 Z1"X11.5 Z1"%11.5 £1"X11.5 41.5 54.5 41.5 41
JN-20 £1.1/4"X11.5 21.1/4"X11.5 21.1/4"¥X11.5 48 58.5 485 48
JN-24 Z1.1/2"X11.5 Z1.1/2"X11.5 Z1.1/2"X11.5 528 | 715 | 52.8 63
F
Gm HN
g} — | ! EHAEERRL/AEEIMBGEE=E

A ‘x@ c NPT FEMALE /NPT MALE RUN TEE

s 8 & THREAD R <7 DIMENSIONS
PART NO. E F G A B C 51

HN-02 Z1/8"X27 Z1/8"%27 Z1/8"X27 20 20 24.5 16
HN-04 21/4"X18 21/4"X18 Z1/4"X18 25 25 | 285 | 19
HN-06 Z3/8"X18 Z3/8"X15 23/8"%18 27 27 33.5 24
HN-08 Z1/2"X14 Z1/2"X14 Z1/2"X14 35 35 | 425 | 30
HM-12 73/4"X14 Fi/a"¥X14 Z3/4"%14 37 37 45.2 33
HN-16 Z1"%11.5 Z1"X11.5 Z1"X11.5 44 44 | 545 | M
HN-20 £1.1/4"X11.5 21.1/4"K11.5 £1.1/4"K11.5 48 48 B85 48
HN-24 Z1.1/2"X11.5 Z1.1/2"X11.5 Z1.1/2"X11.5 528 | 528 | 715 | 63

2558 SWHNPTIES NPT THREAD ADAPTORS  NHHIG HIDRAILI
L
TN
E 4 F
ALV
EHhEEARL
NPT FEMALE
#®t = # % THREAD R < DIMENSIONS
PART NO. E F L 51
TN-02 21/8"K2T 21/8"K27 24 i7
TN-02-04 Z1/8"%2T Z1/4"%18 b | 19
TN-02-06 Z1/8"N2T Z3/8"%18 30 22
TN-04 Z1/4"%18 Z1/4"%18 29 19
TH-04-06 Z1/4"X18 23/8"K18 3l 22
TN-D6 Z23/8"X18 Z23/8"X18 29 22
TN-06-08 Z23/8"K18 Z1/2"K14 38 30
THN-D6-12 23/8"¥18 23/4"K14 40 36
TN-08 21/2"K14 21/2"K14 38 30
TH-DB-12 Z1/2"X14 Z3/4"X14 43 36
TN-12 23/4"K14 23/4"K14 39 36
TN-12-16 Z3/4"X14 Z1"X11.5 45.5 41
TN-16 F1"X11.5 ZF1"X11.5 48 41
TN-20 Z1.1/4"¥11.5 Z1.1/4"¥11.5 49 50
TN-24 Z21.1/2"%11.5 Z21.1/2"%11.5 49 60
TN-32 £2"X11.5 £2"X11.5 50 T0
2
TN9-PK
Baareand @
E/ FJX_ 90° TRFIFHEERBD
A sl 90° ELBOW NPT FEMALE
® 8 # & THREAD R & DIMENSIONS
PART NO. E F A B 51
THNS-02PK L1/B™ 2T Z1/87K27 20 20 16
TN9-02-04PK Z1/8"%27 Z1/4"X18 20 225 19
TN9-04PK Z1/4"K18 21/4"X18 225 225 19
TNO-04-06PK Z1/4"K18 23/8"K18 25 26 24
THNS-06FK Z3/8"¥18 23/8"K18 26 26 24
TNS-08PK Z1/2"K14 Z1/2"X14 21 3l 27
TN9-08-12PK 21/2"K14 Z23/4"X14 34 34 33
TN9-12FK Z3/4"X14 23/4"K14 34 34 33
THNS-12-16PK 23/4"X14 Z1"X11.5 42 42 4l
TN9-16PK Z1"X115 Z1"X115 42 42 41
TN9-20PK £1.1/4"¥11.5 £1.1/4"X11.5 48 48 &0
TNO-24PK Z1.1/2"X11.5 Z1.1/2"X115 53 53 G0
THN9-32PK Z2"X115 Z2"X115 62 62 T0

181

182




®

JINHENG HYDRAULIC
BERE SHBERUNPTIES NPTTHREAD ADAPTORS/E5IBH 14 BEY QHE% JC 14°CONE FLAREDTUBE ADAPTORS
F
lv"— GN-PK
, - R RENB B
2 NPT FEMALE TEE
EJ -~/ NE.
A C
e &2 & THREAD R = DIMENSIONS
PART MO, E F G A B iC S1
GN-02PK E.'l,n"ﬂ"}'{ET Z1/8"%27 21/8"%27 20 20 20 16
GMN-04PK Z21/4"X18 Z1/4"X18 Z1/4"X18 225 22.5 245 19
GMN-06PK 23/8"%18 23/8"X18 23,!"8"3':18 26 26 26 24
GMN-0BPK 21/2"¥%14 Z1/2"%14 Z1/2"%14 31 31 31 27
GMN-12PK 23/4"X14 23/4"%14 23/4"%14 34 34 34 33
GM-16PK Z1"¥115 FI"X11.5 Z1"X11.5 472 42 42 41
GMN-20PK £1.1/4"X11.5 El.l,l’tl"}(ll.S Ei.l,l’tl"}{ll.ﬁ 48 48 48 L
GMN-24FK Z1.1/2"%11.5 Z11f2"%11.5 Z1.1/2"411.5 53 53 53 &0
GMN-32FPK Z2"X11.5 Z22"X11.5 Z2"X11.5 62 b b TO
e, BRSLEEVE
1J4

frd-\-

45° WRHJICIMRNTA® Hhigt
45° ELBOW JIC MALET4° CONE

t S ¥ 4@ THREAD F = DIMENSIONS
PART NO. E E A B S1

114-04 T/16"X20 T/16"%X20 215 215 11

114-05 1/2"X20 1/2°%20 23 23 14

114-06 9/16"X18 a/16"%18 228 228 14

1J4-08 3/4"%16 3/4"X16 268 | 268 19

1J4-10 T/B"X14 T/8"X14 31 31 22

1J4-12 1.1/16"X12 1.1/16"X12 355 | 355 27

1J4-16 1.5/16"X12 1.5/16"X12 38.5 38.5 33
FHEBENERBTIIE. EFHE00OFE, EHSE K H S5 ENB200. NB500. B+ H iz EHET,
REASERHESIEMNE200.NBI00.Note © Nutand sleeve should be ordered separately. The nut NE200 and
sleeve NB500 is suitable for metrictube the nut NB200 and sleeve NE300 is suitable forinch tube.

183

RHENT4m Y O%% JICT4°CONE FLARED TUBE ADAPTORS

L
£ !
74 upres 4 EFIJICIMR T HhiEE
A il “ JIC MALE 74° CONE
1]

% 8 # i THREAD R & DIMENSIONS
PART NO. E F A B L 51
1J-02 5/16"K24 | 5/16"X24 11.4 11.4 29 12
1J-02-03 5/16"K24 3/8"X24 114 12.2 29.5 12
11-03 3/8"%24 3/8"X%24 12.2 12.2 30.5 12
1J-04 T/16"X20 | 7/16"X20 14 14 34 12
1J-04-05 7/16"%20 1/2"%20 14 14 34 14
1J-04-08 7/16"X20 3/4"%16 14 16.7 385 22
1J-05 1/2"%20 1/2™%20 14 14 34 14
14-05-08 1/2"%320 9/16"X18 14 14.1 34 T
1J-05-08 1/2"X20 3/4"X16 14 16.7 385 22
1J-05-10 1/2"X20 7/8"%14 14 19.3 41 24
1J-06 9/16"X18 | 9/16"X18 14.4 14.1 34.2 17
1J-06-08 9/16"X18 3/4"X16 141 16.7 385 22
1J-06-10 9/16"X18 7/8"%14 14.1 19.3 415 24
1J-06-12 9/16"%18 | 1.1/16"x12 14.1 219 46 30
1J-08 3/4"X16 3/4"X16 16.7 16.7 42 22
1J-08-10 3/4"X16 T/8"X14 16.7 19.3 44 24
11-08-12 3/4"%16 | 1.1/16"%12 16.7 21.9 48.5 30
1J-08-16 3/4"%16 1.5/16"%12 16.7 231 sl 36
1J-10 7/8"X14 7/8"%14 19.3 19.3 46.5 24
1J-10-12 T/8"X14 | 1.1/16"X12 19.3 219 51 30
1J-10-16 7/8™%14 | 1.5/16"X12 19.3 23.1 53.5 36
1J-12 1.1/16"X12 | 1.1/16"X12 219 219 54 30
1J-12-14 | 1.1/16"X12 | 1.3/16"%12 219 226 55.5 32
1J-12-16 | 1.1/16"X12 | 1.5/16"X12 219 23.1 56 36
1J-14 1.3/16"X12 | 1.3/16"X12 226 226 56 32
1J-14-16 | 1.3/16"X12 | 1.5/16"X12 226 231 56.5 36
1J-16 1.5/16"%12 | 1.5/16"%12 23.1 231 57 36
1J-18-20 1.5/16"%12 | 1.5/8"X12 231 24.3 60.5 46
1J-16-24 | 1.5/16"X12 | 1.7/8"X12 23.1 27.5 65.5 50
1J-20 1.5/8"X12 | 1.5/8"X12 24.3 24.3 62 46
1J-20-24 1.5/8"X12 | 1.7/8"X12 243 275 67 50
1J-20-32 15/8"X12 2.1/27%12 243 338 T5 65
1J-24 1.7/8"%12 | L.7/8"X12 2715 27.5 70 50
14-24-32 1.7/8"%12 | 2.1/2"X12 275 339 78.5 65
1J-32 21/2"%12 | 2.1/2"x12 33.9 339 85 65

FEELHERBTITE. ETHEAANM, EMEZE2RHE A TIEANB200, NESO0. B F HiE A EH

0, SR E DLERENBZOD NB300, Note; Nut and sleeve should be ordered separately, The nut
MB200 and sleeve NBS00 is suitable for metric tube the nut NB200 and sieeve NB300 is suitable for inch tube.

184



‘a JINHENE HYORAULC ey sm497 4068 @4 142 3% JICT4°CONE FLARED TUBE ADAPTORS £$@ST4BET TIER JICT4°CONE FLARED TUBE ADAPTORS MHENE HIDRALLE ‘a|

1J9 o
AJ
?4'{5
L] L]
A 0" WNAICHNRTE R £HICIMERTA S
90° ELBOW JIC MALE 74° CONE JIC MALE 74° CONE TEE
ft = # % THREAD R 3 DIMENSIONS ft 8 %0 THEEAD R DIMENSIDNS
PART NO. E F A B o1 PART MO. E F G A B C 51
T " L] ll
11902 5/16"%24 5/16"%24 205 205 1 M:E;m THEXA0 | T80 | 71670 ;‘: i;‘: 2::
7/16"X20 9/16"X18 | 7/16"X20 ; 2 : 14
1J9-03 3/8"X24 3/8"X24 22 22 11 / / /
AJ-05 1/2"%X20 1/2"X20 1/2"%20 26 26 26 14
1J9-04 T/16"X20 T/16"¥20 245 245 11
T TG T e o w AJ-06-D4-06 9/16"X18 7/16"X20 9/16"X18 269 26.6 26.9 14
- - zﬁlg 1519 = AJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 26.9 14
1J9-06 16"X1 16"X1 2 .

19 o E“ 8 o EI 8 AJ-08-06-08 3/4"X16 9/16"X18 3/4"X16 32 30 32 18
o 1618 ie'x18 2 = - AJ-10 7/8"X14 7/8m14 | 7/8"%14 37.8 378 37.8 22
1J9-06-10 9/167X18 9/167X18 32 318 22 AJ-12 11/16"12 | 1116z | 1162 | 442 44.2 442 27

1Jo-08 3/4°X16 3/4"X16 32 32 19 AJ-16 1.5/16"X12 | 1.5/16™12 | 1.5/16"%12 49 49 49 33
1J9-08-10 3/4"X16 3/4"X16 34.8 37.8 22 AJ16-12-16 | 15/16"%12 | 1.14a6"x12 | 1.5/16"X12 49 48 49 33
1J3-10 7/8"X14 7/8"X14 37.8 37.8 22 AJ-20 15/8"12 | 15/8"x12 | 15/8"X12 56.5 56.5 56.5 41
1J5-10-12 7/8"X14 7/8"X14 41 44.2 27 AJ-24 1.7/8"%12 1.7/8"%12 | 1.7/8"X12 63 63 63 48
119-12 1.1/16"X12 1.1/16"K12 4432 44.2 27 AJ-32 2.1/2"X12 21/2"%12 | 2.1/2™12 78 78 78 63
1.5:14 L5716-412 L5716-X12 475 el 3 T REBRHERBFITE. EFER0NAHN, RAS S RHIES JEMANB200.NB500, BFH
1J8-16 1.5/16"X12 1.5/16"X12 49 49 33 FhHEHMN, EHESEHESEENB200.NB300. Note ! Nutandsleeve should be ordered
1J9-20 1.5/8"%12 1.5/8"X12 55.5 55.5 41 i‘eapaﬂrately.ThiruftMEZUi?anbd sleeve NB500 is suitable for metrictube, the nut NB200 and sleeve
300 i it i t ¥
1J9-24 1.7/8"X12 1.7/8"X12 62.5 62.5 48 RIS IR AR
1J9-32 2.1/2"%12 2.1/2"%12 T8 78 63
FHELHERBTIIE. EFHFEDA LK, EASSRAEAIEHANB200.NB500. B FHiF
HEFN, AEEERAESILERNB200.NB300,
Mote : Nutand sleeveshould be ordered separately.The nut MNB200 and sleeve NB500 is suitable
far metrictubethe nut NB200 and sleeve NB300 is suitable forinch tube.

185

186




‘ a JINHENG HYDRAULIC
wmiERE

E£HBNTEEI Q%% JICT4°CONE FLARED TUBE ADAPTORS

90° THRFIJICIMRLTA FhiE/
JICHERENTA® N
90°ELBOW JIC MALE 74° CONE/
JIC FEMALE 74° SEAT

£ L B, JIRSLEEVE BENUT
|| e EHJICI BT ShiR/
10w | wl i o - - JICHBSTA° ot
\ té_ JIC MALE 74° CONE/
o JIC FEMALE 74° SEAT
2)

ft S # & THREAD R = DIMENSIONS
PART NO. E F A B L S1 S2
2J-04 T/16"K20 T/16"K20 14 9 28 12 15
21-04-05 7/16"X20 1/2"%20 14 9.5 28.5 12 17
2J-04-06 7/16"X20 9/16"X18 14 10,5 28,5 14 19
2J-04-08 7/16"X20 3/4"X16 14 11 30.5 19 24
2J-05 1/2"%20 1/2"%20 14 9.5 29 14 17
2J-05-08 1/2"%20 3/4"X16 14 11 30.5 19 24
2J-06 9/16"X18 9/16"X18 14.1 10.5 29 1r7 19
2J-06-08 9/16"X18 3/4'X16 14.1 11 31 19 24
2.J-06-10 9/16"X18 Tia"x14 14.1 13 33.5 22 27
24-08 3/4"X16 3/4"X16 16.7 11 36 22 24
2J-08-06 3/4"X16 9/16"X18 16.7 10.5 34 22 19
2J-08-10 3/4"%16 7/8"X14 16.7 13 36.5 22 27
21-08-12 3/4"X16 1.1/16"X12 16.7 15 39.5 27 32
2J-10 7/8"X14 7/8"%14 19.3 13 39 24 27
24-10-08 T/8"%14 3/4"%18 123 11 38 24 24
2J-10-12 7/8"X14 1.1/16"X12 19.3 15 42 27 32
21-12 1.1/16"%12 1.1/16"X12 21.9 15 44.5 30 32
2J-12-10 1.1/16"X12 7/8"X14 219 13 435 30 27
2J-12-16 1.1/16"¥12 1.5/16"X12 21.9 16 45.5 36 41
2J-16 1.5/16"X12 1.5/16"X12 23.1 16 46,5 36 41
2J-16-20 1.5/16"X12 1.5/8"X12 23.1 17 53 41 50
2120 1.5/8"X12 1.5/8"X12 24.3 17 54.5 46 50
2J-20-24 1.5/8"X12 1.7/8"X12 243 20 55.5 46 55
2J-24 1.7/8"X12 1.7/8"X12 27.5 20 61 50 55
2J-24-32 1.7/8"X12 2.1/2"%12 27.5 24.5 03 6o [i=]
24-32 2.1/2"X12 2.1/2"X12 33.9 24.5 69.5 65 75

2J9
ft 2 # & THREAD R s DIMENSIONS
PART NO. E F A B 51 52
2J9-02 5/16"X24 5/16"K24 21 56 11 12
2J9-03 3/8"X24 3/8"X24 22 5 151 14
2J5-04 7/16"%20 T/16"X20 24.5 5 11 15
2J9-05 1/2"X20 1/2"X20 265 9.5 14 17
2)9-06 9/16"X18 9/16"X18 26.9 10.5 14 19
2J5-08-06 3/4" %16 g/16"X18 &2 10.5 15 19
2J9-08 3/4"X16 3/4"X16 32 11 19 24
219-08-10 3/4"X16 7/8"%14 32 13 19 27
2J9-10 7/8"X14 7/8"X14 37.8 13 22 27
2J9-10-08 7/8"X14 3/4"X16 37.8 11 22 24
219-10-12 7/8"X14 1.1/16"X12 39.5 15 24 32
2J9-12 1.1/16"X12 1.1/16"X12 44.2 15 27 32
2J9-12-10 1.1/16"X12 7/8"X14 44.2 13 27 27
219-12-16 1.1/16"X12 1.5/16"X12 46 16 30 41
2J9-14 1.3/16"X12 1.3/16"%12 47,5 15 30 36
2J9-16 1.5/16"X12 1.5/16"X12 488 16 32 41
2J9-16-20 1.5/16"X12 1.5/8"X12 54 17 41 50
219-20-16 1.5/8"X12 1.5/16"X12 55.5 16 41 41
2J9-20 1.5/8"X12 1.5/8"X12 55.5 17 41 50
2.J9-20-24 1.5/8"%12 L.7/8"X12 59.5 20 48 55
2J9-24-20 1.7/8"%12 1.5/8"X12 62.5 17 48 50
219-24 1.7/8"X12 1.7/8"X12 62.5 20 48 55
2J9-32 2.1/2"X12 2.1/2"X12 75.5 24.5 63 75

AMEENERBITIIE. EFAE0RLE, id AW EHESIERANB200.NBS00. EFHIER
HEE, KRG RAESSERANB200.NB200,

separately.The nut NB200 and sleeve NB500 is suitable for metrictube the nut NE200 and sleeve NB300

is suitable forinch tube.

Mote ¢ Wutandsleeveshould be ordered

Nut and sleeve should be ordered

ARBRHERSTITH. EFARZDALHE, LRSS RIEESFEFANB200,NB500. BF HiZ
hiwe, BEARS R RS IEMANB200.NB300. Note :
separately. The nut NB200 and sleeve NB500 is suitable for metrictube,the nut NB200 and sleeve

NB300is suitable forinch tube,

187

188



‘ a JINHENG HYDRAULIC
wmiERE

4"

E£HBNTEEI Q%% JICT4°CONE FLARED TUBE ADAPTORS

u |
|
Tﬂ-’tu—i m ?_J ]-—I'EEJ 4"
A C
BJ

ERIJICHMBETA® S/ EFIJICABNTS "HHEAE=E

JIC MALE 74° CONE/JIC FEMALE BRANCH TEE
e #® & THREAD R <t DIMENSIONS

PART NO. E F G A B C 51 52

BJ-04 T/16"%20 T/16"%20 T/16"%20 24.5 9 245 11 15
BJ-05 1/2"%20 1/2"%20 L/2"%20 26,5 9.5 26.5 14 17
BJ-06 9/16"X18 9/16"X18 9/16"X18 269 | 105 | 265 14 18
BJ-08 3/4"X16 3/4"X16 3/4"X16 32 11 32 19 24
BJ-10 7/8"%14 7/8"%14 7/8"%14 378 14 TR 22 27
BJ-12 1.1/16"X12 1.1/16"X12 1.1/16"¥12 44.2 15 | 442 27 32
BJ-14 1.3/16"X12 1.3/16"X12 1.3/16"X12 47.5 15 | 475 | 30 36
BJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 49 16 49 33 41
BJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 56 17 56 41 50
BJ-24 1.7/8"%12 1.7/8"X12 1.7/8"X12 62.5 20 | 62.5 48 55
BJ-32 2.1/2"%12 2.1f2"%12 2.1/2"%12 78 245 | 78 63 75

F RELFMERSITITE. B FHEDN 2N, ERE SR ESRIEANB200, NBS00, BF HiZ AR, MARSRTE
SR AMB200. NB300. Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NBSOO is
suitable for metric tube, the nut NE200 and sleeve NB300 is suitable for inch tube,

189

74" C'—H

T e e

@ 51

Ni[t

(o

[ HESLEEYE
-1 u| T4

W EHUT

EFIICHMRETS” HhEE/EFIICHBNTS ‘HBEEE=
JIC MALE 74° CONE/JIC FEMALE 74 ° SEAT RUN TEE

e 2 51 THREAD R =t DIMENSIONS
PART NO. E F G A B G 51 52
CJ-04 7/16"X20 7/16"X20 7/16"X20 245 | 245 9 11 15
CJ-05 1/2"X20 1/2"X20 1/2"%20 26.5 | 26.5 9.5 14 17
CJ-06 9/16"%18 9/16"X18 9/16"X18 269 | 26.9 | 10.5 14 19
CJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 9.5 19 24
cJ-10 7/8"X14 7/8"%14 T/8"X14 378 | 378 | 13 22 27
CJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 442 | 442 | 15 27 32
CJ-14 1.3/16"X12 1.3/16"X12 1.3/16"X12 475 | 415 15 30 36
CJ-16 1.5/16"X12 1.5/16"%12 1.5/16"X12 49 49 16 33 41
CJ-20 1.5/8"X12 1.5/8"%12 1.5/8"X12 56 56 17 41 50
CJ-24 1.7/8"%12 1.7/8"X12 1.7/8"X12 62.5 | 625 | 20 48 55
CJ-32 2.1/2"X12 2.1/2"X12 2.1/2"%12 78 78 | 245 | 63 75
FESRHERSTITH. BFRHEDHAHN, MRS S RIHESJIEFANE200. NBS00, #FHEHESH, ABREEHE
£5UEMANB200. NB300. Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NBS00 is
suitable for metric tube, the nut NB200 and sleeve NB300 is suitable far inch tube.

190




‘ a JINHENG HYDRAULIC
wmiERE

E£HBNTEEI Q%% JICT4°CONE FLARED TUBE ADAPTORS

L 28
A i sﬁ?\rE (T 4]
S1 (7
SRS Y,
; 1  ald SEHIICHBLTA" ShEEHEL
1w —ll:l i JIC MALE 74° CONE PLUG
]
3 8 4 THREAD R 5 DIMENSIONS
PART NO. E A L S1
41-04 T/16"X20 14 20 12
41-05 1/2"%20 14 20 14
4J-06 9/16"X18 141 20 17
4J)-08 3/4"X16 16.7 25 22
4J-10 T/8"%14 19.3 275 24
41-12 1.1/16"X12 219 32 30
4J-14 1.3/1e"X12 226 335 32
4J-16 1.5/16"X12 231 34 36
4J-20 1.5/8"X12 243 38 46
41-24 1.7/8"X12 27.5 44.5 50
41-32 2.1/2"X12 339 51 65
. EEEHERETITE. BEFHE LA, ERS SR HESIRANEZ00. NES00. B FHIEAETH, KRS EHE
SrRlEFANB200. NB300.  Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NBS0O is
suitable for metric tube, the nut NB200 and sleeve NB300D is suitable for inch tube.

191

RHENT4m Y O%% JICT4°CONE FLARED TUBE ADAPTORS

L _A A
‘_, e 9J
ey Ll w .?43
e y EHIIICHEBLT Ak
= JIC FEMALE 74® SEAT PLUG
s & £r THREAD R ~5F DIMENSIONS
PART NO. E A L 52
9J-04 7/16"%20 ] 10.5 15
9J-05 1/2"%20 9.5 11 17
9J-06 9/16"X18 10.5 11 19
9J)-08 3/4"X16 11 13 24
9J-10 7/8"X14 13 13.5 27
9J-12 1.1/16"X12 15 15 32
5J)-14 1.3/16"X12 15 15 36
9J-16 1.5/16"X12 16 15.5 41
9J-20 1.5/8"%12 17 18.5 50
9J-24 1.7/8"X12 20 19 55
q]-32 2.1/2"%12 23.5 20.5 75
- L -
9J-CAP
JIC 74° AsRariEsk
JIC74° FEMALE PLUG
He #8 2 THREAD F = DIMENSIONS
PART NO. E L 51
9J-04CAP 7/16"X20 15.1 15
9J-05CAP 1/2"X20 15.5 17
9J-06CAP 9/16"X18 15.9 19
9.J-08CAP 3/4"X16 19 24
9J-10CAP 7/8"X%14 21.4 27
9J-12CAP 1.1/16"X12 23 32
9J-16CAP 1.5/16"X12 258 41
9J-20CAP 1.5/8"X12 27 50
9J-24CAP 1.7/8"X12 30.2 60
9J-32CAP 2.1/2"X12 36.5 75

192



	1 锦恒液压 目录_0001
	1 锦恒液压 目录_0002
	1 锦恒液压 目录_0003
	1 锦恒液压 目录_0004
	1 锦恒液压 目录_0005
	1 锦恒液压 目录_0006
	1 锦恒液压 目录_0007
	1 锦恒液压 目录_0008
	1 锦恒液压 目录_0009
	1 锦恒液压 目录_0010
	1 锦恒液压 目录_0011
	2 锦恒液压 软管接头_0001
	2 锦恒液压 软管接头_0002
	2 锦恒液压 软管接头_0003
	2 锦恒液压 软管接头_0004
	2 锦恒液压 软管接头_0005
	2 锦恒液压 软管接头_0006
	2 锦恒液压 软管接头_0007
	2 锦恒液压 软管接头_0008
	2 锦恒液压 软管接头_0009
	2 锦恒液压 软管接头_0010
	2 锦恒液压 软管接头_0011
	2 锦恒液压 软管接头_0012
	2 锦恒液压 软管接头_0013
	2 锦恒液压 软管接头_0014
	2 锦恒液压 软管接头_0015
	2 锦恒液压 软管接头_0016
	2 锦恒液压 软管接头_0017
	2 锦恒液压 软管接头_0018
	2 锦恒液压 软管接头_0019
	2 锦恒液压 软管接头_0020
	2 锦恒液压 软管接头_0021
	2 锦恒液压 软管接头_0022
	2 锦恒液压 软管接头_0023
	2 锦恒液压 软管接头_0024
	2 锦恒液压 软管接头_0025
	2 锦恒液压 软管接头_0026
	2 锦恒液压 软管接头_0027
	2 锦恒液压 软管接头_0028
	3 锦恒液压_0001
	3 锦恒液压_0002
	3 锦恒液压_0003
	3 锦恒液压_0004
	3 锦恒液压_0005
	3 锦恒液压_0006
	3 锦恒液压_0007
	3 锦恒液压_0008
	3 锦恒液压_0009
	3 锦恒液压_0010
	3 锦恒液压_0011
	3 锦恒液压_0012
	3 锦恒液压_0013
	3 锦恒液压_0014
	3 锦恒液压_0015
	3 锦恒液压_0016
	3 锦恒液压_0017
	3 锦恒液压_0018
	3 锦恒液压_0019
	3 锦恒液压_0020
	4 锦恒液压_0001
	4 锦恒液压_0002
	4 锦恒液压_0003
	4 锦恒液压_0004
	4 锦恒液压_0005
	4 锦恒液压_0006
	4 锦恒液压_0007
	4 锦恒液压_0008
	4 锦恒液压_0009
	4 锦恒液压_0010
	4 锦恒液压_0011
	4 锦恒液压_0012
	4 锦恒液压_0013
	4 锦恒液压_0014
	4 锦恒液压_0015
	4 锦恒液压_0016
	4 锦恒液压_0017
	4 锦恒液压_0018
	4 锦恒液压_0019
	4 锦恒液压_0020
	4 锦恒液压_0021
	4 锦恒液压_0022
	4 锦恒液压_0023
	4 锦恒液压_0024
	5 锦恒液压_0001
	5 锦恒液压_0002
	5 锦恒液压_0003
	5 锦恒液压_0004
	5 锦恒液压_0005
	5 锦恒液压_0006
	5 锦恒液压_0007
	5 锦恒液压_0008
	5 锦恒液压_0009
	5 锦恒液压_0010
	5 锦恒液压_0011
	5 锦恒液压_0012
	5 锦恒液压_0013
	5 锦恒液压_0014
	5 锦恒液压_0015
	5 锦恒液压_0016
	5 锦恒液压_0017
	5 锦恒液压_0018
	5 锦恒液压_0019
	6 锦恒液压_0001
	6 锦恒液压_0002
	6 锦恒液压_0003
	6 锦恒液压_0004
	6 锦恒液压_0005
	6 锦恒液压_0006
	6 锦恒液压_0007
	6 锦恒液压_0008
	6 锦恒液压_0009
	6 锦恒液压_0010
	6 锦恒液压_0011
	6 锦恒液压_0012
	6 锦恒液压_0013
	6 锦恒液压_0014
	6 锦恒液压_0015
	7 锦恒液压_0001
	7 锦恒液压_0002
	7 锦恒液压_0003
	7 锦恒液压_0004
	7 锦恒液压_0005
	7 锦恒液压_0006
	7 锦恒液压_0007
	7 锦恒液压_0008
	7 锦恒液压_0009
	7 锦恒液压_0010
	8 锦恒液压_0001
	8 锦恒液压_0002
	8 锦恒液压_0003
	8 锦恒液压_0004
	8 锦恒液压_0005
	8 锦恒液压_0006
	8 锦恒液压_0007
	8 锦恒液压_0008
	8 锦恒液压_0009
	8 锦恒液压_0010
	8 锦恒液压_0011
	8 锦恒液压_0012
	8 锦恒液压_0013
	8 锦恒液压_0014
	8 锦恒液压_0015
	8 锦恒液压_0016
	8 锦恒液压_0017
	8 锦恒液压_0018
	8 锦恒液压_0019
	8 锦恒液压_0020
	8 锦恒液压_0021
	8 锦恒液压_0022
	8 锦恒液压_0023
	8 锦恒液压_0024
	8 锦恒液压_0025
	8 锦恒液压_0026
	8 锦恒液压_0027



